Attachment # 1
Vendor Contract #0000001247, Change Order #3
Contract Term:  2/25/05 through 5/1/07

Zumar Industries

12015 Steele Street So.

Tacoma, WA 98445

Phone:  (253) 426-7967
Fax:      (253) 536-8680

Contact:  Tom Brandes
IMPACT  ATTENTUATORS
The City of Seattle ordering departments shall submit their orders directly to the Zumar for processing.  Orders requested by the City of Seattle shall be processed in accordance with the Terms and Conditions and pricing established by the State of Washington for this Contract that are applicable to the City of Seattle.

	SUPPLIER:
	
	Zumar Industries
	
	

	
	
	
	
	

	ADDRESS:
	
	12015 Steele Street So.
	
	

	
	
	
	
	

	CITY/STATE:

	
	Tacoma, WA
	
	

	
	
	
	
	

	ZIP CODE:
	
	98444
	
	

	
	
	
	
	

	TELEPHONE:
	
	(253) 426-7967
	
	

	
	
	
	
	

	FAX #:
	
	(253) 536-8680
	
	

	
	
	
	
	

	CONTRACTOR

CONTACT:
	
	Tom Brandes
	
	

	
	
	
	
	

	PAYMENT

TERMS
	
	Net 30 Days
	
	

	
	
	
	
	

	LEAD TIME-ARO:
	
	10 Days
	
	

	
	
	
	
	

	F.O.B.:
	
	Destination, 
	
	

	
	
	
	
	

	FREIGHT:
	
	 Prepaid and included
	
	

	
	
	
	
	

	MINIMUM ORDER
	
	None
	
	

	
	
	
	
	

	FED. I.D. NO:

	
	91-0936040
	
	

	
	
	
	
	

	SUPPLIER NO:
	
	W1629
	
	

	
	
	
	
	

	ORDER

ADDRESS
	
	Same As Above
	
	

	
	
	
	
	

	PAYMENT/

ADDRESS:
	
	Same As Above
	
	

	
	
	
	
	

	AWARD CATEGORIES
	
	Attachment “D” Categories:  S & W
	
	


Pricing per Current State of Washington Contract #00805.  

[image: image1.emf]00805c.doc


_1233746474.doc
Current Contract Information


Contract No.  00805


Change Notice No. 1


Attachment "A"


Page 5



State of Washington


Current Contract Information

Change Notice No. 1

Effective:   Febuary 10, 2006

		Contract number:

		00805 

		Commodity code:

		3826



		Contract title:

		IMPACT ATTENUATORS



		Purpose:

		ITEM ADDITION-ITEM E7.1 SAFE-STOP TRAILER MOUNTED & SCI 70 GM



		Term:

		May 2, 2005

		through:

		May 1, 2007



		For use by:

		Department of Transportation and Political Subdivisions






		Contract type:

		This contract is designated as mandatory use.



		Scope of contract

		This contract is awarded to multiple contractors.



		Contractor :

		See Attachment A

		Contact:

		See Attachment A



		Address:

		See Attachment A



		Phone:

		See Attachment A



		FAX:

		See Attachment A



		Fed. I.D. No.:

		See Attachment A



		Supplier No.:

		See Attachment A



		Products available:

		Impact Attentuators



		Ordering information:

		See Page 2



		Ordering procedures:

		See Attachment A





This page contains key contract features.  Find detailed information on succeeding pages.  For more information on this contract, or if you have any questions, please contact your local agency Purchasing Office, or you may contact our office at the numbers listed below.


		Contract Specialist:

		Kenneth A. Woodfork, CPPB

		Assistant:

		Carolyn Nadeau



		Phone Number:

		(360) 902-7422

		Phone Number:

		(360) 902-7429



		Fax Number:

		(360) 586-2426

		Fax Number:

		(360) 586-2426



		Email:

		kwoodfo@ga.wa.gov




		Email:

		cnadeau@ga.wa.gov







Visit our Internet site: http://www.ga.wa.gov/proc.htm

		Payment address:

		See Attachment A



		Order placement address:

		See Attachment A



		Minimum orders:

		See Attachment A



		Delivery time:

		See Attachment A



		Payment terms:

		See Attachment A



		Contract pricing:

		Attachment B CORAL SALES PRICE SHEETS   

Attachment C NATIONAL BARRICADE CO., LLC

Attachment D ZUMAR INDUSTRIESPRICE SHEETS





		Term worth:

		$2,000,000.00 YEARS



		Current participation:

		$0.00 MBE

		$0.00 WBE

		$2,000,000.00 OTHER

		$0.00 EXEMPT



		

		MBE 0%

		WBE 0%

		OTHER 100%

		Exempt 0%





Notes:


I. This contract is subject to RCW 43.19.190(2) & RCW 43.19.1905(7): which authorizes state agencies to purchase materials, supplies, services, and equipment of equal quantity and quality to those on state contract from non-contract suppliers.  Provided that an agency subsequently notifies the Office of State Procurement (OSP) State Procurement Officer (SPO) that the pricing is less costly for such goods or services than the price from the state contractor.


If the non-contract supplier's pricing is less, the state contractor shall be given the opportunity by the state agency to at least meet the non-contractor's price.  If the state contractor cannot meet the price, then the state agency may purchase the item(s) from the non-contract supplier, document the transactions on the appropriate form developed by OSP and forwarded to the SPO administering the state contract. (Reference General Authorities document)


If a lower price can be identified on a repeated basis, the state reserves the right to renegotiate the pricing structure of this agreement.  In the event such negotiations fail, the state reserves the right to delete such item(s) from the contract.


II. State Agencies: Submit Order directly to Contractor for processing.  Political Subdivisions: Submit orders directly to Contractor referencing State of Washington contract number.  If you are unsure of your status in the State Purchasing Cooperative call (360) 902-7415.  


III. Only authorized purchasers included in the State of Washington 
Purchasing Cooperative (WSPC) and State of Oregon Cooperative Purchasing Program (DASCPP/ORCPP) listings published and updated periodically by OSP and DAS may purchase from this contract.  It is the contractor’s responsibility to verify membership of these organizations prior to processing orders received under this contract.  A list of Washington members is available on Fax on Demand (360) 664-2444 or the Internet http://www.ga.wa.gov/pca/cooplist.htm, and a list of the Oregon members is available through the Vendor Information Program (VIP) which you can access through their Internet site under “Contracts and Bids” at http://www.das.state.or.us/pages/purchasing/new/index.html Contractors shall not process state contract orders from unauthorized users.


Special Conditions: 


1. Current Contract Information (CCI)

This Current Contract Information (Change Notice No. 1) adds Category E7.1 SAFE STOP Trailer Mounted Attenuator to the Coral Sales Company and the SCI 70 GM Attenuator to National Barricade Company. All other terms, conditions and pricing remain unchanged.

2. Contract Award

This Current Contract Information (Contract A ward Notice) incorporates and is subject to the Standard Terms and Conditions contained in the original IFB 00805 solicitation to include Special Provisions listed below and hereby awards to contractors listed in Attachment “A” the requirements to furnish Impact Attenuators that are Federally Approved meeting NCHRP 230 or 350 requirements  according to the items their companies have been awarded, and per Section III, Specifications, Attachment “B”- CORAL SALES PRICE SHEETS;  “C” –NATIONAL BARRICADE CO., LLC,  and “D”- ZUMAR INDUSTRIESPRICE SHEETS attached.

The Impact Attenuators bid must be Federally Approved meeting NCHRP 230 or 350 requirements.

3. Certificate of Insurance 

Contractor to furnish to the State Procurement Officer, a copy of a valid Certificate of Insurance listing the State as beneficiary (See Original Bid Document, Section II, Paragraph 1) within Fifteen (15) days after Contractor receipt of award notice.

4. Warranty


Bidder will submit a copy of warranty with items delivered under this contract. Unless otherwise specified, full parts and labor warranty period shall be for a minimum period of one (1) year after receipt of materials or equipment by the Purchaser.  All materials or equipment provided shall be new, unused, of the latest model or design and of recent manufacture.

In the event of conflict between contract terms and conditions and warranty submitted, to afford the state maximum benefits, the contract terms and conditions shall prevail.


5. Sales and Subcontractor Report


A quarterly Sales and Subcontractor Report (attached) shall be submitted in the format provided by the Office of State Procurement.  You can get the report electronically at http://www.ga.wa.gov/pca/usage.doc.  Total purchases for each State Agency, University, Community and Technical Colleges must be shown separately.  Total purchases for all political subdivisions and non-profit organizations may be summarized as one customer.  Additionally, all purchases by the State of Oregon or other purchasers must be reported as an aggregate total.


		COMPANY NAME:

		

		CORAL SALES COMPANY

		

		NATIONAL BARRICADE CO., LLC



		

		

		

		

		



		ADDRESS:

		

		P.O. BOX 22385

		

		6518 RAVENNA AVE NE



		

		

		

		

		



		CITY/STATE:

		

		MILWAUKIE, OREGON

		

		SEATTLE, WA



		

		

		

		

		



		ZIP CODE:

		

		97222

		

		98115



		

		

		

		

		



		TELEPHONE

		

		(503) 655-6351

		

		800 884-4045



		

		

		

		

		206 525-2042



		FAX #:

		

		(503) 657-9649

		

		



		

		

		

		

		



		CONTRACTOR


CONTACT

		

		LAUREN VAN BISHLER

		

		GARTH K. REGUDON



		

		

		

		

		



		PAYMENT TERMS:

		

		NET 30 DAYS

		

		NET 30 DAYS



		

		

		

		

		



		PURCHASING CARD

		

		VISA, MASTERCARD + 2% FEE

		

		VISA, MASTERCARD, AMERICAN EXPRESS



		

		

		

		

		



		WSPC & ORCPP

		

		YES

		

		YES



		

		

		

		

		



		LEAD TIME ARO:

		

		*10 DAYS ARO

		

		10 DAYS ARO



		

		

		

		

		



		F.O.B.:

		

		FOB Destination for orders $2,000 and up. FOB Shippoing Point for orders less than $2,000.00 

		

		DESTINATION



		

		

		

		

		



		FREIGHT:

		

		PREPAID & INCLUDED

		

		PREPAID & INCLUDED



		

		

		

		

		



		MINIMUM ORDER:

		

		$2,000.00, see FOB above. 


		

		
NONE



		

		

		

		

		



		FED. I.D. NO:


		

		93-074-5050

		

		91-2048599



		

		

		

		

		



		SUPPLIER NO:

		

		W232

		

		W631



		

		

		

		

		



		ORDER


ADDRESS:

		

		SAME AS ABOVE

		

		SAME AS ABOVE



		

		

		

		

		



		PAYMENT/


ADDRESS:

		

		SAME AS ABOVE

		

		SAME AS ABOVE



		

		

		

		

		



		AWARD CATEGORIES

		

		Attachment “B Categories:  B, C, D, E-1, E-4, E6, E7, E8, F, G, K, L, M, N, N-1, N2, O, R, AND U.

		

		Attachment “C” Categories:  P, Q, Q1, and V.





*Note: Supplier will furnish equipment and service within ten (10) calendar days after receipt of order for emergency safety orders and 14 calendar days for customer inventory orders.



CONTRACT SUPPLIERS


		COMPANY NAME:

		

		ZUMAR INDUSTRIES

		

		



		

		

		

		

		



		ADDRESS:

		

		12015 Steele Street So.

		

		



		

		

		

		

		



		CITY/STATE:


		

		Tacoma, WA

		

		



		

		

		

		

		



		ZIP CODE:

		

		98444

		

		



		

		

		

		

		



		TELEPHONE:

		

		(800) 426-7967

		

		



		

		

		

		

		



		FAX #:

		

		(253) 536-8680

		

		



		

		

		

		

		



		CONTRACTOR


CONTACT:

		

		Tom Brandes

		

		



		

		

		

		

		



		PAYMENT


TERMS

		

		Net 30 Days

		

		



		

		

		

		

		



		PURCHASING CARD

		

		VISA OR  MASTERCARD

		

		



		

		

		

		

		



		WSPC & ORCPP

		

		YES

		

		



		

		

		

		

		



		LEAD TIME ARO:

		

		10 Days

		

		



		

		

		

		

		



		F.O.B.:

		

		Destination, 

		

		



		

		

		

		

		



		FREIGHT:

		

		 Prepaid and included

		

		



		

		

		

		

		



		MINIMUM ORDER

		

		NONE

		

		



		

		

		

		

		



		FED. I.D. NO:


		

		91-0936040

		

		



		

		

		

		

		



		SUPPLIER NO:

		

		W1629

		

		



		

		

		

		

		



		ORDER


ADDRESS

		

		Same As Above

		

		



		

		

		

		

		



		PAYMENT/


ADDRESS:

		

		Same As Above

		

		



		

		

		

		

		



		AWARD CATEGORIES

		

		Attachment “D” Categories:  S and W 

		

		





CORAL SALES AWARDED CATEGORIES:  B, C, D, E-1, E-4, E6, E7, E8, F, G, K, L, M, N, N-1, N2, O, P, R, AND U.

		How To Use This Section:

Steps required:


Step #1
Using Attachment "B" – Click on the Index pages. This will highlight and activate the entire page. 


Step #2
Find Product System listed on the index page and click on the page number. This will take you to the listed system. ** (You may have to hold down the Control key when clicking on page number.)

Step #3
 Scroll down the page and review the Supplier Price sheet.


** 
NOTE: To return to the index page for the above procedures click on the green arrow located in the left corner on your tool bar.








Coral sales index


9Category B Hex-Foam Sandwich System Parts



17Category C    G-R-E-A-T SYSTEM STANDARD BACKUPS



21Category D 
 SENTRE PART



23Category E1 Alpha 2001 MD COMMON REPLACEMENT PARTS F/60 MPH UNITS (NCHRP 230 rated)



24Category E4 Alpha 100K:COMMON REPLACEMENT PARTS (NCHRP 350 rated)



25Category E6  ALPHA 70K TMA, 45 MPH/70K (Model TMA 7190)



26Category E7 SAFE-STOP 90 TMA, 62 MPH/100K (Model TMA 8290)



27Category E7.1 SAFE-STOP Trailer Mounted Attenuator (SST)



29Category E8 SAFE-STOP 180 TMA, 62 MPH/100K (Model TMA 9181)



30Category F  TREND PARTS



32Category G BRAKEMASTER SYSTEM



34Category K MP-3 ANCHORS



35Category L FASTENERS / HARDWARE



38Category M REACT 350 NARROW --36"



42Category N QUADGUARD SYSTEM w/PLASTIC NOSE, 24", 30", 36", 69", 90", 120"



50Category N1  QUADGUARD  LMC SYSTEMS



52Category N2  QUADGUARD LMC DIAPHRAGM ASSY.'S -- 69"



53Category O QUADGUARD  ELITE 24", 30", 36", 69", 90" SYSTEMS & PARTS



55Category P ENERGITE III--INERTIAL BARRIER SYSTEM



56Category R TRITON CET



57Category U  THE N-E-A-T SYSTEM



58Awarded Categories: P, Q, and V



60Category "P":  Inertial Barriers



60Category "Q":  SC1 100 & 70 GM



61Category "Q":  SC1 70 GM



64Category "V":  Sorpion TMA



65Category "W":   Universal TAU II (See Section 3.3.4 Specifications) 50 KPH



66Category "W1":   Universal TAU II (See Section 3.3.4 Specifications) 60 KPH



67Category "W2":   Universal TAU II (See Section 3.3.4 Specifications) 70 KPH



68Category "W3":   Universal TAU II (See Section 3.3.4 Specifications) 80 KPH



69Category "W4":   Universal TAU II (See Section 3.3.4 Specifications) 90 KPH



70Category "W5":   Universal TAU II (See Section 3.3.4 Specifications) 100 KPH



71Category "W6":   Universal TAU II (See Section 3.3.4 Specifications) 110 KPH






		Category B Hex-Foam Sandwich System Parts



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		FRONT ANCHOR ASSEMBLIES

		



		

		3930010-0000

		Anchor Assembly, Cable (1)

		$630.00



		

		3930020-0000

		Anchor Assembly, Cable, Embedded

		$630.00



		

		3930030-0000

		Anchor Assy, Cable, w/L Bolts

		$1,170.00



		

		

		BELT Noses

		



		

		3920013- 0000

		Nose Assembly, HFSS 111, 204 w/ support legs-Gray

		$1,630.00



		

		3920013- 0100

		Nose Assembly, HFSS 111, 204 w/ support legs-Yellow

		$1,630.00



		

		3920014- 0000

		Nose Assembly, HFSS 209 w/support legs -Gray

		$1,630.00



		

		3920014- 0100

		Nose Assembly, HFSS 209 w/support legs -Yellow

		$1,630.00



		

		2714951-0000

		Support Leg, Nose

		$41.10



		

		

		CABLES

		



		

		350602*- **

		Cable Assembly, Restraining  (need to order 2)

		$1,080.00



		

		2742021- **

		Cable, Pull-Out  (need to order 2)

		$400.00



		

		3506010-0000

		Cable Assembly, Secondary

		$154.00



		

		2742201-0000

		Restraining Cable Pin (provided @ N/C when ordering 350602*----)

		$44.00



		

		

		(Pin must be ordered when ordering cables only, 1 pin at No Charge per cable)

		



		

		2702011-0000

		Pin, Cotter, 1/4" x 2", Electroplated

		$0.50



		

		2714591-0000

		Turnbuckle, Jaw-to-Jaw, 3/8" x 6"

		$58.00



		

		

		

		



		

		NOTE:

		*For CONCRETE BACKUP insert "C"; for STEEL Backup insert "S", to part number when ordering restraining cable

		



		

		

		**To complete part number, insert number of bays required.

		



		

		

		Ex: 350602C-0400 Cable Assy, Restraining, Conc. B/U, 4-Bay:

		



		

		

		        2742021-1200  Cable, Pull-Out,  12-Bay

		



		

		

		

		



		

		

		CARTRIDGES

		



		

		3509801-0000 

		Cartridge, HFSS, Type 80

		$550.00



		

		3509811-0000

		Cartridge, HFSS, Type 81

		$550.00



		

		3509821-0000

		Cartridge, HFSS, Type 82

		$800.00



		

		

		

		



		

		

		FENDER PANELS

		



		

		2738065- 0000

		Gray Panel FG, Fender, Pre-Assy,L,Front (w/ holes )

		$990.00



		

		2738065- 0100

		Yellow Panel FG, Fender, Pre-Assy,L,Front (w/ holes )

		$990.00



		

		2738066- 0000

		Gray Panel FG, Fender, Pre-Assy,R,Front(w/ holes)

		$990.00



		

		2738066- 0100

		Yellow Panel FG, Fender, Pre-Assy,R,Front(w/ holes)

		$990.00



		

		2738067- 0000

		Gray Panel, FG,Fender, Pre-Assy, Left

		$990.00



		

		2738067- 0100

		Yellow Panel, FG,Fender, Pre-Assy, Left

		$990.00



		

		2738068- 0000

		Gray Panel, FG,Fender, Pre-Assy, Right

		$990.00



		

		2738068- 0100

		YellowPanel, FG,Fender, Pre-Assy, Right

		$990.00



		

		2710371-0000

		Fender, Panel Stabilizer, Left

		$165.00



		

		2710372-0000

		Fender, Panel Stabilizer, Right

		$165.00





		 

		  HEX-FOAM SANDWICH SYSTEM PARTS--(continued)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		HINGES

		



		

		2739261-0000

		Hinge, Fender Panel

		$41.10



		

		2700621-0000

		Hinge Pin 3/8" x 6-1/2"

		$1.30



		

		

		

		



		

		

		SUPPORT BRACKETS AND LEGS

		



		

		2714951-0000

		Support Leg, Nose

		$41.10



		

		2714901-0000

		Bracket, Cartridge Support

		$41.10



		

		

		Narrow, Backup

		



		

		2714571-0000

		Bracket, Cartridge Support

		$70.00



		

		

		Medium, Backup

		



		

		2714581-0000

		Bracket, Cartridge Support

		$152.00



		

		

		Wide, Backup

		



		

		

		

		



		

		

		 CELLS

		



		

		2020521-0000

		Tube, Vinyl, 35-1/2", Backup Side,Black

		$143.00



		

		2020523-0000

		Tube, Vinyl, 35-1/2", Backup Side,Yellow

		$143.00



		

		

		

		



		

		

		DIAPHRAGM COMPONENTS

		



		

		2710011-0000

		End Frame, 12"

		$230.00



		

		2710031-0000

		End Frame, 16"

		$240.00



		

		2710041-0000

		End Frame, 24"

		$320.00



		

		2710051-0000

		End Frame, 36"

		$340.00



		

		2710071-0000

		Grommet, Cable, Wear Plate

		$46.20



		

		2710121-0000

		Bracket, Cartridge Support,Upper,5"

		$13.80



		

		2710151-0000

		Bracket, Cartridge Support,Upper,10"

		$15.00



		

		2710131-0000

		Bracket, Cartridge Support,Lower Left,5"

		$27.40



		

		2710161-0000

		Bracket, Cartridge Support,Lower Left,10"

		$31.20



		

		2710141-0000

		Bracket, Cartridge Support,Lower, Right,5"

		$27.40



		

		2710171-0000

		Bracket, Cartridge Support,Lower Right,10"

		$35.00



		

		2710241-0000

		Bracket, Cartridge Support,Lower Left,1st  &2nd Diap.

		$35.00



		

		2710251-0000

		Bracket, Cartridge Support,Lower Right, 1st & 2nd Diap.

		$35.00



		

		2710091-0000

		Panel, Thrie Beam, CENTER, 17"

		$110.00



		

		2710101-0000

		Panel, Thrie Beam, CENTER, 26"

		$143.00



		

		2710111-0000

		Panel, Thrie Beam, CENTER, 36"

		$200.00



		

		2710231-0000

		Panel, Thrie Beam, CENTER, 48"

		$260.00



		

		2710201-0000

		Cable Guide, Adjustable

		$27.90



		

		2710181-0000

		Plate, Backing

		$8.80



		

		2710191-0000

		Tube Spacer, Bracket

		$16.00



		

		2701741-0000

		Clamp, Wire Rope, 3/8"

		$10.00



		

		2710061-0000

		*Tube Spacer, Uni-Strut, 11"

		$27.40



		

		2710062-0000

		*Tube Spacer, Uni-Strut, 16"

		$41.10



		

		2710063-0000

		*Tube Spacer, Uni-Strut, 21"

		$41.10



		

		2710064-0000

		*Tube Spacer, Uni-Strut, 26"

		$56.00



		

		2710065-0000

		*Tube Spacer, Uni-Strut, 31"

		$70.00



		

		2710066-0000

		*Tube Spacer, Uni-Strut, 36"

		$84.00





		 

		HEX-FOAM SANDWICH SYSTEM DIAPHRAGMS



		

		

		MODEL #: 111311H4S -- HFSS, 4-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF 26",Bay #1

		$810.00



		

		39004N2-0000

		Diaphragm Assy, HF,33",Bay #2

		$840.00



		

		39004N3-0000

		Diaphragm Assy, HF,39",Bay #3

		$920.00



		

		39004N4-0000

		Diaphragm Assy, HF,47",Bay #4

		$950.00



		

		

		

		



		

		

		MODEL #: 209509H4S -- HFSS, 4-BAY MEDIUM

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39004M2-0000

		Diaphragm Assy, HF,45",Bay #2

		$950.00



		

		39004M3-0000

		Diaphragm Assy, HF,57",Bay #3

		$1,090.00



		

		39004M4-0000

		Diaphragm Assy, HF,69",Bay #4

		$1,220.00



		

		

		

		



		

		

		MODEL #: 209800H4S -- HFSS, 4-BAY WIDE

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39004W2-0000

		Diaphragm Assy, HF,52",Bay #2

		$1,030.00



		

		39004W3-0000

		Diaphragm Assy, HF,75",Bay #3

		$1,200.00



		

		39004W4-0000

		Diaphragm Assy, HF,95 1/2",Bay #4

		$1,380.00



		

		

		MODEL #: 111307H5S -- HFSS, 5-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF,26",Bay #1

		$810.00



		

		39005N2-0000

		Diaphragm Assy, HF,28",Bay #2

		$830.00



		

		39005N3-0000

		Diaphragm Assy, HF,33",Bay #3

		$920.00



		

		39005N4-0000

		Diaphragm Assy, HF,39",Bay #4

		$950.00



		

		39005N5-0000

		Diaphragm Assy, HF,43",Bay #5

		$950.00



		

		

		

		



		

		

		MODEL #: 209509H5S -- HFSS, 5-BAY MEDIUM

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39005M2-0000

		Diaphragm Assy, HF,42",Bay #2

		$910.00



		

		39005M3-0000

		Diaphragm Assy, HF,51",Bay #3

		$1,090.00



		

		39005M4-0000

		Diaphragm Assy, HF,60",Bay #4

		$1,130.00



		

		39005M5-0000

		Diaphragm Assy, HF,69",Bay #5

		$1,220.00



		

		

		

		



		

		

		MODEL #: 209711H5S -- HFSS, 5-BAY WIDE

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39005W2-0000

		Diaphragm Assy, HF,48",Bay #2

		$970.00



		

		39005W3-0000

		Diaphragm Assy, HF,63",Bay #3

		$1,200.00



		

		39005W4-0000

		Diaphragm Assy, HF,79",Bay #4

		$1,400.00



		

		39005W5-0000

		Diaphragm Assy, HF,94 1/2",Bay #5

		$1,400.00



		

		

		

		



		 

		HEX-FOAM SANDWICH SYSTEM DIAPHRAGMS



		

		

		

		



		

		

		MODEL #: 111307H6S -- HFSS, 6-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF,26",Bay #1

		$810.00



		

		39006N2-0000

		Diaphragm Assy, HF,27",Bay #2

		$810.00



		

		39006N3-0000

		Diaphragm Assy, HF,32",Bay #3

		$920.00



		

		39006N4-0000

		Diaphragm Assy, HF,35",Bay #4

		$920.00



		

		39006N5-0000

		Diaphragm Assy, HF,39",Bay #5

		$950.00



		

		39006N6-0000

		Diaphragm Assy, HF,43",Bay #6

		$950.00





		

		

		MODEL #: 209508H6S -- HFSS, 6-BAY MEDIUM

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39006M2-0000

		Diaphragm Assy, HF,40",Bay #2"

		$910.00



		

		39006M3-0000

		Diaphragm Assy, HF,47",Bay #3

		$950.00



		

		39006M4-0000

		Diaphragm Assy, HF,54",Bay #4

		$1,090.00



		

		39006M5-0000

		Diaphragm Assy, HF,61",Bay #5

		$1,130.00



		

		39006M6-0000

		Diaphragm Assy, HF,68",Bay #6

		$1,190.00



		

		

		

		



		

		

		MODEL #: 209711H6S -- HFSS, 6-BAY WIDE

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39006W2-0000

		Diaphragm Assy, HF,46",Bay #2

		$970.00



		

		39006W3-0000

		Diaphragm Assy, HF,58",Bay #3

		$1,060.00



		

		39006W4-0000

		Diaphragm Assy, HF,70 1/2",Bay #4

		$1,210.00



		

		39006W5-0000

		Diaphragm Assy, HF,83",Bay #5

		$1,420.00



		

		39006W6-0000

		Diaphragm Assy, HF,95-1/2",Bay #6

		$1,460.00



		

		

		

		



		

		

		MODEL #: 111307H7S -- HFSS, 7-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF,26",Bay #1

		$810.00



		

		39007N2-0000

		Diaphragm Assy, HF,29",Bay #2"

		$830.00



		

		39007N3-0000

		Diaphragm Assy, HF,32",Bay #3

		$920.00



		

		39007N4-0000

		Diaphragm Assy, HF,33 1/2",Bay #4

		$940.00



		

		39007N5-0000

		Diaphragm Assy, HF,37",Bay #5

		$960.00



		

		39007N6-0000

		Diaphragm Assy, HF,40 1/2",Bay #6

		$970.00



		

		39007N7-0000

		Diaphragm Assy, HF,44",Bay #7

		$1,000.00



		

		

		

		



		

		

		MODEL #: 209508H7S -- HFSS, 7-BAY MEDIUM

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39007M2-0000

		Diaphragm Assy, HF,40",Bay #2"

		$880.00



		

		39007M3-0000

		Diaphragm Assy, HF,45",Bay #3

		$950.00



		

		39007M4-0000

		Diaphragm Assy, HF,51",Bay #4

		$990.00



		

		39007M5-0000

		Diaphragm Assy, HF,57",Bay #5

		$1,110.00



		

		39007M6-0000

		Diaphragm Assy, HF,63",Bay #6

		$1,190.00



		

		39007M7-0000

		Diaphragm Assy, HF,69",Bay #7

		$1,290.00



		

		

		

		



		 

		HEX-FOAM SANDWICH SYSTEM DIAPHRAGMS



		

		

		MODEL #: 209711H7S -- HFSS, 7-BAY WIDE

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39007W2-0000

		Diaphragm Assy, HF,43",Bay #2

		$910.00



		

		39007W3-0000

		Diaphragm Assy, HF,53",Bay #3

		$1,060.00



		

		39007W4-0000

		Diaphragm Assy, HF,63",Bay #4

		$1,100.00



		

		39007W5-0000

		Diaphragm Assy, HF,74",Bay #5

		$1,220.00



		

		39007W6-0000

		Diaphragm Assy, HF,86",Bay #6

		$1,320.00



		

		39007W7-0000

		Diaphragm Assy, HF,96",Bay #7

		$1,470.00



		

		

		

		



		

		

		MODEL #: 111311H8S -- HFSS, 8-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF,26",Bay #1

		$810.00



		

		39008N2-0000

		Diaphragm Assy, HF,27"Bay #2

		$850.00



		

		39008N3-0000

		Diaphragm Assy, HF,32",Bay #3

		$890.00



		

		39008N4-0000

		Diaphragm Assy, HF,33",Bay #4

		$920.00



		

		39008N5-0000

		Diaphragm Assy, HF,36 1/2",Bay #5

		$940.00





		

		39008N6-0000

		Diaphragm Assy, HF,40",Bay #6"

		$960.00



		

		39008N7-0000

		Diaphragm Assy, HF,43 1/2",Bay #7

		$970.00



		

		39008N8-0000

		Diaphragm Assy, HF,47",Bay #8

		$1,000.00



		

		

		

		



		

		

		MODEL #: 209508H8S -- HFSS,8-BAY MEDIUM

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39008M2-0000

		Diaphragm Assy, HF,38",Bay #2

		$880.00



		

		39008M3-0000

		Diaphragm Assy, HF,43",Bay #3

		$950.00



		

		39008M4-0000

		Diaphragm Assy, HF,48",Bay #4

		$970.00



		

		39008M5-0000

		Diaphragm Assy, HF,53",Bay #5

		$1,100.00



		

		39008M6-0000

		Diaphragm Assy, HF,58",Bay #6

		$1,180.00



		

		39008M7-0000

		Diaphragm Assy, HF,63",Bay #7

		$1,190.00



		

		39008M8-0000

		Diaphragm Assy, HF,68",Bay #8

		$1,290.00



		

		

		

		



		

		

		MODEL #: 2097800H8S -- HFSS, 8-BAY WIDE

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39008W2-0000

		Diaphragm Assy, HF,42",Bay #2

		$910.00



		

		39008W3-0000

		Diaphragm Assy, HF,51",Bay #3

		$950.00



		

		39008W4-0000

		Diaphragm Assy, HF,60",Bay #4

		$1,060.00



		

		39008W5-0000

		Diaphragm Assy, HF,69",Bay #5

		$1,210.00



		

		39008W6-0000

		Diaphragm Assy, HF,78",Bay #6

		$1,310.00



		

		39008W7-0000

		Diaphragm Assy, HF,87",Bay #7

		$1,350.00



		

		39008W8-0000

		Diaphragm Assy, HF,96",Bay #8

		$1,460.00



		

		

		

		



		 

		HEX-FOAM SANDWICH SYSTEM DIAPHRAGMS



		

		

		MODEL #: 111309H9S -- HFSS, 9-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF,26",Bay #1

		$810.00



		

		39009N2-0000

		Diaphragm Assy, HF,26",Bay #2

		$830.00



		

		39009N3-0000

		Diaphragm Assy, HF,32",Bay #3

		$850.00



		

		39009N4-0000

		Diaphragm Assy, HF,32",Bay #4

		$890.00



		

		39009N5-0000

		Diaphragm Assy, HF,34",Bay #5

		$920.00



		

		39009N6-0000

		Diaphragm Assy, HF,37",Bay #6

		$940.00



		

		39009N7-0000

		Diaphragm Assy, HF,39 1/2",Bay #7

		$960.00



		

		39009N8-0000

		Diaphragm Assy, HF,42",Bay #8

		$970.00



		

		39009N9-0000

		Diaphragm Assy, HF,45",Bay #9

		$1,000.00



		

		

		

		



		

		

		MODEL #: 209509H9S -- HFSS, 9-BAY MEDIUM

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39009M2-0000

		Diaphragm Assy, HF,38",Bay #2

		$880.00



		

		39009M3-0000

		Diaphragm Assy, HF,42",Bay #3

		$950.00



		

		39009M4-0000

		Diaphragm Assy, HF,46 1/2",Bay #4

		$950.00



		

		39009M5-0000

		Diaphragm Assy, HF,51",Bay #5

		$990.00



		

		39009M6-0000

		Diaphragm Assy, HF,55 1/2,Bay #6

		$1,100.00



		

		39009M7-0000

		Diaphragm Assy, HF,60",Bay #7

		$1,170.00



		

		39009M8-0000

		Diaphragm Assy, HF,64 1/2",Bay #8

		$1,210.00



		

		39009M9-0000

		Diaphragm Assy, HF,69",Bay # 9

		$1,290.00



		

		

		

		



		

		

		MODEL #: 209711H9S -- HFSS, 9-BAY WIDE

		



		

		390001W-0000

		Diaphragm Assy, HF,33",Bay #1

		$840.00



		

		39009W2-0000

		Diaphragm Assy, HF,41",Bay #2

		$910.00





		

		39009W3-0000

		Diaphragm Assy, HF,48 1/2",Bay # 3

		$950.00



		

		39009W4-0000

		Diaphragm Assy, HF,56 1/2",Bay # 4

		$1,060.00



		

		39009W5-0000

		Diaphragm Assy, HF,64",Bay #5 

		$1,100.00



		

		39009W6-0000

		Diaphragm Assy, HF,72",Bay # 6

		$1,210.00



		

		39009W7-0000

		Diaphragm Assy, HF,79 1/2",Bay #7

		$1,290.00



		

		39009W8-0000

		Diaphragm Assy, HF,87",Bay # 8

		$1,320.00



		

		39009W9-0000

		Diaphragm Assy, HF,95",Bay # 9

		$1,470.00



		

		

		

		



		 

		HEX-FOAM SANDWICH SYSTEM DIAPHRAGMS



		

		

		

		



		

		

		MODEL #: 111400H10S -- HFSS, 10-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF,26",Bay #1

		$810.00



		

		390010N2-0000

		Diaphragm Assy, HF,26",Bay #2

		$850.00



		

		390010N3-0000

		Diaphragm Assy, HF,32",Bay #3

		$920.00



		

		390010N4-0000

		Diaphragm Assy, HF,32",Bay #4

		$940.00



		

		390010N5-0000

		Diaphragm Assy, HF,34",Bay #5

		$960.00



		

		390010N6-0000

		Diaphragm Assy, HF,37",Bay #6

		$970.00



		

		390010N7-0000

		Diaphragm Assy, HF,39 1/2",Bay #7

		$1,000.00



		

		390010N8-0000

		Diaphragm Assy, HF,42",Bay #8

		$1,010.00



		

		390010N9-0000

		Diaphragm Assy, HF,45",Bay #9

		$1,050.00



		

		390010N10-0000

		Diaphragm Assy, HF,48",Bay #10

		$1,060.00



		

		

		

		



		

		

		MODEL #: 204507H10S -- HFSS, 10-BAY MEDIUM

		



		

		390001M-0000

		Diaphragm Assy, HF,28",Bay #1

		$810.00



		

		390010M2-0000

		Diaphragm Assy, HF,32",Bay #2

		$840.00



		

		390010M3-0000

		Diaphragm Assy, HF,37 1/2", Bay #3

		$880.00



		

		390010M4-0000

		Diaphragm Assy, HF,41 1/2",Bay #4

		$890.00



		

		390010M5-0000

		Diaphragm Assy, HF,46",Bay #5

		$950.00



		

		390010M6-0000

		Diaphragm Assy, HF,50",Bay #6

		$990.00



		

		390010M7-0000

		Diaphragm Assy, HF,54 1/2",Bay #7

		$1,100.00



		

		390010M8-0000

		Diaphragm Assy, HF,58 1/2",Bay #8

		$1,180.00



		

		390010M9-0000

		Diaphragm Assy, HF,63",Bay #9

		$1,230.00



		

		390010M10-0000

		Diaphragm Assy, HF,67 1/2",Bay #10

		$1,290.00



		

		

		

		



		

		

		MODEL #: 204711H10S -- HFSS, 10-BAY WIDE

		



		

		390001M-0000

		Diaphragm Assy, HF,28",Bay #1

		$810.00



		

		390010W2-0000

		Diaphragm Assy, HF,35",Bay #2

		$880.00



		

		390010W3-0000

		Diaphragm Assy, HF,43",Bay #3

		$950.00



		

		390010W4-0000

		Diaphragm Assy, HF,49",Bay #4

		$970.00



		

		390010W5-0000

		Diaphragm Assy, HF,56 1/2",Bay #5

		$1,060.00



		

		390010W6-0000

		Diaphragm Assy, HF,64",Bay #6

		$1,100.00



		

		390010W7-0000

		Diaphragm Assy, HF,71 1/2",Bay #7

		$1,210.00



		

		390010W8-0000

		Diaphragm Assy, HF,78 1/2",Bay #8

		$1,310.00



		

		390010W9-0000

		Diaphragm Assy, HF,88",Bay #9

		$1,360.00



		

		390010W10-0000

		Diaphragm Assy, HF,95 1/2",Bay #10

		$1,470.00



		

		

		

		





		 

		HEX-FOAM SANDWICH SYSTEM DIAPHRAGMS



		

		

		

		



		

		

		MODEL #: 111400H11S -- HFSS, 11-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF,26",Bay #1

		$810.00



		

		390011N2-0000

		Diaphragm Assy, HF,26",Bay #2

		$850.00



		

		390011N3-0000

		Diaphragm Assy, HF,29",Bay #3

		$860.00



		

		390011N4-0000

		Diaphragm Assy, HF,32",Bay #4

		$890.00



		

		390011N5-0000

		Diaphragm Assy, HF,32",Bay #5

		$920.00



		

		390011N6-0000

		Diaphragm Assy, HF,34 1/2",Bay #6

		$940.00



		

		390011N7-0000

		Diaphragm Assy, HF,38",Bay #7

		$960.00



		

		390011N8-0000

		Diaphragm Assy, HF,40 1/2",Bay #8

		$970.00



		

		390011N9-0000

		Diaphragm Assy, HF,43",Bay #9

		$1,000.00



		

		390011N10-0000

		Diaphragm Assy, HF,45 1/2",Bay #10

		$1,010.00



		

		390011N11-0000

		Diaphragm Assy, HF,48",Bay #11

		$1,050.00



		

		

		

		



		

		

		MODEL #: 204508H11S -- HFSS, 11-BAY MEDIUM

		



		

		390001M-0000

		Diaphragm Assy, HF,28",Bay #1

		$810.00



		

		390011M2-0000

		Diaphragm Assy, HF,32",Bay #2

		$840.00



		

		390011M3-0000

		Diaphragm Assy, HF,36",Bay #3

		$920.00



		

		390011M4-0000

		Diaphragm Assy, HF,40",Bay #4

		$950.00



		

		390011M5-0000

		Diaphragm Assy, HF,44",Bay #5

		$950.00



		

		390011M6-0000

		Diaphragm Assy, HF,48",Bay #6

		$990.00



		

		390011M7-0000

		Diaphragm Assy, HF,52",Bay #7

		$1,080.00



		

		390011M8-0000

		Diaphragm Assy, HF,54",Bay #8

		$1,130.00



		

		390011M9-0000

		Diaphragm Assy, HF,60",Bay #9

		$1,180.00



		

		390011M10-0000

		Diaphragm Assy, HF,64",Bay #10

		$1,230.00



		

		390011M11-0000

		Diaphragm Assy, HF,68",Bay #11

		$1,240.00



		

		

		

		



		

		

		MODEL #: 204711H11S -- HFSS, 11-BAY WIDE

		



		

		390001W-0000

		Diaphragm Assy, HF,28",Bay #1

		$840.00



		

		390011W2-0000

		Diaphragm Assy, HF,35,Bay #2

		$880.00



		

		390011W3-0000

		Diaphragm Assy, HF,41 1/2",Bay #3

		$950.00



		

		390011W4-0000

		Diaphragm Assy, HF,48 1/2",Bay #4

		$1,010.00



		

		390011W5-0000

		Diaphragm Assy, HF,55",Bay #5

		$1,060.00



		

		390011W6-0000

		Diaphragm Assy, HF,62",Bay #6

		$1,100.00



		

		390011W7-0000

		Diaphragm Assy, HF,68 1/2",Bay #7

		$1,210.00



		

		390011W8-0000

		Diaphragm Assy, HF,75 1/2",Bay #8

		$1,320.00



		

		390011W9-0000

		Diaphragm Assy, HF,82",Bay #9

		$1,350.00



		

		390011W10-0000

		Diaphragm Assy, HF,89",Bay #10

		$1,460.00



		

		390011W11-0000

		Diaphragm Assy, HF,95 1/2",Bay #11

		$1,470.00



		

		

		

		





		 

		HEX-FOAM SANDWICH SYSTEM DIAPHRAGMS



		

		

		MODEL #: 111400H12S -- HFSS, 12-BAY NARROW

		



		

		390001N-0000

		Diaphragm Assy, HF,26",Bay #1

		$810.00



		

		390012N2-0000

		Diaphragm Assy, HF,26",Bay #2

		$830.00



		

		390012N3-0000

		Diaphragm Assy, HF,32",Bay #3

		$850.00



		

		390012N4-0000

		Diaphragm Assy, HF,32",Bay #4

		$860.00



		

		390012N5-0000

		Diaphragm Assy, HF,32",Bay #5

		$890.00



		

		390012N6-0000

		Diaphragm Assy, HF,34 1/2",Bay #6

		$920.00



		

		390012N7-0000

		Diaphragm Assy, HF,36 1/2",Bay #7

		$940.00



		

		390012N8-0000

		Diaphragm Assy, HF,39",Bay #8

		$960.00



		

		390012N9-0000

		Diaphragm Assy, HF,41",Bay #9

		$970.00



		

		390012N10-0000

		Diaphragm Assy, HF,43 1/2",Bay #10

		$1,000.00



		

		390012N11-0000

		Diaphragm Assy, HF,45 1/2",Bay #11

		$1,010.00



		

		390012N12-0000

		Diaphragm Assy, HF,48", Bay #12

		$1,050.00



		

		

		

		



		

		

		MODEL # 204508H12S -- HFSS, 12-BAY MEDIUM

		



		

		390001M-0000

		Diaphragm Assy, HF,28",Bay #1

		$810.00



		

		390012M2-0000

		Diaphragm Assy, HF,32",Bay #2

		$910.00



		

		390012M3-0000

		Diaphragm Assy, HF,35 1/2",Bay #3

		$920.00



		

		390012M4-0000

		Diaphragm Assy, HF,39",Bay #4

		$950.00



		

		390012M5-0000

		Diaphragm Assy, HF,42 1/2",Bay #5

		$970.00



		

		390012M6-0000

		Diaphragm Assy, HF,46",Bay #6

		$990.00



		

		390012M7-0000

		Diaphragm Assy, HF,50",Bay #7

		$1,060.00



		

		390012M8-0000

		Diaphragm Assy, HF,53 1/2",Bay #8

		$1,100.00



		

		390012M9-0000

		Diaphragm Assy, HF,57",Bay #9

		$1,170.00



		

		390012M10-0000

		Diaphragm Assy, HF,60 1/2",Bay #10

		$1,180.00



		

		390012M11-0000

		Diaphragm Assy, HF,64 1/2",Bay #11

		$1,200.00



		

		390012M12-0000

		Diaphragm Assy, HF,67 1/2",Bay #12

		$1,290.00



		

		

		MODEL #: 204710H12S -- HFSS, 12-BAY WIDE

		



		

		390001M-0000

		Diaphragm Assy, HF,28",Bay #1

		$810.00



		

		390012W2-0000

		Diaphragm Assy, HF,36",Bay #2

		$910.00



		

		390012W3-0000

		Diaphragm Assy, HF,40",Bay #3"

		$940.00



		

		390012W4-0000

		Diaphragm Assy, HF,46",Bay #4

		$950.00



		

		390012W5-0000

		Diaphragm Assy, HF,52",Bay #5

		$1,060.00



		

		390012W6-0000

		Diaphragm Assy, HF,58",Bay #6

		$1,100.00



		

		390012W7-0000

		Diaphragm Assy, HF,64",Bay #7

		$1,180.00



		

		390012W8-0000

		Diaphragm Assy, HF,70",Bay #8

		$1,230.00



		

		390012W9-0000

		Diaphragm Assy, HF,76",Bay #9

		$1,310.00



		

		390012W10-0000

		Diaphragm Assy, HF,82",Bay #10

		$1,330.00



		

		390012W11-0000

		Diaphragm Assy, HF,88",Bay #11

		$1,360.00



		

		390012W12-0000

		Diaphragm Assy, HF,94",Bay #12

		$1,470.00





		

		Category C    G-R-E-A-T SYSTEM STANDARD BACKUPS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		384101**-0000

		Backup Assembly, Tension Strut

		$3,180.00



		

		NOTE**

		To complete the part number insert number of bays and width of unit --

		



		

		

		(N)arrow, (M)edium, (W)ide.

		



		

		

		EX: 3841013W-0000 G-R-E-A-T 3-Bay Wide

		



		

		

		All units with T/S Backup must have EITHER 2 side panels OR transition panel with side panel on the opposite side.

		



		

		     (A)

		Backup Assembly, New Jersey Attached, One-Way Traffic on New Jersey Barrier, CENTERED

		



		

		

		

		



		

		3821121-0000

		2'0" Wide-Barrier Width at top 6"

		$2,675.00



		

		3821031-0000

		2'0" Wide-Barrier Width at top 6-16"

		$2,675.00



		

		3821123-0000

		2'0" Wide-Barrier Width at top 16-18"

		$2,675.00



		

		3821012-0000

		2'6" Wide-Barrier Width at top 6-12"

		$2,890.00



		

		3821032-0000

		2'6" Wide-Barrier Width at top 12-22"

		$2,890.00



		

		3821013-0000

		3'0" Wide-Barrier Width at top 12-18"

		$3,180.00



		

		3821033-0000

		3'0" Wide-Barrier Width at top 18-28"

		$3,180.00



		

		

		

		



		

		     (B)

		Backup Assembly, New Jersey Attached, Two-Way Traffic,

		



		

		

		LEFT SIDE includes 4" Offset Transition Panel

		



		

		

		

		



		

		3821021-0000

		2'0" Wide-Barrier Width at top 6-10"

		$3,720.00



		

		3821051-0000

		2'0" Wide-Barrier Width at top 10-16"

		$3,720.00



		

		3821022-0000

		2'6" Wide-Barrier Width at top 6-10"

		$3,860.00



		

		3821052-0000

		2'6" Wide-Barrier Width at top 10-17"

		$3,860.00



		

		3821102-0000

		2'6" Wide-Barrier Width at top 16-22"

		$3,860.00



		

		3821053-0000

		3'0" Wide-Barrier Width at top 10-15"

		$4,000.00



		

		3821113-0000

		3'0" Wide-Barrier Width at top 17-23"

		$4,000.00



		

		3821103-0000

		3'0" Wide-Barrier Width at top 22-28"

		$4,000.00



		

		

		

		



		

		     (C)

		Backup Assembly, New Jersey Attached, Two-Way Traffic,

		



		

		

		RIGHT SIDE includes 4" Offset Transition Panel

		



		

		

		

		



		

		3821041-0000

		2'0" Wide-Barrier Width at top 6-10"

		$3,720.00



		

		3821042-0000

		2'6" Wide-Barrier Width at top 6-10"

		$3,860.00



		

		3821132-0000

		2'6" Wide-Barrier Width at top 10-17"

		$3,860.00



		

		3821133-0000

		3'0" Wide-Barrier Width at top 17-23"

		$4,000.00



		

		

		

		



		

		    NOTE:****

		NEW JERSEY BARRIERS

		



		

		

		When ordering a back-up for N.J. barriers please specify the barrier width at 32" high along with the width at the bottom of the barrier as well for a correct application.

		





		 

		        G-R-E-A-T SYSTEM STANDARD BACKUPS--(continued)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		 Wide Flange

		



		

		

		Backup Assembly,

		



		

		3831011-0000

		2'0" Wide

		$2,675.00



		

		3831012-0000

		2'6" Wide

		$2,890.00



		

		3831013-0000

		3'0" Wide

		$3,180.00



		

		

		

		



		

		

		Backup Assembly, One-Way Traffic

		



		

		

		Concrete

		



		

		3801010-0000

		2'0" Wide

		$1,100.00



		

		

		2'6" Wide

		$1,230.00



		

		

		3'0" Wide

		$1,390.00



		

		

		

		



		 

		               G-R-E-A-T SYSTEM PARTS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3509510-0000

		Cartridge, Hex-Foam II, Type 51

		$690.00



		

		3519061-0000

		Diaphragm Assy, Thrie Beam, 24"

		$990.00



		

		3519062-0000

		Diaphragm Assy, Thrie Beam, 30"

		$1,070.00



		

		3519063-0000

		Diaphragm Assy, Thrie Beam, 36"

		$1,160.00



		

		3502080-0000

		Nose Assembly, G-R-E-A-T,

		$590.00



		

		3502080-0100

		Nose Assembly, G-R-E-A-T,

		$590.00



		

		2714890-0000

		Nose Support Leg Assembly

		$46.20



		

		2020811-0000

		Nose Wrap (Cover Only),

		$565.00



		

		2020811-0100

		Nose Wrap (Cover Only),

		$565.00



		

		275207LR-0000

		Deflector Assy, Thrie Beam,for units w/Concrete Backup

		$350.00



		

		2752111-0000

		Panel, Side for units w/Steel Backup

		$104.00



		

		2752121-0000

		Panel, Side for units w/Concrete Backup

		$104.00



		

		2738111-0000

		Panel, Thrie Beam, Fender

		$660.00



		

		2752431-0000

		End Shoe, Thrie Beam

		$75.00



		

		

		

		



		

		

		Cable Anchor Assembly & Restraining Cable

		



		

		3506090-0400

		4-Bay G-R-E-A-T

		$1,690.00



		

		3506090-0500

		5-Bay G-R-E-A-T

		$1,770.00



		

		3506090-0600

		6-Bay G-R-E-A-T

		$1,820.00



		

		3506090-0700

		7-Bay G-R-E-A-T

		$1,900.00



		

		3506090-0800

		 8-Bay G-R-E-A-T

		$1,950.00



		

		3506090-0900

		 9-Bay G-R-E-A-T

		$2,070.00



		

		3506090-1000

		10-Bay G-R-E-A-T

		$2,120.00



		

		3506090-1100

		11-Bay G-R-E-A-T

		$2,150.00



		

		3506090-1200

		12-Bay G-R-E-A-T

		$2,200.00





		 

		             G-R-E-A-T SYSTEM PARTS (continued)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		Restraining Cable

		



		

		2742231-0000

		3-Bay G-R-E-A-T

		$730.00



		

		2742111-0000

		4-Bay G-R-E-A-T

		$760.00



		

		2742112-0000

		5-Bay G-R-E-A-T

		$850.00



		

		2742113-0000

		6-Bay G-R-E-A-T

		$910.00



		

		2742114-0000

		7-Bay G-R-E-A-T

		$950.00



		

		2742115-0000

		 8-Bay G-R-E-A-T

		$1,050.00



		

		2742116-0000

		 9-Bay G-R-E-A-T

		$1,160.00



		

		2742117-0000

		10-Bay G-R-E-A-T

		$1,190.00



		

		2742118-0000

		11-Bay G-R-E-A-T

		$1,210.00



		

		2742119-0000

		12-Bay G-R-E-A-T

		$1,280.00



		

		

		

		



		

		

		

		



		

		

		Bracket Assemblies

		



		

		2752580-0000

		Bracket Assy, Cartridge Support,

		$128.00



		

		

		Diaphragm w/hardware

		



		

		2752600-0000

		Bracket Assy, Cartridge Support,

		$250.00



		

		

		Concrete Backup w/hardware

		



		

		2752590-0000

		Bracket Assy, Cartridge Support,

		$105.00



		

		

		Tension Strut or CZ Backup w/hardware

		



		

		2752590-0100

		Bracket Assy, Cartridge Support,

		$105.00



		

		

		Wide Flange Backup w/hardware

		



		

		

		Cable Anchor Assembly

		



		

		350623R-0000

		Cable Anchor Assy. 3-Bay CZ Retrofit

		$1,880.00



		

		3506230-0000

		Cable Anchor Assy. 3-Bay CZ

		$1,530.00



		

		3506210-0300

		Cable Anchor Assy. 3-Bay Permanent

		$1,820.00



		

		3506120-0000

		Cable Assembly, CZ, 6 Bay

		$920.00



		

		3506130-0000

		Cable Assy, CZ, Retrofit,

		$2,000.00



		

		

		

		



		

		2753251-0000

		Anchor, Cable, Stud End, G, Front

		$310.00



		

		2752391-0000

		Anchor, Cable, Stud End, G, Rear

		$310.00



		

		3518070-0000

		Anchor Pin Assembly

		$35.00



		

		2753240-0000

		Guide, Cable Assy, G-R-E-A-T (All Widths)

		$200.00



		

		

		TRANSITION   PANELS

		



		

		275232A-0000

		Panel Assy, Extension, Thrie Beam guardrail to 

		$780.00



		

		

		Backup on Uni-directional traffic side.

		



		

		275232B-0000

		Panel Assy, Extension, Thrie Beam guardrail to

		$840.00



		

		

		Backup on Bi-directional traffic side.

		



		

		275216A-0000

		Panel Assy, Transition, Thrie Beam guardrail to

		$1,530.00



		

		

		W-Section on Uni-directional traffic side.

		



		

		275216B-0000

		Panel Assy, Transition, Thrie Beam guardrail to 

		$1,660.00



		

		

		W-Section on Bi-directional traffic side.

		



		

		

		

		



		

		     NOTE:

		When ordering Transition Panel Assy.'s for Bi-Directional traffic attaching to guardrail you must order 1 (A) assembly and 1 (B) assembly per unit.

		





		 

		             G-R-E-A-T SYSTEM PARTS--(continued)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		275224L-0000

		Transition Panel Assy, 4" Offset,Left

		$1,030.00



		

		275224R-0000

		Transition Panel Assy, 4" Offset,Right

		$1,030.00



		

		275383L-0000

		Transition Panel Assy, 7 1/2" Offset, Left

		$1,030.00



		

		275383R-0000

		Transition Panel Assy, 7 1/2" Offset, Right

		$1,030.00



		

		275236L-0000

		Transition Panel Assy, 9" Offset,Left

		$1,030.00



		

		275236R-0000

		Transition Panel Assy, 9" Offset,Right

		$1,030.00



		

		

		

		



		

		

		RAILS

		



		

		3518040-0100

		Chain Rail Assembly, 1-Bay

		$680.00



		

		3518040-0200

		Chain Rail Assembly,2-Bay

		$860.00



		

		3518040-0300

		Chain Rail Assembly,3-Bay

		$950.00



		

		3518040-0400

		Chain Rail Assembly,4-Bay

		$1,660.00



		

		3518040-0500

		Chain Rail Assembly,5-Bay

		$1,820.00



		

		3518040-0600

		Chain Rail Assembly,6-Bay

		$1,980.00



		

		3518040-0700

		Chain Rail Assembly,7-Bay

		$2,730.00



		

		3518040-0800

		Chain Rail Assembly,8-Bay

		$2,880.00



		

		3518040-0900

		Chain Rail Assembly,9-Bay

		$3,030.00



		

		3518040-1000

		Chain Rail Assembly,10-Bay

		$3,650.00



		

		3518040-1100

		Chain Rail Assembly,11-Bay

		$4,550.00



		

		3518040-1200

		Chain Rail Assembly,12-Bay

		$5,310.00



		

		2722031-0000

		Rail, Chain,  35"

		$350.00



		

		2722032-0000

		Rail, Chain,  70"

		$430.00



		

		2722033-0000

		Rail, Chain, 107"

		$460.00



		

		2722035-0000

		Rail, Chain,  36"

		$390.00



		

		2722036-0000

		Rail, Chain,  72"

		$460.00



		

		2722037-0000

		Rail, Chain, 108"

		$460.00



		

		

		

		



		

		

		MISCELLANEOUS

		



		

		2732091-0000

		Galvanizing, Cold, Spray, Can 7 oz

		$16.50



		

		2752901-0000

		Guardrail, Standard, 162" (price p/ft)

		$51.00



		

		2752021-0000

		Chain, Proof Coil, 1/2", 9 Links

		$20.00



		

		2752013-0000

		Bolt Assembly, Mushroom

		$53.70



		

		2752650-0000**

		Mushroom Bolt Deflector Assembly

		$7.70



		

		2702101-0000

		Pin, Clevis, 5/8" x 2"

		$12.30



		

		2702111-0000

		Pin, Keeper (for 5/8" Clevis Pin)

		$4.10



		

		

		

		



		

		    NOTE:  **

		Part # 2752650-0000 must be ordered when ordering part # 2752013-0000, Bolt Assembly, Mushroom.



		

		

		There is no charge for Part # 2752650-0000 when ordering in conjunction with Part # 2752013-0000.





		

		

		Category D 

SENTRE PART

		



		 

		S



		

		

		

		



		

		SENTRE Sytems are no longer available as standard units.  

		



		

		Please Consult either Customer Service or your Regional Sales manager. 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		ANCHORS

		



		

		2752781-0000

		Anchor, Guardrail Tensioning, Embedded ("J" Hook - option)

		$345.00 



		

		

		

		 



		

		2744131-0000

		Anchor, Cable, Redirecting, Embedded (2 required, 1 Front & 1 Rear - included)

		$220.00 



		

		

		

		 



		

		2753250-0000

		Anchor Assy, Cable, Plate (option)

		$355.00 



		

		

		(2 required, 1 Front & 1 Rear)

		 



		

		

		

		 



		

		

		BRACKETS

		 



		

		2752870-0000

		Bracket Assy, Cable Tension w/hardware (Thrie Beam to W-Section)

		$155.00 



		

		

		

		 



		

		2752770-0000

		Bracket Assy, Cable Tension w/hardware (Thrie-Beam to Thrie-Beam)

		$155.00 



		

		

		

		 



		

		

		CABLES

		 



		

		2742181-0000

		Cable, Redirecting, 300" (included)

		$435.00 



		

		

		

		 



		

		2742190-0000

		Cable Assy, Tensioning, Guardrail

		$435.00 



		

		

		w/ 4 cable clips, 10' Long

		 



		

		

		

		 



		

		

		DPA ASSEMBLY PARTS

		 



		

		2756161-0000

		Plate, Skid, DPA

		$165.00 



		

		2756171-0000

		Plate, Adapter, DPA

		$355.00 



		

		2756231-0000

		Anchor, Cable, Bridge, DPA, Left

		$75.00 



		

		2756232-0000

		Anchor, Cable, Bridge, DPA, Right

		$75.00 



		

		2756221-0000

		Anchor, Cable, DPA, Front

		$165.00 



		

		2756241-0000

		Anchor, Cable, DPA, Rear

		$190.00 



		

		2753061-0000

		Anchor, Driveable pile w/hardware

		$605.00 



		

		

		(1 required post - option)

		 



		

		

		

		 





		 

		SENTRE PARTS--(continued)



		

		

		

		 



		

		Model/Part#

		Product/Description

		 



		

		

		

		 



		

		

		PANELS

		 



		

		2738111-0000

		Panel, Thrie Beam, Fender

		$660.00 



		

		2752880-0000

		Panel Assy, Transition w/hardware

		$660.00 



		

		

		(Thrie Beam to W-Section) 

		 



		

		2752870-0000

		Bracket Assy, Cable Tension, TB-W

		$155.00 



		

		2752760-0000

		Panel Assy, Transition w/hardware

		$250.00 



		

		

		(Thrie-Beam to Thrie-Beam)

		 



		

		2752770-0000

		Bracket Assy, Cable Tension, TB-to-TB

		$155.00 



		

		

		

		 



		

		

		NOSE

		 



		

		2020931-0000

		Cover, Nose, Thrie Beam End

		$110.00 



		

		

		

		 



		

		

		POSTS

		 



		

		

		

		 



		

		2752820-0000

		Post, Steel, 6" w/Wide Flange Blockout

		$155.00 



		

		

		for Thrie Beam Rail, with hardware

		 



		

		2752830-0000

		Post, Steel, 6" w/Wide Flange Blockout 

		$135.00 



		

		

		for W-Section Rail, with hardware

		 



		

		2756011-0000

		Post #1

		$135.00 



		

		2756021-0000

		Post #2

		$125.00 



		

		2756031-0000

		Post #3, #4 or #5

		$95.00 



		

		2756041-0000

		Blockout for Post 1 - 5

		$35.00 



		

		

		

		 



		

		

		SAND CONTAINERS

		 



		

		

		

		 



		

		2020951-0000

		Container, Sand, 100 lbs

		$75.00 



		

		2020941-0000

		Container, Sand, 150 lbs

		$80.00 



		

		

		

		 



		

		

		SLIP BASES

		 



		

		

		

		 



		

		2756061-0000

		Plate, Base, Post #1 or #2

		$50.00 



		

		2756071-0000

		Plate, Base, Post #3, #4 or #5

		$35.00 



		

		2756081-0000

		Plate, Bolt Keeper

		$20.00 



		

		

		45MPH, Mech. Lock

		



		

		

		

		



		

		3523310-0100

		Support Frame Assembly

		



		

		

		

		



		

		3523920-0000

		90 deg. Tilt hydraulics, includes pump

		



		

		

		and cylinder with rear operation switch,

		



		

		

		automatic return to horizontal position

		



		

		

		in range, 0 to 89 degrees with

		



		

		

		Mechanical lock-out in 90 degree position.

		



		

		2726636-0000

		Pump Motor, M-319, Monarch, Vert., 12V

		



		

		

		

		





		Category E1 Alpha 2001 MD COMMON REPLACEMENT PARTS F/60 MPH UNITS (NCHRP 230 rated) 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3524360-0000

		Jack, Assembly, Swivel, for backup only

		$600.00



		

		

		(1 set of 3 jacks per backup)

		



		

		3524361-0000

		New Rear Jack Assy., 60MD-CE

		$230.00



		

		3524362-0000

		Needed Brackets for new Jack

		$30.00



		

		202130(R/L)-0000

		Durashell Nose, Left or Right

		$720.00



		

		

		(STD, 9feet of tape,2712041-0000 to be applied 

		



		

		

		per pattern 3523911-0000)

		



		

		2715121-0000

		Main Cylinder, 3B, 8S (F/TMA6190/6590)

		$515.00



		

		2726631-0000

		Pump, Hyd.,M319 W/O Seq.Valve (F/TMA6190)

		$1,115.00



		

		3524340-0000

		Cover Assy.,(F/Support Frame)

		$390.00



		

		2742261-0000

		Cable, Tension 

		$46.20



		

		2733281-0000

		Absorber, Primary 

		$114.00



		

		2715151-0000

		Cable, Retainer 

		$161.00



		

		2733211-0000

		Strap Assy., 4, W/Flat Hook

		$70.00



		

		2733270-0000

		Absorber, Secondary W/decal

		$240.00



		

		2726581-0000

		Switch, Pump, 1 button W/6ft. cord

		$240.00



		

		352603E-0000

		Cab lowering switch Retrofit kit

		$790.00



		

		2501641-0000

		Bracket, attachment, Support Frame

		$28.00



		

		2723684-0000

		Breather Cap

		$23.10



		

		272342A-0000

		Cable, Battery, 2ft. Quick End (M)

		$46.20



		

		272342B-0000

		Cable, Battery, 25ft. Quick End (F)

		$240.00



		

		3524443-0000

		Cab lowering switch, Retrofit kit

		$790.00



		

		2733111-0000

		Weldment A, F/ Support Frame, (6190/6590)

		$875.00



		

		2733151-0000

		Weldment C, F/ Support Frame, (6190/6590)

		$145.00



		

		2733131-0000

		Weldment D, F/ Support Frame, (6190/6590)

		$155.00



		

		2733231-0000

		Weldment F, F/ Support Frame, (6190/6590)

		$165.00



		

		2733141-0000

		Weldment B, F/ Support Frame, (6190/6590)

		$190.00



		

		2733121-0000

		Weldment E, F/ Support Frame, (6190/6590)

		$155.00





		 Category E4 Alpha 100K:COMMON REPLACEMENT PARTS (NCHRP 350 rated) 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		 

		



		

		3524804-0000

		Cartridge Assembly, 350DX,  Aluminum 

		$7,200.00



		

		

		Cartridge, with Durashell nose, Jack, 

		



		

		

		Rear Chevron, Tail Lights and ICC Bar.

		



		

		3524803-0000

		Cartridge, Aux.1 (1 req./unit)

		$4,320.00



		

		3524805-0000

		Cartridge, Aux.2 (4 req./unit)

		$432.00



		

		2726636-0000

		Pump Motor, M-319, Monarch, Vert., 12V

		$985.00



		

		2715164-0000

		Jack Assy., 100K

		$455.00



		

		3523991-0000

		Jack, 750lb(To replace Part # 2715161-0000 750 lb. Jack)

		$230.00



		

		2723792-0000

		Steel Wheel, 6" x 2", for above Jack

		$46.20



		

		2745044-0000

		Lower Bracket, 100K

		$240.00



		

		2714591-0000

		Turnbuckle Jaw, 3/8 x 6

		$58.00



		

		2742327-0000

		Cable, 5/16 x 29, Thimble both ends

		$57.00



		

		2742326-0000

		Cable, 5/16 x 80 5/8,Stud & Thimble

		$112.00



		

		

		

		





		Category E6  ALPHA 70K TMA, 45 MPH/70K (Model TMA 7190) 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		TMA7190

		Alpha 70KMH, Mechanical Lock (350 Approved / TL-2)

		$9,800.00



		

		TMA 7590

		Alpha 70KMH, Hydraulic Lock (350 Approved / TL-2)

		$13,300.00



		

		

		

		



		 

		70K PARTS



		

		

		

		



		

		3524804-0000

		Cartridge Assembly, 350DX,  Aluminum 

		$7,200.00



		

		

		Cartridge, with Durashell nose, Jack, 

		



		

		

		Rear Chevron, Tail Lights and ICC Bar.

		



		

		

		

		



		

		3523290-0000

		Underride Assembly

		$590.00



		

		

		

		



		

		3523930-0000

		Strut / Support Frame Assembly

		$1,610.00



		

		

		

		



		

		3523950-0000

		Backup Assembly W/ Wiring

		$804.00



		

		

		45MPH, Mech. Lock

		



		

		

		

		



		

		3523310-0100

		Support Frame Assembly

		$985.00



		

		

		

		



		

		3523920-0000

		90 deg. Tilt hydraulics, includes pump

		$1,165.00



		

		

		and cylinder with rear operation switch,

		



		

		

		automatic return to horizontal position

		



		

		

		in range, 0 to 89 degrees with

		



		

		

		Mechanical lock-out in 90 degree position.

		



		

		2726636-0000

		Pump Motor, M-319, Monarch, Vert., 12V

		$985.00



		

		

		

		





		Category E7 SAFE-STOP 90 TMA, 62 MPH/100K (Model TMA 8290) 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		TMA 8290

		100K Safe-Stop, 90 deg. tilt, with cab raising

		$13,900.00



		

		

		

		



		

		TMA8290CLC

		100K Safe-Stop, 90 deg. tilt, with cab raising and cab lowering

		$14,075.00



		

		

		

		



		

		Above unit includes the following:

		



		

		3524420-0000

		Socket Hitch / Receiver Underride

		$695.00



		

		3524808-0000

		Safe-Stop Cartridge Assy, #2

		$4,200.00



		

		3524807-0000

		Safe-Stop Cartridge Assy, #1

		$3,805.00



		

		3524963-0000

		Rear Plate Assy,w/ 4" Black Striping

		$180.00



		 

		SAFE-STOP 90 OPTIONS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3524384-0000

		TailGate Mount Assembly*, TMA8290

		$2,655.00



		

		3526023-0000

		Attachment Assy, Interface, TMA8290QM

		$1,320.00



		

		3526020-0000

		Retro-Fit Kit, TMA8290, Quick Mount

		$1,320.00



		

		352603E-0000

		Cab lowering switch Retrofit kit

		$780.00



		

		*TailGate Mount Worksheet must be completed prior to order acceptance

		



		

		SAFE-STOP 90 PARTS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3524446-0000

		Hydraulic Assembly,TMA 8290

		$4,860.00



		

		3526057-0000

		Attachment Assembly,TMA 8290

		$540.00



		

		3524503-0000

		Lighting&Wiring Assembly, TMA 8290

		$540.00



		

		3524665-0000

		Limit Switch w/ Cable & Connectors

		$240.00



		

		3524666-0000

		Pump, M631,12V,

		$1,836.00



		

		2724661-0000

		Main Cylinder, 3B, 12S

		$540.00



		

		3526051-0000

		Support Fram Back up, Pivot Arm Assy.

		$4,860.00



		

		2745075-0000

		Support Frame Back-up

		$1,020.00



		

		2700622-0100

		Bolt, 3/8" x 8 1/2", G8, Trigger Bolts

		$2.65



		

		2708652-0000

		Washer Bar, 1/4" x 1" x 3/4"

		$2.65



		

		2704243-0100

		Lock Nut, 3/8"

		$2.65



		

		2715344-0000

		Spring, Die, 1 1/4" ODx9/16"x1 1/2"

		$26.50



		

		2742330-0000

		Cable, 5/16"x81 1/2", 5/8" Stud Ends

		$80.00



		

		2715331-0000

		Chain 40#, 53 Links

		$26.50



		

		2726636-0001

		Breather Cap, Safe-Stop

		$8.50



		

		2715345-0000

		Safe-Stop Jack Assembly

		$410.00



		

		2742331-0000

		Cable, 1/4" x 73", Stud End & Thimble

		$85.00



		

		2728803-0000

		Shackle, Anchor, 1/4

		$13.20



		

		TMA8290TBA

		Trigger Bolt Assembly

		$84.00





		

		SAFE-STOP 90 PARTS, continued



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		352602A-0000

		Collapsible Strut/Support for bolt on upper structure Frame                              Pre-Assy. TL 3

		$6,155.00



		

		352601B-0000

		Support Frame & Backup Miscellaneous hardware for Bolt-On

		$3,205.00



		

		

		 Upper Structure (shipped un-assembled) including 4 Jacks

		



		

		3526011-0000

		Backup Assembly with Wiring

		$1,450.00



		

		

		

		



		

		

		TMA8190

		



		

		352603A-0000

		90 deg. Tilt hydraulics, includes pump and cylinder

		$2,545.00



		

		

		 w/rear operation switch, automatic return to horizontal

		



		

		

		 position in range, 0 to 89 degrees, mechanically 

		



		

		

		driven lock-out struts in 90 degree tilt position.

		



		

		

		

		



		

		

		TMA 8190C

		



		

		352603C-0000

		90 deg. Tilt hydraulics, includes pump and cylinder

		$3,130.00



		

		

		 w/rear operation switch, automatic return to horizontal

		



		

		

		 position in range, 0 to 89 degrees, mechanically 

		



		

		

		driven lock-out struts in 90 degree tilt position.

		



		

		

		

		





		Category E7.1 SAFE-STOP Trailer Mounted Attenuator (SST)



		SST TMA9000  Safe-Stop Trailer

		



		Part Number

		 Description 

		Contract



		TMA9000CLC

		 Safe-Stop TMA on a Trailer (Model SST TMA9000) 

		$20,950.00



		3526081-0000

		 Cartridge A 

		$4,370.00



		3526082-0000

		 Cartridge B 

		$4,600.00



		3526088-0000

		 Impact Frame Plate 

		$240.00



		2751765-0000

		 Side Guide, Bay 1 

		$50.00



		2751764-0000

		 Side Guide, Bay 2 

		$40.00



		2742343-0000

		 Release Cable 

		$310.00



		2715272-0000

		 Clevis Hook 

		$20.00



		2715413-0000

		 Safety Chain 

		$50.00



		2727318-0000

		 Hydraulic Cylinder Tool 

		$165.00



		2751106-0000

		 Pintle Eye 

		$90.00



		2724243-0000

		 Jack 

		$105.00



		2757404-0000

		 Trailer Break-Away Kit 

		$170.00



		2703012-0000

		 Hydraulic Cylinder  

		$1,485.00



		3526900-0000

		 Support Frame Assy, TMA9000 

		$11,875.00



		2751101-0000

		 Support Frame Backup, TMA9000 

		$2,200.00



		2751100-0000

		 Support Frame, Mid, TMA9000 

		$2,750.00



		2715411-0000

		 Pin, Quick Release, 3/8 x 5 3/4, with Lanyard 

		$16.50



		2751106-0000

		 Hitch, Lunette Eye, ADJ, 3 I.D. 

		$120.00



		2715152-0000

		 Cable, Lanyard, 1/16 x 8 

		$6.85



		2724243-0000

		 Jack, Swivel, 10 Lift, Top Wind 

		$125.00



		3526902-0000

		 Hydraulic Assy, SST 

		$3,885.00



		2751107-0000

		 Lateral Frame, MidFrame, TMA9000 

		$175.00



		2751109-0000

		 Bracket Assembly, Cylinder Truck Mount, SST (order 2 per truck) 

		$180.00



		2702161-0100

		 Pin, hitch, 1-1/4 x 7, with cotter pin (for bracket assembly - order 2 per truck) 

		$17.50





		Category E8 SAFE-STOP 180 TMA, 62 MPH/100K (Model TMA 9181) 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		TMA9181CLC

		Safe-Stop, 180 deg. tilt, with cab raising and cab lowering

		$15,900.00



		

		

		

		



		

		TMA9181QMLC

		Safe-Stop, 180 deg. Tilt, with Quick Mount Attachment

		$16,800.00



		

		

		

		



		 

		SAFE-STOP 180 OPTIONS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3524384-0000

		TailGate Mount Assembly*, TMA9181

		$2,610.00



		

		3526022-0000

		Attachment Assy, Interface, TMA9181QM

		$1,320.00



		

		3526004-0000

		Retro-Fit Kit, TMA9181, Quick Mount

		$1,320.00



		

		352603E-0000

		Cab lowering switch Retrofit kit

		$780.00



		

		*TailGate Mount Worksheet must be completed prior to order acceptance

		



		

		

		

		



		

		SAFE-STOP 180 PARTS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3526081-0000

		Cartridge A Assy, TMA9181

		$4,370.00



		

		3526082-0000

		Cartridge B Assy, TMA9181

		$4,600.00



		

		3526083-0000

		Striping Assy, Cart-B, TMA9181

		$101.00



		

		3526087-0000

		Attachment Assy, TMA9181

		$610.00



		

		3526080-0000

		Support Frame Assy, TMA9181

		$8,500.00



		

		2715164-0000

		Jack Assy, 100K

		$450.00



		

		2715344-0000

		Spring Die, 1 1/4 OD x 9/16 x 1 1/2

		$8.00



		

		2742343-0000

		Release Cable Assy, 9180

		$310.00



		

		3526088-0000

		Impact Frame Plate Assy, TMA9181

		$240.00



		

		3524420-0000

		Underride Assy, Receiver, TMA9181

		$690.00



		

		2751749-0000

		Backup, TMA9181, PT

		$1,140.00



		

		2751728-0000

		Weldment, Front Interface Frame, 9181, PT

		$270.00



		

		2751706-0000

		Weldment, Rear Interface Frame, 9181, PT

		$260.00



		

		2751714-0000

		Impact Frame, Wide, 9181

		$370.00



		

		2751712-0000

		Arm Weldment, Front, 9181, PT

		$123.00



		

		2751711-0000

		Arm Weldment, Rear, 9181, PT

		$123.00



		

		3526093-0000

		Hydraulic Pump Assy, TMA9181

		$3,840.00



		

		3526084-0000

		Hydraulic Cylinder Assy, TMA9181

		$3,370.00



		

		2723003-0000

		Cylinder, 2 1/2B, 12S, Welded

		$770.00



		

		2757003-0000

		Valve, Solenoid w/Body, #4 SAE, NC, Poppet

		$270.00



		

		2757060-0000

		Solenoid Wiring Assy, TMA9181

		$27.50



		

		3526098-0000

		Box/Wiring Assy, Hydraulic, TMA9181

		$1,540.00



		

		2723002-0000

		Pump, M-3541, Vert, 12V, DC

		$1,540.00



		

		2755000-0000

		Switch, Flow Control, TMA9181

		$350.00



		

		2751755-0000

		Bracket, Support, Right, TMA9181, PT

		$165.00



		

		SAFE-STOP 180 PARTS, continued



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		2751754-0000

		Bracket, Support, Left, TMA9181, PT

		$165.00



		

		3526095-0000

		Control Box Assy, Cab, TMA9181

		$330.00



		

		352602A-0000

		Collapsible Strut/Support

		$6,040.00



		

		

		For bolt on upper structure Frame Pre-Assy. T.L. 3

		



		

		352601B-0000

		Support Frame & Backup Miscellaneous 

		$3,150.00



		

		

		Hardware for Bolt-On Upper Structure

		



		

		

		(shipped un-assembled) including 4 Jacks

		



		

		3526011-0000

		Backup Assembly with Wiring

		$1,430.00



		

		

		

		



		 

		TRUCK MOUNTED ATTENUATORS -- (TMA's, continued)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		TMA, Low Speed, Fixed w/Receiver

		



		

		TMALSPRO

		TMA, Low Speed, Fixed w/Receiver

		$5,690.00



		

		      ABOVE MODEL AND PRICE INCLUDE TWO(2) JACKS FOR BACKUP.

		



		

		

		

		



		 

		TRUCK MOUNTED ATTENUATORS, parts  



		

		

		

		



		

		

		Low Speed TMA

		



		

		3524600-0000

		Cartridge Assembly, 2/3 of 2001 MD

		$5,370.00



		

		

		Modular Aluminum Cartridge with

		



		

		

		Durashell Nose, Jack, Rear Chevron,

		



		

		

		Tail Lights and ICC Bar.

		



		

		

		

		



		

		

		SOCKET HITCH

		



		

		3524420-0000

		Hitch, Underride Receiver

		$695.00



		

		

		(Can be used on all Models except for Salt

		



		

		

		 Spreader, Fixed Models 2000/4000/7000 and

		



		

		

		 Tailgate mounted units).

		



		

		3524390-0000

		Underride Frame Assy., Tailgate

		$300.00



		

		

		(Truck dimensions necessary to ensure

		



		

		

		  proper fit.)

		



		

		3524421-0000

		Underride Assembly, Receiver, 7"

		$875.00



		

		3524383-0000

		Tailgate Mount Assy, Dual Wheel

		$2,210.00



		

		

		

		





		Category F  TREND PARTS



		

		TREND Sytems are no longer available as standard units.  



		

		Please Consult either Customer Service or your Regional Sales manager. 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		TRANSITION PANELS

		



		

		275216T-0100

		Trans. Assy., T/B-W, Beam - Option "B"

		$1,220.00



		

		275224T-0100

		Trans. Panel w/4" Offset, LEFT - Option "C"

		$825.00



		

		275224T-0200

		Trans. Panel w/4" Offset, RIGHT - Option "C"

		$825.00



		

		275243T-0000

		Trans. Assy., TB-End Shoe - Option "A"

		$495.00



		

		

		

		 



		

		

		ANCHORS

		 



		

		2744131-0000

		Anchor, Cable, Embedded (included)

		$220.00



		

		2753250-0000

		Anchor Assy, Cable,  Plate (option)

		$355.00



		

		

		(2 required, 1 Front & 1 Rear)

		 



		

		

		

		 



		

		

		CABLE

		 



		

		2742181-0000

		Cable, Redirecting, 300'' (25ft)

		$430.00



		

		

		(included)

		 



		

		

		

		 



		

		

		FENDER PANELS

		 



		

		2738111-0000

		Panels, Thrie Beam, Fender

		$660.00



		

		

		

		 



		

		

		OPTIONAL ACCESSORY

		 



		

		2752820-0000

		Post/Blockout Assy, Wide Flange

		$155.00



		

		

		

		 



		

		

		NOSE

		 



		

		2020931-0000

		Cover, Nose, Thrie Beam End

		$110.00



		

		

		

		 



		

		

		POSTS

		 



		

		2756011-0000

		Post #1

		$135.00



		

		2756021-0000

		Post #2, #3, #4, #5 or #6

		$120.00



		

		2756041-0000

		Blockout for Post #1 - #6

		$35.50



		

		

		

		 



		

		

		SAND CONTAINERS

		 



		

		2020951-0000

		Container, Sand, 100 lbs

		$70.40



		

		2020941-0000

		Container, Sand, 150 lbs

		$80.00



		

		

		

		 



		

		

		SLIP BASES

		 



		

		2756111-0000

		Base, Slip (Post #1, #2, #3, #4, #5, #6)

		$120.00



		

		2756081-0000

		Plate, Bolt Keeper

		$15.40



		

		

		

		



		

		

		BACKSTRAPS

		 



		

		2756291-0000

		Backstrap 78" Front/Back Strap

		$70.40



		

		

		(NEW) 36" Spacing, (Straight)

		 



		

		2756281-0000

		Backstrap 100" Back/Back Strap

		$95.00



		

		

		(NEW) 36" Spacing, (Bent)

		 



		

		2756131-0000

		Backstrap 79" Front/Back Strap  2

		$155.00



		

		

		(OLD) 37-1/2" Spacing

		 



		

		2756132-0000

		Backstrap 87" Back/Back Strap 1

		$180.00





		Category G BRAKEMASTER SYSTEM 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		106106BRS5

		BRAKEMASTER System, ("350") Complete

		$7,700.00



		

		

		

		



		

		

		ANCHOR ASSEMBLY

		



		

		

		

		



		

		9202010-0000

		Anchor Assembly, Embedded

		$1,330.00



		

		

		

		



		

		9202024-0000

		Anchor Assembly, Driveable

		$1,330.00



		

		

		

		



		

		

		DPA ANCHOR ASSEMBLY

		



		

		

		

		



		

		9202071-0000

		Anchor, DPA, BRS

		$2,180.00



		

		

		

		



		

		9202072-0000

		Anchor, DPA, BRS

		$2,050.00



		

		

		without Cap Installation

		



		

		

		

		



		

		9202981-0000

		Cap, Installation, DPA, BRS

		$120.00



		

		

		

		



		

		9204010-0000

		Breakaway Assembly

		$260.00



		

		

		

		



		

		       NOTE:

		The following parts are included in the above 

		



		

		

		item (#9204010-0000) and/or may be ordered separately

		



		

		

		

		



		

		9204021-0000

		Nose, BRS

		$80.00



		

		9204031-0000

		Breakaway Arm

		$145.00



		

		2699272-0500

		Rod, Threaded, 7/8" x 28", G5, G

		$45.00



		

		

		

		



		

		       NOTE:

		Required nuts, bolts, and washers included.

		



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		9206010-0000

		Brake/Tension Support System 

		$1,170.00



		

		

		Assembly

		



		

		

		

		



		

		       NOTE:

		The following parts are included in the above 

		



		

		

		item (#9206010-0000) and/or may be ordered separately.

		



		

		

		

		



		

		9206021-0000

		Brake Tension Support

		$860.00



		

		9212021-0000

		Panel, Fender, BRS

		$310.00



		

		

		

		



		

		       NOTE:

		Required nuts, bolts, and washers included.

		



		

		

		

		



		

		9208010-0000

		Cable and Brake Assembly

		$3,340.00



		

		

		

		



		

		9210011-0000

		Diaphragm Assembly

		$143.00



		

		

		

		



		

		9212010-0000

		Fender Panel/Strap Assembly

		$200.00



		

		

		

		



		

		       NOTE:

		The following parts are included in the above

		



		

		

		item (#9212010-000) and/or may be ordered separately.

		



		

		

		

		



		

		9212021-0000

		Panel, Fender, BRS

		$310.00



		

		9216021-0000

		Strap, Laminated w/Decal

		$55.00



		

		

		

		



		

		       NOTE:

		Required nuts, bolts, and washers included.

		



		

		

		

		



		

		9214010-0000

		Transition Strap Assembly

		$770.00



		

		

		

		



		

		       NOTE:

		The following parts are included in the above 

		



		

		

		item (#9214010-0000) and/or may be ordered separately.

		



		

		

		

		



		

		9214021-0000

		Strap, Transition w/Decal

		$560.00



		

		9218011-0000

		Strap, Solid w/Decal

		$44.00



		

		9212021-0000

		Panel, Fender, BRS

		$310.00



		

		

		

		



		

		       NOTE:

		Required nuts, bolts, and washers included.

		



		

		

		

		





		Category K MP-3 ANCHORS



		

		

		

		



		

		Model/Part#

		Product Description

		



		

		

		

		



		

		

		MP-3 PACKAGE, Vertical

		



		

		

		

		



		

		3525110-0000

		Pint Pkg., MP-3, consisting of

		$20.00



		

		

		the following: (price p/pint)

		



		

		

		

		



		

		3525040-0100

		Resin Assy, 16 Fluid Ounces 

		 



		

		3525030-0100

		Hardener Assy, 10 Fluid Ounces 

		 



		

		3525140-0000

		Promoter Assy, 10 Fluid Ounces

		 



		

		

		

		



		

		3525100-0000

		Quart Pkg, MP-3, consisting of

		$30.00



		

		

		the following: (price p/ quart)

		



		

		

		

		



		

		3525090-0000

		Resin Assy, 28 Fluid Ounces 

		 



		

		3525080-0000

		Hardener Assy, 16 Fluid Ounces 

		 



		

		3525150-0000

		Promoter Assy, 16 Fluid Ounces

		 



		

		

		

		



		

		

		MP-3 PACKAGE, Horizontal

		



		

		

		

		



		

		3525200-0000

		Pint Pkg., MP-3 Horizontal Gel (resin, hardener, promoter) only

		$8.50



		

		3525130-0000

		Pint Pkg., MP-3 Horizontal Gel (resin, hardener, promoter) with 6 studs,nuts and washers

		$35.00



		

		

		

		



		

		

		STUDS

		



		

		

		

		



		

		2699201-0000

		Stud, 3/4" x 6-1/2", Grade 5, G

		$5.00



		

		

		

		



		

		2698161-0000

		Stud, 3/4X7, Grade 5, G

		$5.50



		

		

		

		



		

		2700731-0500

		Rod, Threaded 3/4" x 18", Grade 5, G

		$10.00



		

		

		

		



		

		

		MP-3 Anchor F/ Quadguard

		



		

		

		

		



		

		3525300-0000

		Anchor, MP-3 Kit, 3/4" x 7", G5, Vert.

		$35.00



		

		3540260-0000

		PCMB Anchor Assy

		$540.00



		

		

		

		



		

		3540243-0000

		CZ Anchor/Lift Kit, 3-Bay, QG, W/ 18" Threaded Rod 

		$505.00



		

		3540244-0000

		CZ Anchor/Lift Kit, 4-Bay, QG, W/ 18" Threaded Rod 

		$610.00



		

		3540245-0000

		CZ Anchor/Lift Kit, 5-Bay, QG, W/ 18" Threaded Rod

		$770.00



		

		3540246-0000

		CZ Anchor/Lift Kit, 6-Bay, QG, W/ 18" Threaded Rod

		$840.00



		

		3540247-0000

		CZ Anchor/Lift Kit, 7-Bay, QG, W/ 18" Threaded Rod

		$985.00



		

		3540248-0000

		CZ Anchor/Lift Kit, 8-Bay, QG, W/ 18" Threaded Rod

		$1,130.00



		

		3540249-0000

		CZ Anchor/Lift Kit, 9-Bay, QG, W/ 18" Threaded Rod

		$1,050.00





		Category L FASTENERS / HARDWARE



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		2021482-0000

		Nose Support, LMC

		$102.00



		

		2698223-0000

		Rod threaded, 1/2 x 7, G5, G

		$6.60



		

		2698241-0000

		Bolt,Hx,5/8 x 2 1/4,G8,G

		$5.20



		

		2699161-0000

		Rod threaded, 1/2 x 10 1/4, G5, G

		$7.90



		

		2699171-0000

		Rod threaded, 1/2 x 5 3/4, G5, G

		$5.20



		

		2699181-0000

		Rod threaded, 1/2 x 13, G5, G

		$9.00



		

		2699191-0000

		Rod threaded, 1/2 x 15 3/4, G5, G

		$10.50



		

		2699391-0000

		Rod threaded, 1/2 x 9 G5, G

		$6.60



		

		2699841-0000

		Bolt,Hx,5/8 x 1-1/4,G

		$3.90



		

		2700011-0000

		Bolt, Hex, 3/4" x 2", G 5

		$2.75



		

		2700031-0000

		Bolt,Hx,1/2 x 6,G2,G

		$2.60



		

		2700041-0000

		Bolt, Carriage, 1/2" x 6-1/2", Grade 2, G

		$3.40



		

		2700061-0000

		Bolt, Hex, 3/4" x 3", Grade 5, G

		$5.40



		

		2700071-0000

		Bolt, Hex, 3/8" x 5", Grade 2, G

		$0.65



		

		2700131-0000

		Bolt, Elevator, 3/8" x 1-1/4", Grade 2, G

		$1.00



		

		2700161-0000

		Bolt, Elevator, 3/8" x 1-1/2", Grade 2, G

		$2.30



		

		2700401-0000

		Bolt, Hex, 5/16" x 2-1/4", Grade 5, G

		$0.75



		

		2700451-0000

		Bolt, L-, 3/4" x 4-1/2", Grade 5, G

		$11.70



		

		2700461-0000

		Clamp, Wire, Rope, 3/4"

		$21.60



		

		2700511-0000

		Bolt, Hex, 3/4" x 3", Grade 2, G

		$0.65



		

		2700541-0000

		Bolt, Hex, 1" x 3-1/2", Grade 2, G

		$8.00



		

		2700571-0000

		Bolt, Hex, 3/8" x 3-3/4", Grade 5, G

		$1.65



		

		2700621-0000

		Bolt, Hex, 3/8" x 6-1/2", Grade 2, G

		$1.20



		

		2700671-0000

		Bolt, Hex, 3/8" x 3-1/4", Grade 5, G

		$1.30



		

		2700701-0000

		Bolt, Hex, 1/2" x 1-1/2", Grade 5, G

		$0.90



		

		2700731-0500

		Rod, Threaded 3/4" x 18", Grade 2 G

		$7.00



		

		2700951-0000

		Bolt, Carriage, 3/8" x 2-1/2", G 2, G

		$0.65



		

		2701021-0000

		Bolt, Hex, 3/8" x 1-1/2", Grade 2 G

		$0.45



		

		2701041-0000

		Bolt, Carriage, 1/2" x 2", G 2, G

		$1.30



		

		2701061-0000

		Bolt, Carriage, 5/16" x 3/4", G 2, G

		$0.75



		

		2701221-0000

		Bolt, Hex, 3/8" x 1", Grade 2, G

		$0.75



		

		2701271-0000

		Anchor Bolt 3/4" x 6-1/4" Grade 5, G 

		$13.00



		

		2701281-0000

		Anchor Bolt 1/2" x 5-1/4" Grade 5 G 

		$13.00



		

		2701301-0000

		Bolt, Hex, 3/8"x 2-1/2", Grade 2, G

		$0.65



		

		2701311-0000

		Bolt, Hex, 3/8" x 3", G 2, G

		$0.45



		

		2701331-0000

		Bolt, Hex, 3/8" x 4-1/2", Grade 2, G

		$1.20



		

		2701361-0000

		Bolt, Hex, 1/2" x 3", Grade 2, G

		$2.75



		

		2701381-0000

		Bolt, Hex, 3/4"x 2", Grade 2, G

		$4.20



		

		2701391-0000

		Bolt, Carriage, 1/2" x 2-1/2", Grade 2, G

		$0.75



		

		2701451-0000

		Bolt, LG, 1/4" x 1-1/2", G 2

		$1.00



		

		2701461-0000

		Bolt, L, 3/4" x 6" x 7", Grade 2, G

		$10.50



		

		2701511-0000

		Bolt, Hex, 3/8" x 2", Grade 2, G

		$0.45



		

		2701521-0000

		Bolt, Hex, 5/16" x 2", Grade 2, G

		$0.45



		

		2715343-0000

		Spring Die, 1 1/4 OD x 5/8 x 1 1/2 (replaces part # 2021611)



		$7.90



		 

		FASTENERS / HARDWARE--(continued)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		2701561-0100

		Anchor, Flush, 1/2", Plated

		$6.80



		

		2701571-0000

		Bolt, Carriage, 3/8" x 1", Grade 2, G

		$1.65



		

		2701581-0100

		Bolt, Round 3/8" x 1" Grade 2, Plated Slot

		$0.65



		

		2701621-0000

		Bolt, Hex, 3/4" x 2-1/2", Grade 2, G

		$2.85



		

		2701641-0000

		Bolt, Hex 3/4" x 1-1/4", Grade 2, G

		$2.75



		

		2701651-0000

		Bolt, Hex, 3/4" x 1-1/2" Grade 2, G

		$2.85



		

		2701671-0000

		Anchor Bolt 3/4" x 8-1/2" Grade 5, G 

		$14.40



		

		2701691-0000

		Bolt, Hex 3/4" x 2-1/4", Grade 2, G

		$2.75



		

		2701731-0000

		Bolt, Flat, 5/8" x 3" Grade 8, Allen Socket,G

		$5.90



		

		2701731-0300

		Bolt, Flat, 5/8" x 3" Grade 5, Steel, Allen Socket

		$14.90



		

		2701741-0000

		Clamp, Wire Rope, 3/8", G

		$8.50



		

		2701751-0000

		Bolt, U-, 1/2" x 1-3/4" Grade 5, G

		$8.00



		

		2701811-0000

		Bolt, Rail, 5/8" x 1-1/4", Grade 5, G

		$0.35



		

		2701841-0000

		Bolt, Hex, 1/2" x 1-1/2"

		$1.00



		

		2701871-0000

		Bolt, Hex, 1" x 6-1/2", Grade 2, G

		$16.80



		

		2701891-0000

		Bolt, Hex, 5/8" x 1-1/4"

		$1.30



		

		2701981-0000

		Bolt, Hex, 1" x 5"

		$5.30



		

		2701994-0000

		Bolt,Hx,5/8 x 5,G5,G All Thread

		$6.50



		

		2702011-0000

		Pin, Cotter, 1/4" x 2", Electroplated

		$0.45



		

		2702031-0000

		Pin, Cotter, 1/4" x 2-1/2", Galv.

		$0.45



		

		2704011-0000

		Nut, Hex, 1/2", G

		$0.65



		

		2704031-0000

		Nut, Hex 3/8", G

		$0.45



		

		2704041-0000

		Nut, Washer, Tinnerman, G

		$0.35



		

		2704051-0000

		Nut, Eye, 1/2" G

		$8.50



		

		2704081-0000

		Nut, Hex, 5/16", G

		$0.45



		

		2704091-0000

		Nut, Hex, 3/4", G

		$1.10



		

		2704121-0000

		Nut, Hex, 1-1/2", G

		$5.20



		

		2704151-0000

		Nut, Hex, 1/4", G

		$0.45



		

		2704161-0000

		Nut, Hex, 1", G

		$2.75



		

		2704191-0000

		Nut, Hex, 5/8", G Rail

		$1.35



		

		2704241-0100

		Nut, Lock, 3/8", Plated

		$0.45



		

		2704281-0100

		Nut, T-, 1/2", Plated

		$1.65



		

		2704341-0000

		Hex Nut,3/4",G,GR DH

		$2.40



		

		2704851-0000

		Nut,Hx,Coupling 5/8-11 x 2 1/8,G

		$5.20



		

		2706071-0100

		Screw, Hex Head Washer, No. 8, 1/2" Plated

		$0.35



		

		2706121-0000

		Screw, Hex Head Washer 1/4" x 1", G

		$2.10



		

		2706181-0000

		Screw, Flat Head 1/2" x 1" Slotted, G

		$2.75



		

		2706221-0100

		Screw, Hex, 1/4" x 1" Plated

		$0.45



		

		2706261-0100

		Bolt, Button, 1/2" x 2" Hex Socket, Plated

		$2.10



		

		2706311-0100

		Bolt, Button, 1/2" x 1-1/4" Hex Socket, Plated

		$1.55



		

		2706441-0000

		Screw, Hex Head Washer 1/4" x 2" G, AB, Threaded

		$0.75



		

		2706461-0300

		Screw Button 1/2" x 1-3/8" Hx, Socket, S

		$5.20



		

		2708011-0000

		Washer, Flat, 1/2" x 1-1/4", G

		$1.10



		

		2708021-0000

		Washer, Flat, 3/8" x 1", G

		$1.10



		

		2708041-0000

		Washer, Lock, 3/8", G

		$0.35





		 

		FASTENERS / HARDWARE--(continued)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		2708101-0000

		Washer, Flat, 1/4" x 1", G

		$1.30



		

		2708121-0000

		Washer, Bar, 3" x 2" x 1/4", G

		$1.45



		

		2708153-0000

		Washer, Mushroom, Forged, G

		$28.60



		

		2708181-0000

		Washer, Lock, 1/2", G

		$0.65



		

		2708191-0000

		Washer, Flat, 1" x 2-1/2", G

		$2.30



		

		2708201-0000

		Washer, Lock, 3/4", G

		$1.10



		

		2708211-0000

		Washer, Bar, Flex Belt, G, 30"

		$8.00



		

		2708221-0000

		Washer, Flat, 5/16" x 8/8", G

		$0.35



		

		2708231-0000

		Washer, Lock, 5/8", G

		$0.35



		

		2708241-0000

		Washer, Lock, 1", G

		$1.00



		

		2708271-0000

		Washer, Flat, 1/4" x 1-1/2", G

		$0.35



		

		2708281-0000

		Washer, Lock, 1/4", G

		$0.65



		

		2708291-0000

		Washer,Flat, 5/8x1 3/4,G

		$1.10



		

		2708321-0300

		Washer, Flat, 3/8" x 1-1/2", S

		$1.30



		

		2708381-0000

		Washer, Bar, 2" x 2" x 1/2", G

		$1.30



		

		2708481-0000

		Washer, Flat, 7/8" x 1-3/4", G

		$1.30



		

		2708491-0000

		Washer, Bar, 3" x 3" x 1/4", G

		$2.75



		

		2708651-0000

		Washer, Bar, 3" x 2" x 1/4", 7/8" hole, G

		$1.45



		

		2753071-0000

		Plate,Nose Cylinder,G

		$12.80



		

		2753091-0000

		Plate clamp, inner cylinder, G (2 REQ.)

		$15.60



		

		2753301-0000

		Leg Nose Support, LMA

		$36.40



		

		2760251-0000

		Bracket,Pull Out, QG

		$10.20



		

		2760504-0000

		Clamp, Belt,LMC

		$18.20



		

		2760505-0000

		Plate clamp, outer cylinder, G

		$52.10



		

		2760506-0000

		Plate clamp, spacer outer cylinder, G-Spacer, Bay 1, 2, & 3 (2 REQ.)

		$146.00



		

		2760507-0000

		Shim,Nose Clamp,G

		$5.70



		

		3540455-0000

		Chain Assembly, 5-11, 36"

		$52.10



		

		

		

		





		Category M REACT 350 NARROW --36"



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		43-B-036

		43 MPH (70km/h), TL-2, 4 Cyl., 36" (910mm),w/Steel B-up

		$23,300.00



		

		

		

		



		

		43-C-036

		43 MPH (70km/h), TL-2, 4 Cyl., 36" (910mm), w/Conc. B-up

		$23,300.00



		

		

		

		



		

		55-B-036

		55 MPH (90km/h),  6 Cyl., 36" (910mm), w/Steel B-up

		$28,380.00



		

		

		

		



		

		55-C-036

		55 MPH (90km/h), 6 Cyl., 36" (910mm), w/Conc. B-up

		$28,380.00



		

		

		

		



		

		62-B-036

		62 MPH (100km/h), TL-3, 9 Cyl., 36" (910mm), w/Steel B-up

		$33,660.00



		

		

		

		



		

		62-C-036

		62 MPH (100km/h), TL-3, 9 Cyl. 36" (910mm), w/Conc. B-up

		$33,660.00



		

		

		

		



		

		70-B-036

		68 MPH (110km/h), TL-3, 9 Cyl. "HS", 36" (910mm), w/Steel B-up

		$38,170.00



		

		

		

		



		

		70-C-036

		68 MPH (110km/h), TL-3, 9 Cyl. "HS", 36" (910mm), w/Conc. B-up

		$38,170.00



		

		

		

		



		

		Type of anchors and Type of Nose MUST BE INDICATED at time of order placement

		



		

		Cover Assemblies are not included in the system price, must be ordered separately.

		



		

		

		

		



		

		

		NOSE OPTIONS

		



		

		

		

		



		

		3535003-3000

		Reflective Nose-Gore

		$265.00



		

		3535003-4000

		Reflective Nose-Left or Right

		$265.00



		

		

		Left and Right are also referred to as "Universal Noses"

		



		

		

		

		



		

		

		

		



		

		

		ANCHORING OPTIONS

		



		

		3525020-0000

		Anchor, MP-3 Kit, 3/4" x 7 1/2", Vertical

		$85.00



		

		This option is the same as used in the Installation of Permanent QuadGuards on Concrete Pads.

		



		

		There are (7) seven of these required for the Side Mounted Units, and (10) ten for the Self-Contained Units

		



		

		

		

		



		

		3525310-0000

		Asphalt Anchor Kit, for React 350 Units

		$830.00



		

		

		This option includes the 18" threaded rods and MP-3 Kits

		



		

		

		

		





		 

		REACT 350 PARTS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3535079-0000

		Debris Cover Assembly, 36", REACT 350 (per cylinder)

		$80.00



		

		3535055-0*00

		Amber or Clear Delineator (can be flipped over for desired color to face toward traffic)

		$11.50



		

		

		*= for 4 reflectors, "-0400"; 6 reflectors, "0600"; 8 reflectors, "-800"; 10 reflectors, "-1000";             



		

		

		12 reflectors, "-1200"; 14 reflectors, "-1400".

		



		

		4204

		350.4 New Backup, Single Cable

		$640.00



		

		4206

		350.6 New Backup, Single Cable

		$820.00



		

		4209

		350.9 New Backup, Single Cable

		$1,010.00



		

		4311

		350.11 Cylinder-New Cable

		$1,470.00



		

		3535005-0140

		350.4 Cable System for Side Mount

		$1,910.00



		

		4304

		350.4 Bottom Cable

		$530.00



		

		3535005-0160

		350.6 Cable System for Side Mount

		$2,330.00



		

		4306

		350.6 Bottom Cable

		$550.00



		

		3535005-0190

		350.9 Cable System for Side Mount

		$2,610.00



		

		4309

		350.9 Bottom Cable, 30'3"

		$910.00



		

		3535034-0000

		Side Mount Anchor/Cable Anchor Cover Plate (Concrete Backup-Transition)

		$750.00



		

		3535005-0210

		350.11 Cable for Side Mount(2)

		$3,280.00



		

		4330

		3/4" Wedge Ferrule for Side Mount(2)

		$190.00



		

		3535044-0000

		Cable Strap Assembly, Self-Contained Backup

		$22.00



		

		3535045-0000

		Cable Strap Assembly, ConcreteBackup

		$38.50



		

		4211

		350 HS 11 Cylinder, Bottom Cable

		$1,360.00



		

		3535003-4000

		Reflective Nose-Left

		$275.00



		

		3535003-3000

		Reflective Nose-Gore

		$275.00



		

		3535003-4000

		Reflective Nose-Right

		$275.00



		

		4731

		Retainer Plate

		$52.80



		

		3535032-0000

		Pullout Bracket Assembly

		$110.00



		

		4751

		3" x 3" Tubing

		$66.00



		

		2765020-0000

		Galvanized Stabilizer Bar

		$180.00



		

		2765014-0000

		Galvanized Front Tube Spacer (Box Beam, 8" x 6" x 3/16")

		$105.00



		

		2752024-0000

		1/2" Chain

		$78.00



		

		4720

		Transition Plate

		$470.00



		

		4100

		Replacement Cylinders (Specify material thickness)

		$2,060.00



		

		2765003-0000

		Pin, Restraining, Cable, G

		$22.00



		

		2698021-0100

		Bolt,Hx,1/4x2 1/2,G5,P

		$1.20



		

		2704232-0100

		Nut,Hx,Lock, 1/4,G8,P

		$1.10



		

		

		

		



		

		4314

		350.4 Top Cable (Old Unit)

		$540.00



		

		4316

		350.6 Top Cable (Old Unit)

		$580.00



		

		4319

		350.9 Top Cable (Old Unit) -31'3"

		$920.00



		

		4319

		350 HS Top Cable (Old Unit)

		$920.00



		

		4309

		350 HS Bottom Cable (Old Unit)

		$910.00



		

		2765019-0000

		Weldment, Cable Anchor, Concrete, REACT

		$154.00



		

		 

		 

		





		 

		REACT 350 WIDE -- 60"(1525mm)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		62-B-060

		62 MPH (100km/h), TL-3, 27 Cylinders/14 Rows, 60" (1525mm), w/Self Contained Back-up

		$48,280.00



		

		62-C-060

		62 MPH (100km/h), TL-3, 27 Cylinders/14 Rows, 60" (1525mm), w/Concrete Backup

		$48,280.00



		

		

		

		



		

		Cover Assemblies are not included in the system price, must be ordered separately.

		



		

		3535056-0000

		Debris Cover Assembly, REACT 350, 60" (per system)

		$1,320.00



		

		

		

		



		 

		REACT 350 WIDE -- 96"(2440mm)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		62-B-096

		62 MPH (100km/h), TL-3, 27 Cylinders/14 Rows, 96" (2440mm), w/Self Contained Back-up

		$55,595.00



		

		62-C-096

		62 MPH (100km/h), TL-3, 27 Cylinders/14 Rows, 96" (2440mm), w/Concrete Backup

		$55,595.00



		

		

		

		



		

		Cover Assemblies are not included in the system price, must be ordered separately.

		



		

		3535057-0000

		Debris  Cover Assembly, REACT 350, 96"/120" (per system)

		$1,470.00



		

		

		

		



		 

		REACT 350 WIDE -- 120"(3050mm)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		62-B-120

		62 MPH (100km/h), TL-3, 27 Cylinders/14 Rows, 120" (3050mm), w/Self Contained Back-up

		$63,040.00



		

		62-C-120

		62 MPH (100km/h), TL-3, 27 Cylinders/14 Rows, 120" (3050mm), w/Concrete Backup

		$63,040.00



		

		

		

		



		

		Cover Assemblies are not included in the system price, must be ordered separately.

		



		

		3535057-0000

		Debris  Cover Assembly, REACT 350, 96"/120" (per system)

		$1,470.00



		

		

		

		



		 

		REACT 350 WIDE --60" PARTS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		BACKUP ASSEMBLIES

		



		

		3535074-0000

		Steel Backup Assembly

		$1,930.00



		

		3535064-0000

		Concrete Backup Assembly

		$1,105.00



		

		

		

		



		

		

		

		



		

		

		BAY ASSEMBLIES

		



		

		3535052-0000

		Nose Assy-Cylinder & Diaphragm- Section "A"

		$7,295.00



		

		3535059-0000

		Cylinder & Diaphragm- Section "B"

		$9,230.00



		

		3535060-0000

		Cylinder & Diaphragm- Section "C"

		$5,915.00



		

		3535061-0000

		Cylinder & Diaphragm- Section "D"

		$6,190.00



		

		3535062-0000

		Cylinder & Diaphragm- Section "E"

		$6,190.00



		

		3535063-0000

		Cylinder & Diaphragm- Section "F"

		$6,190.00



		

		3535072-0000

		Cylinder & Diaphragm- Section "G"

		$6,190.00



		

		

		

		



		

		3535058-0000

		Diaphragm Assembly, 60" REACT

		$1,310.00



		

		2765011-0000

		Rail Guide,REACT,G

		$75.00



		

		2699561-0000

		Hex Bolt, 3/4" x 4",G5,G

		$8.40



		

		2704091-0000

		Nut,Hex,3/4",G

		$1.20



		

		2708201-0000

		Lock Washer,3/4,G

		$1.20



		

		

		

		



		 

		REACT 350 WIDE --60" PARTS, cont.



		

		

		

		



		

		

		

		



		

		

		NOSE ASSEMBLIES

		



		

		3535071-4000

		REACT 60" Nose Cover for traffic passing on the left of system

		$275.00



		

		3535071-4000

		REACT 60" Nose Cover for traffic passing on the right of system

		$275.00



		

		3535071-3000

		REACT 60" Nose Cover for traffic passing on both sides of the system

		$275.00



		

		

		

		



		

		

		MONORAIL ASSEMBLIES

		



		

		2760071-0000

		Monorail,3-Bay,G

		$1,090.00



		

		2765056-0000

		Monorail,Front Section React,G

		$755.00



		

		2760041-0000

		Endcap, Monorail, QG, G

		$60.00



		

		3525300-0000

		Anchor Kit, MP-3, 3/4x7,Vertical

		$85.00



		

		2699571-0000

		Bolt,hex, 5/8 x 3 1/2,G5,G

		$3.00



		

		2704141-0000

		Nut,Hex,5/8,G

		$0.50



		

		2708231-0000

		Lock Washer,5/8,G

		$0.40



		

		

		

		



		

		3535032-0000

		Pullout Bracket Assembly

		$148.00



		

		

		Consists of the following:

		



		

		2765053-0000

		Tube,Backing,Pullout

		$41.00



		

		2700911-0000

		Stud, 3/4" x 7-1/2", Grade 5

		$9.60



		

		2704175-0000

		Nut,Eye,3/4",G

		$41.80



		

		2765015-0000

		Flat Bar Steel, 1/2"x4"x4",w/ hole,G

		$7.00



		

		2704341-0000

		Hex Nut,3/4",G,GR DH

		$2.40



		

		2708081-0000

		Washer, Flat, 3/4 x 2,HVY, G

		$1.20



		

		

		

		





		Category N QUADGUARD SYSTEM w/PLASTIC NOSE, 24", 30", 36", 69", 90", 120"



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		QS2401 G or Y

		QuadGuard, 2'0" Wide,1-Bay, (Gray or Yellow)

		$2,640.00



		

		QS3001 G or Y

		QuadGuard, 2'6" Wide,1-Bay, (Gray or Yellow)

		$2,700.00



		

		QS3601 G or Y

		QuadGuard, 3'0" Wide,1-Bay, (Gray or Yellow)

		$2,760.00



		

		

		

		



		

		QS2402 G or Y

		QuadGuard, 2'0" Wide,2-Bay, (Gray or Yellow) TL-1

		$4,955.00



		

		QS3002 G or Y

		QuadGuard, 2'6" Wide,2-Bay, (Gray or Yellow) TL-1

		$5,090.00



		

		QS3602 G or Y

		QuadGuard, 3'0" Wide,2-Bay, (Gray or Yellow) TL-1

		$5,220.00



		

		

		

		



		

		QS2403 G or Y

		QuadGuard, 2'0" Wide,3-Bay, (Gray or Yellow) TL-2

		$6,505.00



		

		QS3003 G or Y

		QuadGuard, 2'6" Wide,3-Bay, (Gray or Yellow) TL-2

		$6,635.00



		

		QS3603 G or Y

		QuadGuard, 3'0" Wide,3-Bay, (Gray or Yellow) TL-2

		$7,020.00



		

		QS6903 G or Y

		QuadGuard, 69" Wide, 3-Bay, (Gray or Yellow) TL-2

		$8,800.00



		

		QS9003 G or Y

		QuadGuard, 90" Wide, 3-Bay, (Gray or Yellow) TL-2

		$9,490.00



		

		

		

		



		

		QS2404 G or Y

		QuadGuard, 2'0" Wide,4-Bay, (Gray or Yellow)

		$9,290.00



		

		QS3004 G or Y

		QuadGuard, 2'6" Wide,4-Bay, (Gray or Yellow)

		$9,565.00



		

		QS3604 G or Y

		QuadGuard, 3'0" Wide,4-Bay, (Gray or Yellow)

		$9,840.00



		

		QS6904 G or Y

		QuadGuard, 69" Wide, 4-Bay, (Gray or Yellow)

		$11,420.00



		

		QS9004 G or Y

		QuadGuard, 90" Wide, 4-Bay, (Gray or Yellow)

		$12,250.00



		

		

		

		



		

		QS2405 G or Y

		QuadGuard, 2'0" Wide,5-Bay, (Gray or Yellow)

		$11,050.00



		

		QS3005 G or Y

		QuadGuard, 2'6" Wide,5-Bay, (Gray or Yellow)

		$11,330.00



		

		QS3605 G or Y

		QuadGuard, 3'0" Wide,5-Bay, (Gray or Yellow)

		$11,590.00



		

		QS6905 G or Y

		QuadGuard, 69" Wide, 5-Bay, (Gray or Yellow)

		$13,420.00



		

		QS9005 G or Y

		QuadGuard, 90" Wide, 5-Bay, (Gray or Yellow)

		$15,150.00



		

		

		

		



		

		QS2406 G or Y

		QuadGuard, 2'0" Wide,6-Bay, (Gray or Yellow) TL-3

		$12,935.00



		

		QS3006 G or Y

		QuadGuard, 2'6" Wide,6-Bay, (Gray or Yellow) TL-3

		$13,330.00



		

		QS3606 G or Y

		QuadGuard, 3'0" Wide,6-Bay, (Gray or Yellow) TL-3

		$13,730.00



		

		QS6906 G or Y

		QuadGuard, 69" Wide, 6-Bay, (Gray or Yellow) TL-3

		$16,805.00



		

		QS9006 G or Y

		QuadGuard, 90" Wide, 6-Bay, (Gray or Yellow) TL-3

		$17,770.00



		

		QS12606G or Y

		QuadGuard, 120" Wide, 6-Bay, (Gray or Yellow) 10° Flared TL-3

		$23,100.00



		

		

		

		



		

		QS2407 G or Y

		QuadGuard, 2'0" Wide,7-Bay, (Gray or Yellow)

		$16,220.00



		

		QS3007 G or Y

		QuadGuard, 2'6" Wide,7-Bay, (Gray or Yellow)

		$16,605.00



		

		QS3607 G or Y

		QuadGuard, 3'0" Wide,7-Bay, (Gray or Yellow)

		$17,135.00



		

		QS6907 G or Y

		QuadGuard, 69" Wide, 7-Bay, (Gray or Yellow)

		$19,700.00



		

		QS9007 G or Y

		QuadGuard, 90" Wide, 7-Bay, (Gray or Yellow)

		$21,080.00





		 

		QUADGUARD SYSTEM w/ PLASTIC NOSE, 24", 30", 36", 69", 90", 120"  (continued)



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		QS2408 G or Y

		QuadGuard, 2'0" Wide,8-Bay, (Gray or Yellow)

		$18,530.00



		

		QS3008 G or Y

		QuadGuard, 2'6" Wide,8-Bay, (Gray or Yellow)

		$19,080.00



		

		QS3608 G or Y

		QuadGuard, 3'0" Wide,8-Bay, (Gray or Yellow)

		$19,630.00



		

		QS6908 G or Y

		QuadGuard, 69" Wide, 8-Bay, (Gray or Yellow)

		$22,220.00



		

		QS9008 G or Y

		QuadGuard, 90" Wide, 8-Bay, (Gray or Yellow)

		$23,570.00



		

		QS2409 G or Y

		QuadGuard, 2'0" Wide,9-Bay, (Gray or Yellow)

		$21,935.00



		

		QS3009 G or Y

		QuadGuard, 2'6" Wide,9-Bay, (Gray or Yellow)

		$22,510.00



		

		QS3609 G or Y

		QuadGuard, 3'0" Wide,9-Bay, (Gray or Yellow)

		$23,185.00



		

		QS6909 G or Y

		QuadGuard, 69" Wide, 9-Bay, (Gray or Yellow)

		$24,675.00



		

		QS9009 G or Y

		QuadGuard, 90" Wide, 9-Bay, (Gray or Yellow)

		$26,050.00



		

		

		

		



		

		

		

		



		

		

		Flex Belt Nose for 24", 30", 36" , add

		$1,490.00



		

		

		Flex Belt Nose for 69", 90", add

		$1,590.00



		

		 

		

		



		

		NOTE: Backups & Transitions NOT included with units; must be ordered separately.

		



		

		*** Nose Assemblies are included with units. The type of Nose, Plastic or Flex-Belt, must be indicated at the time of order placement.

		



		

		

		

		



		 

		QUADGUARD SYSTEM -- BACKUPS, 24", 30", 36", 69", 90", 120"



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		BACKUPS

		



		

		3540031-0000

		Backup Assembly, Tension Strut, 24" wide

		$1,910.00



		

		3540032-0000

		Backup Assembly, Tension Strut, 30" wide

		$1,970.00



		

		3540033-0000

		Backup Assembly, Tension Strut, 36" wide

		$2,040.00



		

		3540391-0000

		Backup Assembly,Tension Strut, 69" wide

		$2,315.00



		

		3540392-0000

		Backup Assembly,Tension Strut 90" wide

		$2,450.00



		

		

		

		



		

		

		

		



		

		3540141-0000

		Backup Assembly, Concrete, 24" wide

		$1,090.00



		

		3540142-0000

		Backup Assembly, Concrete, 30" wide

		$1,150.00



		

		3540143-0000

		Backup Assembly, Concrete, 36" wide

		$1,220.00



		

		3540401-0000

		Backup Assembly, Concrete 69" wide

		$1,500.00



		

		3540402-0000

		Backup Assembly, Concrete 90" wide

		$1,630.00



		

		

		

		



		

		

		

		



		

		3540200-0000

		Deflector Retrofit Assy., F/Con. B-up, QG

		$310.00



		

		

		

		





		 

		 QUADGUARD -- MONORAILS & PARTS, 24", 30", 36", 69", 90", 120"



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		PERMANENT NOSE ASSEMBLY(Plastic)

		



		

		3540050-0000

		Plastic Nose Assembly, Gray, QG, 24", 30", 36"

		$550.00



		

		3540050-0100

		Plastic Nose Assembly, Yellow, QG, 24", 30", 36"

		$550.00



		

		3540131-0000

		Nose Assembly, Gray, QG, 69" or 90"

		$570.00



		

		3540131-0100

		Nose Assembly, Yellow, QG, 69" or 90"

		$570.00



		

		

		

		



		

		

		PERMANENT NOSE ASSEMBLY(Flex Belt)

		



		

		3540499-0000

		Belt Nose Assy. 24",30", Gray,Permanent QG

		$1,490.00



		

		3540499-0100

		Belt Nose Assy. 24",30", Yellow,Permanent QG

		$1,490.00



		

		3540498-0000

		Belt Nose Assy. 36", Gray,Permanent QG

		$1,490.00



		

		3540498-0100

		Belt Nose Assy. 36", Yellow,Permanent QG

		$1,490.00



		

		3540505-0000

		Belt Nose Assy. 90"(8 & 9Bays) Gray, QG

		$1,600.00



		

		3540505-0100

		Belt Nose Assy.  90"(8 & 9Bays) Yellow, QG

		$1,600.00



		

		3540506-0000

		Belt Nose Assy.69"(3-9 Bays) or  90"(3-7 ) Gray, QG

		$1,600.00



		

		3540506-0100

		Belt Nose Assy.69"(3-9 Bays) or 90"(3-7 ) Yellow, QG

		$1,600.00



		

		3540507-0000

		Belt Nose Assy.90" 11 Bay,  Gray

		$1,600.00



		

		3540507-0100

		Belt Nose Assy.90" 11 Bay, Yellow

		$1,600.00



		

		3540508-0000

		Belt Nose Assy.90" 10 Bay, Gray

		$1,600.00



		

		3540508-0100

		Belt Nose Assy.90" 10 Bay, Yellow

		$1,600.00



		

		

		

		



		

		

		MONORAILS

		



		

		3540060-0300

		Monorail Assembly,  3-Bay,QG   

		$1,210.00



		

		3540060-0400

		Monorail Assembly,  4-Bay,QG   

		$1,630.00



		

		3540060-0500

		Monorail Assembly,  5-Bay,QG   

		$2,180.00



		

		3540060-0600

		Monorail Assembly,  6-Bay,QG   

		$2,720.00



		

		3540060-0700

		Monorail Assembly,  7-Bay,QG   

		$3,120.00



		

		3540060-0800

		Monorail Assembly,  8-Bay,QG   

		$3,670.00



		

		3540060-0900

		Monorail Assembly,  9-Bay,QG   

		$4,070.00



		

		

		

		



		

		2760051-0000

		Monorail, 1-Bay, QG, G

		$405.00



		

		2760061-0000

		Monorail, 2-Bay, QG, G

		$815.00



		

		2760071-0000

		Monorail, 3-Bay, QG, G

		$1,090.00



		

		2760041-0000

		Endcap, Monorail, QG, G

		$60.00



		

		2760091-0000

		Monorail Guide, QG, G

		$70.00



		

		

		

		



		

		

		CARTRIDGES

		



		

		3540010-0000

		Cartridge Assembly, Type I, QG

		$610.00



		

		3540020-0000

		Cartridge Assembly, Type II, QG

		$640.00



		

		

		

		



		

		

		DIAPHRAGMS

		



		

		3540071-0000

		Diaphragm Assy, Quad Beam, 24" wide

		$700.00



		

		3540072-0000

		Diaphragm Assy, Quad Beam, 30" wide

		$770.00



		

		3540073-0000

		Diaphragm Assy, Quad Beam, 36" wide

		$830.00





		 

		 QUADGUARD PARTS, 24", 30", 36", 69", 90", 120"



		

		

		PANELS

		



		

		3540040-0000

		Fender Panel Assembly, Quad Beam

		$500.00



		

		

		

		



		

		3540150-0000

		End Shoe, Quad Beam

		$310.00



		

		3540458-0000

		Transition Assy, Side Panel, End Shoe (approx. 3' long extension panel)

		$815.00



		

		

		

		



		

		354018L-0000

		Trans. Panel Assy., 4" Offset, Left

		$600.00



		

		354018R-0000

		Trans. Panel Assy., 4" Offset, Right

		$600.00



		

		354029L-0000

		Trans. Panel Assy., 9" Offset, Left

		$815.00



		

		354029R-0000

		Trans. Panel Assy., 9" Offset, Right

		$815.00



		

		

		

		



		

		354021N-0000

		Trans. Panel, Quad to W-Beam, 24"

		$815.00



		

		354021M-0000

		Trans. Panel, Quad to W-Beam, 30"

		$815.00



		

		354021W-0000

		Trans. Panel, Quad to W-Beam, 36"

		$815.00



		

		

		

		



		

		354022N-0000

		Trans. Panel, Quad to Thrie Beam, 24"

		$815.00



		

		354022M-0000

		Trans. Panel, Quad to Thrie Beam, 30"

		$815.00



		

		354022W-0000

		Trans. Panel, Quad to Thrie Beam, 36"

		$815.00



		

		2760141-0000

		Panel, Side F/Steel & Concrete Backups

		$70.00



		

		

		MISCELLANEOUS

		



		

		2699121-0000

		Bolt, Hex, 3/4" x 2", G8, G

		$3.60



		

		2699341-0000

		Bolt, Rail, 5/8", G

		$2.40



		

		2699571-0000

		Bolt, Hex, 5/8" X 3-1/2", G5, G

		$2.75



		

		2701021-0000

		Bolt, Hex, 3/8" x 1-1/2", G2, G

		$0.45



		

		2704031-0000

		Nut, Hex, 3/8", G

		$0.45



		

		2704191-0000

		Nut, Hex, 5/8", G Rail

		$1.35



		

		2704341-0000

		Hex Nut,3/4",G,GR DH

		$2.40



		

		2708021-0000

		Washer, Flat, 3/8" x 1", G

		$1.20



		

		2708041-0000

		Washer, Lock, 3/8", G

		$0.35



		

		2708231-0000

		Washer, Lock, 5/8", G

		$0.35



		

		2715044-0000

		Spring, Die, 1 1/2 OD X 3/4 x 6, F/69"/90" QG

		$26.40



		

		2760091-0000

		Monorail Guide, QG, G

		$68.50



		

		2760251-0000

		Pull out, bracket

		$10.80



		

		2760292-0000

		Cartridge Support Bracket-Diaphragm

		$31.20



		

		2760293-0000

		Cartridge Support Bracket-Tension Strut Backup

		$33.60



		

		3525130-0000

		Anchor, MP-3 kit, 3/4" x 6-1/2", G5, Horiz.

		$35.00



		

		3525300-0000

		Anchor, MP-3 Kit, 3/4" x 7", G5, Vert.

		$35.00



		

		2706604-0000

		Screw Flat 5/8" x 5" G8, Hex Socket

		$9.60



		

		2708291-0000

		Washer,Flat, 5/8x1 3/4,G

		$1.25



		

		2708841-0000

		Washer, Mushroom, Forged, QG,G

		$28.80



		

		2715343-0000

		Spring Die (replaces part # 2021611-0000 Elastomeric Bushing)

		$7.90



		

		2704141-0000

		Nut, Hex, 5/8", G

		$0.90



		

		These items compose the Mushroom Bolt Assembly for QuadGuard, 24", 30" & 36".

		 



		

		

		

		





		 

		QUADGUARD  69", 90", 120" PARTS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		PANELS

		



		

		3540150-0000

		End shoe, Quad Beam

		$310.00



		

		3540458-0000

		Transition Assy, Side Panel, End Shoe

		$815.00



		

		3540370-0000

		Fender Panel Assembly, Quad Beam F/ 69" / 90"

		$600.00



		

		3540211-0000

		Trans. Panel, Quad-W/Beam,F/Tens. Strut B/U,69/90

		$800.00



		

		3540212-0000

		Trans. Panel, Quad-W/Beam,F/ Conc. B/U,69/90

		$600.00



		

		3540221-0000

		Trans. Panel, Quad-Thrie,F/Tens. Strut B/U,69/90

		$620.00



		

		3540222-0000

		Trans. Panel, Quad-Thrie, F/Conc. B/U,69/90

		$815.00



		

		354042L-0000

		Trans. Panel Assy., 4" Offset, left, F/ 69/90"

		$600.00



		

		354042R-0000

		Trans. Panel Assy., 4" Offset, right, F/ 69/90"

		$600.00



		 

		2708841-0000

		Washer, Mushroom, Forged, QG,G

		$30.00



		

		2706605-0000

		Screw Flat, 5/8 x 81/2 Hex

		$12.00



		

		2715044-0000

		Spring Die 1 1/2" O.D.

		$25.00



		 

		2704191-0000

		Nut, Hex, 5/8", G Rail

		$1.30



		

		The above (4) items compose the Mushroom Bolt Assembly for QuadGuard, 69/90 units.

		



		

		2760573-0000

		Universal Hinge Plate(replaces 2760435-0000)

		$55.00



		

		

		

		



		

		

		DIAPHRAGM ASSEMBLIES

		



		

		3540340-0673

		Diaphragm Assembly, QG, 673MM

		$960.00



		

		3540340-0753

		Diaphragm Assembly, QG, 753MM

		$980.00



		

		3540340-0833

		Diaphragm Assembly, QG, 833MM

		$1,010.00



		

		3540340-0913

		Diaphragm Assembly, QG, 913MM

		$1,055.00



		

		3540340-0993

		Diaphragm Assembly, QG, 993MM

		$1,080.00



		

		3540340-1073

		Diaphragm Assembly, QG, 1073MM

		$1,140.00



		

		3540340-1153

		Diaphragm Assembly, QG, 1153MM

		$1,165.00



		

		3540340-1233

		Diaphragm Assembly, QG, 1233MM

		$1,175.00



		

		3540340-1273

		Diaphragm Assembly, QG, 1273MM

		$1,200.00



		

		3540340-1313

		Diaphragm Assembly, QG, 1313MM

		$1,210.00



		

		3540340-1393

		Diaphragm Assembly, QG, 1393MM

		$1,225.00



		

		3540340-1473

		Diaphragm Assembly, QG, 1473MM

		$1,235.00



		

		3540340-1513

		Diaphragm Assembly, QG, 1513MM

		$1,250.00



		

		3540340-1553

		Diaphragm Assembly, QG, 1553MM

		$1,260.00



		

		3540340-1633

		Diaphragm Assembly, QG, 1633MM

		$1,295.00



		

		3540340-1729

		Diaphragm Assembly, QG, 1729MM

		$1,330.00



		

		3540340-1793

		Diaphragm Assembly, QG, 1793MM

		$1,355.00



		

		3540340-1873

		Diaphragm Assembly, QG, 1873MM

		$1,380.00



		

		3540340-1953

		Diaphragm Assembly, QG, 1953MM

		$1,400.00



		

		3540340-2033

		Diaphragm Assembly, QG, 2033MM

		$1,430.00



		

		

		

		





		 

		QUADGUARD "CZ" SYSTEM on a PLATE



		 

		QUADGUARD CZ SYSTEM - (Construction Zone)-Plastic Nose

		 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		QZ2403P G or Y

		QuadGuard, 2'0" Wide,3-Bay, Work Zone(Gray or Yellow) Plastic

		$10,180.00



		

		QZ3003P G or Y

		QuadGuard, 2'6" Wide,3-Bay, Work Zone(Gray or Yellow) Plastic

		$10,470.00



		

		QZ3603P G or Y

		QuadGuard, 3'0" Wide,3-Bay, Work Zone(Gray or Yellow) Plastic

		$10,900.00



		

		

		

		



		

		QZ2404P G or Y

		QuadGuard, 2'0" Wide,4-Bay, Work Zone(Gray or Yellow) Plastic

		$12,470.00



		

		QZ3004P G or Y

		QuadGuard, 2'6" Wide,4-Bay, Work Zone(Gray or Yellow) Plastic

		$12,900.00



		

		QZ3604P G or Y

		QuadGuard, 3'0" Wide,4-Bay, Work Zone(Gray or Yellow) Plastic

		$13,330.00



		

		

		

		



		

		QZ2405P G or Y

		QuadGuard, 2'0" Wide,5-Bay, Work Zone(Gray or Yellow) Plastic

		$14,520.00



		

		QZ3005P G or Y

		QuadGuard, 2'6" Wide,5-Bay, Work Zone(Gray or Yellow) Plastic

		$14,950.00



		

		QZ3605P G or Y

		QuadGuard, 3'0" Wide,5-Bay, Work Zone(Gray or Yellow) Plastic

		$16,020.00



		

		

		

		



		

		QZ2406P G or Y

		QuadGuard, 2'0" Wide,6-Bay, Work Zone(Gray or Yellow) Plastic

		$17,200.00



		

		QZ3006P G or Y

		QuadGuard, 2'6" Wide,6-Bay, Work Zone(Gray or Yellow) Plastic

		$17,780.00



		

		QZ3606P G or Y

		QuadGuard, 3'0" Wide,6-Bay, Work Zone(Gray or Yellow) Plastic

		$18,350.00



		

		

		

		



		

		QZ2407P G or Y

		QuadGuard, 2'0" Wide,7-Bay, Work Zone(Gray or Yellow) Plastic

		$19,780.00



		

		QZ3007P G or Y

		QuadGuard, 2'6" Wide,7-Bay, Work Zone(Gray or Yellow) Plastic

		$20,360.00



		

		QZ3607P G or Y

		QuadGuard, 3'0" Wide,7-Bay, Work Zone(Gray or Yellow) Plastic

		$21,070.00



		

		

		

		



		

		QZ2408P G or Y

		QuadGuard, 2'0" Wide,8-Bay, Work Zone(Gray or Yellow) Plastic

		$22,460.00



		

		QZ3008P G or Y

		QuadGuard, 2'6" Wide,8-Bay, Work Zone(Gray or Yellow) Plastic

		$22,940.00



		

		QZ3608P G or Y

		QuadGuard, 3'0" Wide,8-Bay, Work Zone(Gray or Yellow) Plastic

		$23,660.00



		

		

		

		



		

		QZ2409P G or Y

		QuadGuard, 2'0" Wide,9-Bay, Work Zone(Gray or Yellow) Plastic

		$24,800.00



		

		QZ3009P G or Y

		QuadGuard, 2'6" Wide,9-Bay, Work Zone(Gray or Yellow) Plastic

		$25,520.00



		

		QZ3609P G or Y

		QuadGuard, 3'0" Wide,9-Bay, Work Zone(Gray or Yellow) Plastic

		$26,380.00



		

		

		

		



		

		3540499-0100

		  Belt Nose Assy. 24",30", Yellow,Permanent QG

		$1,490.00



		

		

		

		



		

		NOTE: Above Prices Include PLASTIC NOSE ASSEMBLY

		



		

		Sales Order will display a separate line item for the nose assembly at no charge

		



		

		NOTE: Transitions NOT included with units; must be ordered seperately

		



		

		

		

		





		 

		QUADGUARD "CZ" RETRO-FIT KITS



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3540281-0300

		Backup Assy, CZ, 24, Portable, QG, 3-Bay

		$3,530.00



		

		

		     (includes 24" backup, monorail, plate, & 20 anchors)

		



		

		3540282-0300

		Backup Assy, CZ, 30, Portable, QG, 3-Bay

		$3,600.00



		

		

		     (includes 30" backup, monorail, plate, & 20 anchors)

		



		

		3540283-0300

		Backup Assy, CZ, 36, Portable, QG, 3-Bay

		$3,670.00



		

		

		     (includes 36" backup, monorail, plate, & 20 anchors)

		



		

		

		

		



		

		3540281-0600

		Backup Assy, CZ, 24, Portable, QG, 6-Bay

		$5,290.00



		

		

		     (includes 24" backup, monorail, plate, & 30 anchors)

		



		

		3540282-0600

		Backup Assy, CZ, 30, Portable, QG, 6-Bay

		$5,350.00



		

		

		     (includes 30" backup, monorail, plate, & 30 anchors)

		



		

		3540283-0600

		Backup Assy, CZ, 36, Portable, QG, 6-Bay

		$5,420.00



		

		

		     (includes 36" backup, monorail, plate, & 30 anchors)

		



		

		

		

		



		

		3540281-0900

		Backup Assy, CZ, 24, Portable, QG, 9-Bay

		$7,040.00



		

		

		     (includes 24" backup, monorail, plate & 40 anchors)

		



		

		3540282-0900

		Backup Assy, CZ, 30, Portable, QG, 9-Bay

		$7,110.00



		

		

		     (includes 30" backup, monorail, plate & 40 anchors)

		



		

		3540283-0900

		Backup Assy, CZ, 36, Portable, QG, 9-Bay

		$7,180.00



		

		

		     (includes 36" backup, monorail, plate & 40 anchors)

		



		

		

		

		



		 

		 QUADGUARD "CZ" PARTS 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		PLASTIC "CZ" NOSE ASSEMBLY

		



		

		354005Z-0000

		Plastic Nose Assembly, Gray, QG  CZ

		$550.00



		

		354005Z-0100

		Plastic Nose Assembly, Yellow, QG, CZ

		$550.00



		

		

		

		



		

		

		FLEXIBLE BELT "CZ" NOSE ASSEMBLY

		



		

		354051Z-0000

		Belt Nose Assembly, Gray, QZ, 24" & 30"

		$1,490.00



		

		354051Z-0100

		Belt Nose Assembly, Yellow, QZ, 24" & 30"

		$1,490.00



		

		354052Z-0000

		Belt Nose Assembly, Gray, QZ, 36"

		$1,490.00



		

		354052Z-0100

		Belt Nose Assembly, Yellow, QZ, 36"

		$1,490.00



		

		

		

		



		

		3540260-0000

		PCMB Anchor Assy.(Portable Concrete Median Barrier)

		$635.00



		

		

		

		



		

		

		CZ PORTABLE LIFTING KITS

		



		

		

		

		



		

		3540233-0000

		CZ , Portable Lifting Kit, 1, 2 or 3-Bay System on a Plate

		$400.00



		

		3540236-0000

		CZ, Portable Lifting Kit, 4, 5 or 6-Bay System on a Plate

		$590.00



		

		3540239-0000

		CZ, Portable Lifting Kit, 7, 8 or 9-Bay System on a Plate

		$740.00



		

		 

		 

		 



		

		

		DRIVABLE PILE ANCHORS

		



		

		

		

		



		

		3540700-0300

		Drivable Pile Anchor Assy, 3-Bay

		$1,230.00



		

		3540700-0600

		Drivable Pile Anchor Assy, 4 thru 6-Bay

		$1,850.00



		

		3540700-0900

		Drivable Pile Anchor Assy, 7 thru 9-Bay

		$2,460.00



		 

		QUADTREND 350



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		QT350ESY

		QuadTrend, w/ Endshoe, Yellow

		$4,120.00



		

		QT350ESG

		QuadTrend, w/ Endshoe, Gray

		$4,120.00



		

		QT350TY

		QuadTrend, w/out Transition,Yellow

		$3,410.00



		

		QT350TG

		QuadTrend, w/out Transition,Gray

		$3,410.00



		

		850206L-0000

		Transition Assembly, 4" Left

		$695.00



		

		850206R-0000

		Transition Assembly, 4" Right

		$695.00



		 

		QUADTREND 350 PARTS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		2760081-0000

		Fender Panel, Quad Beam F/36"/69"/90"

		$485.00



		

		2760273-0000

		Quadtrend Endshoe,Panel

		$520.00



		

		2756011-0000

		Post #1

		$135.00



		

		2756021-0000

		Post #2

		$125.00



		

		2756111-0000

		Base, Slip (Post #1, #2, #3, #4, #5, #6)

		$125.00



		

		2708841-0000

		Washer, Mushroom, Forged, QG,G

		$30.00



		

		2020941-0000

		Container, Sand, 150 lbs

		$80.00



		

		2020951-0000

		Container, Sand, 100 lbs

		$70.40



		

		2701381-0000

		Bolt, Hex, 3/4"x 2", Grade 2, G

		$4.20



		

		2760504-0000

		Clamp, Belt, LMC

		$19.00



		

		2756291-0000

		Strap, Back, 78 1/8"

		$70.80



		

		2756331-0000

		Strap, Back, System to Barrier,88, QT-350

		$70.80



		

		2756341-0000

		Strap, Pivot, QT-350

		$14.50



		

		2756141-0000

		Strap, Pivot,Mushroom Bolt

		$14.50



		

		2756081-0000

		Plate Bolt Keeper

		$15.60



		

		2756351-0000

		Spacer, Tube, QT-350

		$14.50



		

		2704031-0300

		Nut, Hx, 3/8. S

		$0.50



		

		2701731-0000

		Bolt, Flat, 5/8" x 3" Grade 8, Allen Socket,G

		$6.00



		

		2708291-0000

		Washer,Flat, 5/8x1 3/4,G

		$1.20



		

		2704141-0000

		Nut, HX, 5/8", G

		$0.50



		

		2699341-0000

		Bolt, Rail, 5/8, G

		$2.40



		

		2704191-0000

		Nut, HX, 5/8", G, Rail

		$1.50



		

		2699081-0500

		Bolt, HX, 5/8 x 1 1/2, G5, G

		$3.00



		

		2701651-0000

		Bolt, Hex, 3/4" x 1-1/2" Grade 2, G

		$3.00



		

		2701621-0000

		Bolt, Hex, 3/4" x 2-1/2", Grade 2, G

		$1.20



		

		2704091-0000

		Nut, HX, 3/4, G

		$1.20



		

		2708081-0000

		Washer, Flat, 3/4 x 2,HVY, G

		$1.20



		

		2701021-0300

		Bolt, HX, 3/8 x 1 1/2, G2, S

		$1.45



		

		2708321-0300

		Washer, Flat, 3/8" x 1-1/2", S

		$1.45



		

		2742181-0000

		Cable, Redirecting, 300

		$430.00



		

		2753251-0000

		Anchor, Cable, Stud End

		$310.00



		

		

		

		





		Category N1  QUADGUARD  LMC SYSTEMS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		QS3611L G or Y

		QuadGuard LMC 36", Wide, w/out Backup

		$49,075.00



		

		

		

		



		

		QS6911L G or Y

		QuadGuard LMC 69", Wide, w/out Backup

		$55,060.00



		

		

		

		



		

		QS9011L G or Y

		QuadGuard LMC 90", Wide, w/out Backup

		$60,780.00



		

		

		

		



		

		

		

		



		

		

		

		



		

		

		BACKUPS

		



		

		3540452-0000

		Backup assembly, tension strut 36"

		$2,185.00



		

		3540393-0000

		Backup assembly, tension strut 69"

		$2,315.00



		

		3540395-0000

		Backup assembly, tension strut 90"

		$2,445.00



		

		

		

		



		

		

		

		



		

		

		CYLINDERS

		



		

		3509642-0000

		Cylinder assembly, 2Q 36"

		$1,355.00



		

		3509643-0000

		Cylinder assembly, 3Q 36"

		$1,355.00



		

		3509644-0000

		Cylinder assembly, 4Q 36"

		$3,480.00



		

		3509645-0000

		Cylinder assembly, 5Q 36"

		$3,480.00



		

		

		

		



		

		

		

		



		

		3509640-0000

		Cylinder assembly, 2Q 90"

		$1,355.00



		

		3509641-0000

		Cylinder assembly, 2Q 69"

		$1,355.00



		

		3509643-0000

		Cylinder assembly, 3Q 69/90"

		$1,355.00



		

		3509644-0000

		Cylinder assembly, 4Q 69/90"

		$3,480.00



		

		3509645-0000

		Cylinder assembly, 5Q 69/90"

		$3,480.00



		

		

		

		



		

		

		

		



		

		

		NOSE ASSEMBLY

		



		

		3540451-0*

		Nose Assembly, 36" w/ cylinder,bkts & hardware

		$4,595.00



		

		3540459-0*

		Nose Assembly, 69" w/ cylinder,bkts & hardware

		$4,870.00



		

		3540457-0*

		Nose Assembly, 90" w/ cylinder, bkts & hardware

		$4,870.00



		

		2718042-0*

		Nose Belt,   Y or G F/ 36"

		$1,115.00



		

		2718044-0*

		Nose Belt,   Y or G F/ 69"

		$1,200.00



		

		2718043-0*

		Nose Belt,   Y or G F/ 90"

		$1,200.00



		

		2021183-0000

		Cylinder Rubber Nose, 36"/69"/90"

		$1,266.00



		

		

		

		



		

		

		

		



		

		

		PANELS

		



		

		3540040-0000

		Fender Panel Assembly, Quad Beam-36"

		$525.00



		

		2760081-0000

		Fender Panel, Quad Beam F/36"/69"/90"

		$540.00



		

		3540472-0000

		Fender Panel Assembly, Quad Beam-69"/90"

		$670.00



		

		* Denotes 0000-Grey, or 0100 Yellow

		



		

		

		

		



		 

		QUADGUARD  LMC PARTS

		 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		MONORAILS

		



		

		3540060-1000

		Monorail Assembly, 10-Bay,QG

		$4,595.00



		

		

		

		 



		

		2760071-0000

		Monorail  3-Bay,QG

		$1,090.00



		

		

		

		 



		

		

		MISCELLANEOUS

		 



		

		2760505-0000

		Plate clamp, outer cylinder, G

		$53.00



		

		2760506-0000

		Plate clamp, spacer outer cylinder, G-Spacer, Bay 1, 2, & 3 (2 REQ.)

		$145.00



		

		2753091-0000

		Plate clamp, inner cylinder, G (2 REQ.)

		$15.00



		

		2698223-0000

		Rod threaded, 1/2 x 7, G5, G

		$6.00



		

		2699171-0000

		Rod threaded, 1/2 x 5 3/4, G5, G

		$5.00



		

		2699161-0000

		Rod threaded, 1/2 x 10 1/4, G5, G

		$8.00



		

		2699181-0000

		Rod threaded, 1/2 x 13, G5, G

		$10.00



		

		2699191-0000

		Rod threaded, 1/2 x 15 3/4, G5, G

		$11.00



		

		2699391-0000

		Rod threaded, 1/2 x 9 G5, G

		$6.00



		

		3540455-0000

		Chain Assembly, 5-11, 36"

		$53.00



		

		2760504-0000

		Clamp, Belt,LMC

		$20.00



		

		2021482-0000

		Nose Support, LMC

		$105.00



		

		2753301-0000

		Leg Nose Support, LMA

		$38.00



		

		2753071-0000

		Plate,Nose Cylinder,G

		$13.00



		

		2760251-0000

		Bracket,Pull Out, QG

		$10.00



		

		2760507-0000

		Shim,Nose Clamp,G

		$5.00



		

		2704011-0000

		Nut,Hx,1/2,G

		$1.20



		

		2704851-0000

		Nut,Hx,Coupling 5/8-11 x 2 1/8,G

		$5.00



		

		2708181-0000

		Washer,Lock,1/2,G

		$1.20



		

		2708011-0000

		Washer,Flat,1/2x 1 3/8,G5,G

		$1.20



		

		2708291-0000

		Washer,Flat, 5/8x1 3/4,G

		$1.20



		

		2701994-0000

		Bolt,Hx,5/8 x 5,G5,G All Thread

		$6.00



		

		2698241-0000

		Bolt,Hx,5/8 x 2 1/4,G8,G

		$5.00



		

		2700031-0000

		Bolt,Hx,1/2 x 6,G2,G

		$2.40



		

		2699841-0000

		Bolt,Hx,5/8 x 1-1/4,G

		$3.60



		

		

		

		



		 

		QUADGUARD LMC DIAPHRAGM ASSY.'S



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3540453-0000

		Diaphragm Assembly, QG LMC (Bay 1-11), 36"

		$1,020.00





		Category N2  QUADGUARD LMC DIAPHRAGM ASSY.'S -- 69"



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3540342-0753

		Diaphragm Assembly, QG LMC, 753MM

		$1,115.00



		

		3540342-0833

		Diaphragm Assembly, QG LMC, 833MM

		$1,140.00



		

		3540342-0913

		Diaphragm Assembly, QG LMC, 913MM

		$1,175.00



		

		3540342-0993

		Diaphragm Assembly, QG LMC, 993MM

		$1,210.00



		

		3540342-1073

		Diaphragm Assembly, QG LMC, 1073MM

		$1,295.00



		

		3540342-1153

		Diaphragm Assembly, QG LMC, 1153MM

		$1,310.00



		

		3540342-1233

		Diaphragm Assembly, QG LMC, 1233MM

		$1,330.00



		

		3540342-1313

		Diaphragm Assembly, QG LMC, 1313MM

		$1,370.00



		

		3540342-1393

		Diaphragm Assembly, QG LMC, 1393MM

		$1,380.00



		

		3540342-1473

		Diaphragm Assembly, QG LMC, 1473MM

		$1,390.00



		

		3540342-1553

		Diaphragm Assembly, QG LMC, 1553MM

		$1,405.00



		

		

		

		



		 

		QUADGUARD LMC -- DIAPHRAGM ASSY.'S -- 90"



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3540345-1233

		Diaphragm Assembly, QG LMC, 1233MM

		$1,330.00



		

		3540345-1313

		Diaphragm Assembly, QG LMC, 1313MM

		$1,370.00



		

		3540345-1393

		Diaphragm Assembly, QG LMC, 1393MM

		$1,380.00



		

		3540345-1473

		Diaphragm Assembly, QG LMC, 1473MM

		$1,390.00



		

		3540342-1553

		Diaphragm Assembly, QG LMC, 1553MM

		$1,400.00



		

		3540342-1633

		Diaphragm Assembly, QG LMC, 1633MM

		$1,440.00



		

		3540342-1729

		Diaphragm Assembly, QG LMC, 1729MM

		$1,475.00



		

		3540342-1793

		Diaphragm Assembly, QG LMC, 1793MM

		$1,500.00



		

		3540342-1873

		Diaphragm Assembly, QG LMC, 1873MM

		$1,525.00



		

		3540342-1953

		Diaphragm Assembly, QG LMC, 1953MM

		$1,535.00



		

		3540342-2033

		Diaphragm Assembly, QG LMC, 2033MM

		$1,560.00



		

		

		

		





		Category O QUADGUARD  ELITE 24", 30", 36", 69", 90" SYSTEMS & PARTS



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		QS2407E G or Y

		QuadGuard,ELITE 2'0" Wide 7-Bay (Gray or Yellow) TL-2

		$22,080.00



		

		QS3007E G or Y

		QuadGuard,ELITE 2'6" Wide 7-Bay (Gray or Yellow) TL-2

		$22,080.00



		

		QS3607E G or Y

		QuadGuard,ELITE 3'0" Wide 7-Bay (Gray or Yellow) TL-2

		$22,080.00



		

		QS6907E G or Y

		QuadGuard, ELITE, 69" Wide, 7-Bay (Gray or Yellow) TL-2

		$30,720.00



		

		QS9007E G or Y

		QuadGuard, ELITE, 90" Wide, 7-Bay (Gray or Yellow) TL-2

		$36,575.00



		

		

		

		



		

		QS2411E G or Y

		QuadGuard,ELITE 2'0" Wide 11-Bay (Gray or Yellow) TL-3

		$34,210.00



		

		QS3011E G or Y

		QuadGuard,ELITE2'6" Wide 11-Bay (Gray or Yellow) TL-3

		$34,210.00



		

		QS3611E G or Y

		QuadGuard,ELITE 3'0" Wide 11-Bay (Gray or Yellow) TL-3

		$34,210.00



		

		QS6911E G or Y

		QuadGuard, ELITE, 69" Wide, 11-Bay (Gray or Yellow) TL-3

		$36,575.00



		

		QS9011E G or Y

		QuadGuard, ELITE, 90" Wide, 11-Bay (Gray or Yellow) TL-3

		$46,680.00



		

		

		

		



		

		QS2414E G or Y

		QuadGuard,ELITE 2'0" Wide 14-Bay(Gray or Yellow)

		$42,930.00



		

		QS3014E G or Y

		QuadGuard,ELITE2'6" Wide 14-Bay(Gray or Yellow)

		$42,930.00



		

		QS3614E G or Y

		QuadGuard,ELITE 3'0" Wide 14-Bay(Gray or Yellow)

		$42,930.00



		

		

		

		



		

		NOTE: Backups & Transitions NOT included with units; must be ordered separately.



		

		

		BACKUPS

		



		

		3540484-0000

		Backup Assembly, Tension Strut, 24" wide, Elite 

		$1,905.00



		

		3540485-0000

		Backup Assembly, Tension Strut, 30" wide, Elite

		$1,970.00



		

		3540486-0000

		Backup Assembly, Tension Strut, 36" wide, Elite 

		$2,040.00



		

		3540396-0000

		Backup Assembly, Tension Strut, 69" wide, ELITE

		$2,315.00



		

		3540397-0000

		Backup Assembly, Tension Strut, 90" wide, ELITE

		$2,450.00



		

		

		

		



		

		

		NARROW NOSE ASSEMBLY

		



		

		3540495-0000

		Elite Belt Nose Assy., 24" & 30", Gray  

		$2,760.00



		

		3540495-0100

		Elite Belt Nose Assy., 24" & 30", Yellow 

		$2,760.00



		

		3540504-0000

		Elite Belt Nose Assy., 36", Gray  

		$2,760.00



		

		3540504-0100

		Elite Belt Nose Assy., 36", Yellow 

		$2,760.00



		

		3540502-0100

		Elite Belt Nose Assy., 69" 7 Bay, Yellow

		$3,020.00



		

		3540503-0100

		Elite Belt Nose Assy., 90" 7 Bay, Yellow

		$3,020.00



		

		3540496-0100

		Elite Belt Nose Assy., 69" 11 Bay, Yellow

		$3,020.00



		

		3540497-0100

		Elite Belt Nose Assy., 90" 11 Bay, Yellow

		$3,020.00



		

		

		

		



		

		

		CYLINDER ASSEMBLY

		



		

		3540480-0000

		Cylinder Assy,Elite,QE1

		$1,775.00



		

		3540479-0000

		Cylinder Assy,Elite,QE2

		$2,450.00



		

		

		

		



		

		

		PANELS

		



		

		3540472-00000

		Fender Panel Assy, QG, LMC/QGE, 69/90

		$670.00



		

		

		

		



		

		

		DIAPHRAGMS

		



		

		3540487-0000

		QuadGuard Elite, Diaphragm, 24"

		$875.00



		

		3540488-0000

		QuadGuard Elite, Diaphragm, 30"

		$950.00



		

		3540489-0000

		QuadGuard Elite, Diaphragm, 36"

		$1,020.00





		 

		QUADGUARD  ELITE 24", 30", 36", 69", 90" SYSTEMS & PARTS, (continued)



		

		

		7 BAY ELITE, 69" SYSTEM, DIAPHRAGMS

		



		

		3540501-1073

		Diaphragm Assembly, QG Elite, 1073MM

		$1,280.00



		

		3540501-1153

		Diaphragm Assembly, QG Elite, 1153MM

		$1,295.00



		

		3540501-1233

		Diaphragm Assembly, QG Elite, 1233MM

		$1,330.00



		

		3540342-1313

		Diaphragm Assembly, QG Elite/LMC, 1313MM

		$1,365.00



		

		3540342-1393

		Diaphragm Assembly, QG Elite, 1393MM

		$1,355.00



		

		3540342-1473

		Diaphragm Assembly, QG Elite, 1473MM

		$1,380.00



		

		3540342-1553

		Diaphragm Assembly, QG Elite, 1553MM

		$1,405.00



		

		

		

		



		

		

		7 BAY ELITE, 90" SYSTEM, DIAPHRAGMS

		



		

		3540501-0993

		Diaphragm Assembly, QG Elite/LMC, 993MM

		$1,210.00



		

		3540501-1153

		Diaphragm Assembly, QG Elite, 1153MM

		$1,295.00



		

		3540342-1313

		Diaphragm Assembly, QG Elite/LMC, 1313MM

		$1,365.00



		

		3540342-1473

		Diaphragm Assembly, QG Elite, 1473MM

		$1,380.00



		

		3540342-1633

		Diaphragm Assembly, QG Elite, 1633MM

		$1,440.00



		

		3540342-1793

		Diaphragm Assembly, QG Elite, 1793MM

		$1,500.00



		

		3540342-1953

		Diaphragm Assembly, QG Elite, 1953MM

		$1,535.00



		

		

		

		



		

		

		11 BAY ELITE, 69" SYSTEM, DIAPHRAGMS

		



		

		3540501-0753

		Diaphragm Assembly, QG Elite, 753MM

		$1,115.00



		

		3540501-0833

		Diaphragm Assembly, QG Elite, 833MM

		$1,140.00



		

		3540501-0913

		Diaphragm Assembly, QG Elite, 913MM

		$1,175.00



		

		3540501-0993

		Diaphragm Assembly, QG Elite/LMC, 993MM

		$1,210.00



		

		3540342-1073

		Diaphragm Assembly, QG Elite/LMC, 1073MM

		$1,295.00



		

		3540342-1153

		Diaphragm Assembly, QG Elite/LMC, 1153MM

		$1,305.00



		

		3540342-1233

		Diaphragm Assembly, QG Elite/LMC, 1233MM

		$1,330.00



		

		3540342-1313

		Diaphragm Assembly, QG Elite/LMC, 1313MM

		$1,365.00



		

		3540342-1393

		Diaphragm Assembly, QG Elite/LMC, 1393MM

		$1,380.00



		

		3540342-1473

		Diaphragm Assembly, QG Elite/LMC, 1473MM

		$1,390.00



		

		3540342-1553

		Diaphragm Assembly, QG Elite/LMC, 1553MM

		$1,405.00



		

		

		

		



		

		

		11 BAY ELITE, 90" SYSTEM, DIAPHRAGMS

		



		

		3540501-1233

		Diaphragm Assembly, QG Elite, 1233MM

		$1,330.00



		

		3540501-1313

		Diaphragm Assembly, QG Elite, 1313MM

		$1,365.00



		

		3540501-1393

		Diaphragm Assembly, QG Elite, 1393MM

		$1,380.00



		

		3540342-1473

		Diaphragm Assembly, QG Elite/LMC, 1473MM

		$1,390.00



		

		3540342-1553

		Diaphragm Assembly, QG Elite/LMC, 1553MM

		$1,405.00



		

		3540342-1633

		Diaphragm Assembly, QG Elite/LMC, 1633MM

		$1,440.00



		

		3540342-1729

		Diaphragm Assembly, QG Elite/LMC, 1729MM

		$1,475.00



		

		3540342-1793

		Diaphragm Assembly, QG Elite/LMC, 1793MM

		$1,500.00



		

		3540342-1873

		Diaphragm Assembly, QG Elite/LMC, 1873MM

		$1,520.00



		

		3540342-1953

		Diaphragm Assembly, QG Elite/LMC, 1953MM

		$1,535.00



		

		3540342-2033

		Diaphragm Assembly, QG Elite/LMC, 2033MM

		$1,560.00





		Category P ENERGITE III--INERTIAL BARRIER SYSTEM         



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		2731191-0100

		ENERGITE-III, 640 kg (1400lb) Container Only

		$230.00



		

		

		 

		



		

		2731201-0000

		ENERGITE-III,  90 kg/180kg (200/400lb) Inner Cone  

		$30.00



		

		

		 

		



		

		2731271-0000

		ENERGITE-III, 320 kg (700lb) Inner Cone

		$30.00



		

		

		 

		



		

		2731241-0200

		ENERGITE-III, Lid only

		$30.00



		

		

		

		



		

		2731261-0100

		ENERGITE-III, 960 kg Container Only, (2100lb)

		$230.00



		

		

		

		



		

		NOTE:

		All containers are YELLOW.            All lids are BLACK.

		



		

		

		

		



		

		

		



		

		

		

		



		

		

		

		



		 

		 UNIVERSAL--INERTIAL BARRIER SYSTEM         



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		 

		 

		



		

		2200

		Yellow Wall Half

		$120.00



		

		

		

		



		

		2510

		Zip Strip, Yellow, with Hole

		$3.50



		

		

		

		



		

		2520

		Zip Strip, Yellow, without Hole

		$3.50



		

		  

		 

		



		

		2300

		Lid

		$30.00



		

		 

		 

		



		

		2400

		Unicore

		$10.00



		

		 

		 

		



		

		Parts:

		

		



		

		

		

		



		

		2727188-0000

		Universal Module Lifting Beam Assembly

		$310.00



		

		

		

		



		

		2727314-0000

		Pin, T-Handle Assembly

		$22.00



		

		

		

		



		

		

		





		Category R TRITON CET



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		Triton CET TL2  

		Triton Concrete End Treatment TL-2 Complete, including: 

		$6,930.00



		

		

		2 Orange Triton Barrier Sections, 3 White Triton Barrier Sections; Triton TL-3 End Treatment; Triton PCMB Transition and pin; attaching hardware.

		 



		

		

		

		



		

		Triton CET TL3  

		Triton Concrete End Treatment TL-3 Complete, including: 

		$7,623.00



		

		

		2 Orange Triton Barrier Sections, 3 White Triton Barrier Sections; 10 Triton TL-3 Kits; Triton TL-3 End Treatment; Triton PCMB Transition and pin; attaching hardware.

		



		

		

		

		



		 

		TRITON CET, parts



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		3595400-0000

		Triton Concrete End Treatment 

		$2,460.00



		

		

		(does not include required 6 sections of Triton)

		



		

		

		

		



		

		3595020-0000

		Triton Barrier Section Assembly TL-2 (6-1/2 ft. section) WHITE

		$640.00



		

		

		

		



		

		3595020-0100

		Triton Barrier Section Assembly TL-2 (6-1/2 ft. section) ORANGE

		$640.00



		

		

		

		



		

		3595351-0000

		Triton Pedestals(TL-3 KIT)

		$105.00



		

		

		

		



		

		2795481-0000

		Pin, Connecting, Triton (included in Triton Section Assembly)

		$66.00



		

		

		

		



		

		2727231-0000

		Triton Pin Removing Tool - Long (1/2" x 5" x 12")

		$28.40



		

		

		

		



		

		2727241-0000

		Triton Pin Removing Tool - Short (1/2" x 5" x 6")

		$22.70



		

		

		

		



		

		2795081-0000

		Valve,Gate,Quick Release (included in Triton Section Assembly)

		$27.20



		

		

		

		



		

		2795071-0000

		Cable, Tension, Triton (included in Triton Section Assembly)

		$55.00



		

		

		

		



		

		2021402-0000

		Plug/Cap, Plastic, 5", w/Hole (included in Triton Section Assembly)

		$4.10



		

		2795281-0000

		Nylon Tie for pedestals

		$1.30



		

		

		

		



		

		3595220-0000

		Transition Assy, Triton to Concrete Median Barrier

		$1,160.00



		

		

		

		



		

		3595200-0000

		Transition Assy, Triton to W-Beam Guardrail

		$1,290.00



		

		

		

		



		

		3595210-0000

		Transition Assy, Tri-to-ThrieBeam Guardrail

		$1,230.00





		Category U  THE N-E-A-T SYSTEM 



		

		

		

		



		

		Model/Part#

		Product/Description

		



		

		

		

		



		

		

		Test Level 1

		



		

		N-E-A-T 1B

		TL-1 Cartridge, backup support structure

		$5,245.00



		

		

		backup, transition panels, and attachment

		



		

		

		hardware for Barrier Systems (BSI) barrier

		



		

		

		

		



		

		N-E-A-T 1C

		TL-1Cartridge, backup support structure,

		$5,100.00



		

		

		backup, transition panels, and attachment

		



		

		

		hardware for "New Jersey" PCMB 

		



		

		

		

		



		

		

		Test Level 2

		



		

		N-E-A-T 2B

		TL-2 Cartridge, backup support structure,

		$5,390.00



		

		

		backup, transition panels and attachment

		



		

		

		hardware for Barrier System (BSI) barrier

		



		

		

		

		



		

		N-E-A-T 2C           

		TL-2 Cartridge, backup support structure,

		$5,390.00



		

		

		backup, transition panels, and attachment

		



		

		

		hardware for "New Jersey" PCMB

		



		

		

		

		



		 

		THE N-E-A-T SYSTEM, parts 



		

		

		

		



		

		3577111-0000       

		BSI Barrier backup support structure,

		$2,270.00



		

		                              

		includes backup, transition panels and

		



		

		

		attachment hardware

		



		

		

		

		



		

		3577051-0000

		 ''New Jersey'' PCMB backup support structure,

		$2,270.00



		

		

		includes backup, transition panels, and

		



		

		

		attachment hardware

		



		

		

		

		



		

		3577040-0000

		TL-1 Cartridge

		$2,975.00



		

		

		

		



		

		3577020-0000

		TL-2 Cartridge

		$4,825.00



		

		

		

		



		

		3577180-0000

		Nose Assy, Neat, Yellow

		$360.00





		National Baricade





Awarded Categories: P, Q, and V

		                 Category "P":  Inertial Barriers (Type-1  40 MPH or Less) (See Section 3.3.4 Specifications)





BIDDING CATEGORY "P” _(__ Yes   _____ No
Annual Estimated Usage:
5 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: TrafFix Devices


$_1600.00_/Per Type-1 System  


BRAND/MODEL: Big Sandy

Discount from Manufacturer's Suggested








Parts Price List __0____%



Recyclable Content: ____0_____ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)



		                Category "P":  Inertial Barriers (Type-2  45 MPH) (See Section 3.3.4 Specifications)





BIDDING CATEGORY "P” _(__ Yes   _____ No
Annual Estimated Usage:
5 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: TrafFix Devices


$__2050.00_/Per Type-2 System  


BRAND/MODEL: Big Sandy

Discount from Manufacturer's Suggested








Parts Price List __0____%



Recyclable Content: ____0_____ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)



		                Category "P":  Inertial Barriers (Type-3  50 MPH) (See Section 3.3.4 Specifications)





BIDDING CATEGORY "P” _(__ Yes   _____ No
Annual Estimated Usage:
5 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: TrafFix Devices


$__2270.00_/Per Type-3 System  


BRAND/MODEL: Big Sandy

Discount from Manufacturer's Suggested








Parts Price List ___0___%



Recyclable Content: _____0____ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)



National Baricade

		                 Category "P":  Inertial Barriers (Type-4  55 MPH) (See Section 3.3.4 Specifications)





BIDDING CATEGORY "P” _(__ Yes   _____ No
Annual Estimated Usage:
5 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: TrafFix Devices


$_2570.00_/Per Type-4 System  


BRAND/MODEL: Big Sandy

Discount from Manufacturer's Suggested








Parts Price List ___0___%



Recyclable Content: ____0_____ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)



		                Category "P":  Inertial Barriers (Type-5  60 MPH) (See Section 3.3.4 Specifications)





BIDDING CATEGORY "P” _(__ Yes   _____ No
Annual Estimated Usage:
5 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:





MFG: TrafFix Devices


$_2960.00_/Per Type-5 System  


BRAND/MODEL: Big Sandy

Discount from Manufacturer's Suggested








Parts Price List ___0___%



Recyclable Content: ____0_____ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)



		                Category "P":  Inertial Barriers (Type-6   70 MPH) (See Section 3.3.4 Specifications)





BIDDING CATEGORY "P” _(__ Yes   _____ No
Annual Estimated Usage:
5 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: TrafFix Devices


$_3622.00_/Per Type-6 System  


BRAND/MODEL: Big Sandy

Discount from Manufacturer's Suggested








Parts Price List ___0___%



Recyclable Content: ____0_____ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)



National Baricade

Category "P":  Inertial Barriers


Parts & Accessories




[image: image1.emf]Part No. Description


Unit of 


Measure Price


48247-S Barrel Only, 200# / 400# / 700# Roto Molded Half Barrel ea $107.00


48247-P Pedestal Only, Roto Molded Half Barrel ea $107.00


48140 Barrel Only, 1400# ea $176.55


48210 Barrel Only, 2100# ea $179.25


48000 Lid Only ea $44.15


48001-LR Aluminum Lifting Ring ea $963.00




Category "Q":  SC1 100 & 70 GM


		Category "Q":  SC1 100 GM (See Section 3.3.4 Specifications)





BIDDING CATEGORY "Q” __(__ Yes   _____ No

Annual Estimated Usage:
5 Systems









Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Work Area Protection


$_15,876.00_/Per System 

BRAND/MODEL: SCI 100 GM w/Concrete Anchors
Discount from Manufacturer's Suggested








Parts Price List __16__%



Recyclable Content: ___N/A__ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)




		Category "Q":  SC1 100 GM (See Section 3.3.4 Specifications)





BIDDING CATEGORY "Q” __(__ Yes   _____ No

Annual Estimated Usage:
5 Systems









Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Work Area Protection


$_16,116.00_/Per System 

BRAND/MODEL: SCI 100 GM w/Asphalt Anchors
Discount from Manufacturer's Suggested








Parts Price List __16__%



Recyclable Content: ___N/A___ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)



National Baricade

Category "Q":  SC1 70 GM


		Category "Q":  SC1 70 GM (See Section 3.3.4 Specifications)





BIDDING CATEGORY "Q” __(__ Yes   _____ No

Annual Estimated Usage:
5 Systems









Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Work Area Protection


$_14,784.00_/Per System 

BRAND/MODEL: SCI 70 GM w/Concrete Anchors
Discount from Manufacturer's Suggested








Parts Price List __16__%



Recyclable Content: ___N/A__ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)




		Category "Q":  SC1 70 GM (See Section 3.3.4 Specifications)





BIDDING CATEGORY "Q” __(__ Yes   _____ No

Annual Estimated Usage:
5 Systems









Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Work Area Protection


$_14964.00_/Per System 

BRAND/MODEL: SCI 70 GM w/Asphalt Anchors
Discount from Manufacturer's Suggested








Parts Price List __16__%



Recyclable Content: ___N/A___ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)


National Baricade

Category "Q":  SC1 70 & 100 GM Parts Price List


Note: Only SCI 100 Parts authorized for this contract



[image: image2.emf]Part 


No. Description


Qty Per 


Unit 


TL2/TL3


Unit of 


Measure Price


9401Bolt Concrete Anchor 3/4" X 7"  TL3     *( Included in P/N 9400 ) * KIT/48 pcs. $288.00


9402Bolt Asphalt Anchor 3/4" x 18"  TL3     *( Included in P/N 9450 )  * KIT/48 pcs. $888.00


9453Bolt Concrete Anchor 3/4" X 7"  TL2    **( Included in P/N 9451 ) ** KIT/34 pcs. $204.00


9454Bolt Asphalt Anchor 3/4" x 18"  TL2     **( Included in P/N 9452 )  ** KIT/34 pcs. $627.00


9403Bolt Cable Adjuster     1 EACH $126.00


9404Bolt Sled Side Panel    8 EACH $6.00


9405Bolt Front Stop           2 EACH $3.00


9406Bolt Shear                   2 EACH $0.75


9407Bolt Side Guide           12 EACH $21.00


9408Bolt Terminal Brace     4 EACH $9.00


9409Brace Terminal            1 EACH $417.00


9410Cable - 1-1/8" with Spelter Socket  TL3   1 EACH $1,002.00


9455Cable - 1-1/8" with Spelter Socket  TL2   1 EACH $885.00


9411Clip Wire Rope   TL2 & TL3         4 EACH $36.00


9412Cylinder Shock Arresting   TL3                   1 EACH $3,120.00


9445Cylinder Shock Arresting   TL2                   1 EACH $3,105.00


9413Strap Cylinder    TL2 & TL3        1 EACH $87.00


9414Frame Mobile #1   TL3      0/1 EACH $417.00


9415Frame Mobile #2   TL3           0/1 EACH $417.00


9416Frame Mobile #3   TL3        0/1 EACH $417.00


9417Frame Mobile #4   TL2 & TL3       1 EACH $417.00


9418Frame Mobile #5   TL2 & TL3       1 EACH $417.00


9419Frame Mobile #6   TL2 & TL3 1 EACH $417.00


9420Guide Side  TL2 & TL3                6/12 EACH $78.00


9421Keeper Side #1  (Sled Panels)  TL2 & TL3         4 EACH $24.00


9422Keeper Side #2  (Side Panels)  TL2 & TL3            8/20 EACH $24.00


9423Keeper Side #3  (Rear Panels)   TL2 & TL3         4 EACH $24.00


9424Panel Delineator (Painted Yellow)  TL3          0/1 EACH $75.00


9456Panel Delineator (Painted Yellow)  TL2          1/0 EACH $69.00


9425Panel Side  TL2 & TL3                   4/10 EACH $195.00


9426Panel Sled                   2 EACH $375.00


9427Panel Rear                   2 EACH $180.00


9428Sheave (Pulley)                        6 EACH $81.00


9429Sled (with guide rollers)  24"  TL3                            0/1 EACH $1,917.00


9457Sled (with guide rollers)  24"  TL2                            1/0 EACH $1,917.00


9430Tape Delineator    (Optional)           O EACH 0


9439Epoxy 22 oz. Cartridge     ***   *** EACH $28.95


9440Nozzle Epoxy Mixing        *** *** EACH $3.00


9441Dispenser Epoxy O EACH $179.85


9443Boot Cylinder 1 EACH $60.00


9444Spare Parts Kit  TL3 O EACH $4,348.50


9458Spare Parts Kit  TL2 O EACH $3,091.50




National Baricade

Category "Q":  SC1 70 & 100 GM Parts Price List


Note: Only SCI 100 Parts authorized for this contract


Transitions and Transition Parts 



[image: image3.emf]Part 


No. Description


Qty Per 


Unit 


TL2/TL3


Unit of 


Measure Price


9431Transition  Jersey Barrier - Right  O EACH $1,315.95


9432Transition  Jersey Barrier - Left   O EACH $1,315.95


9433Transition  24" Concrete - Left & Right O EACH $751.95


9437Transition  Thrie & W Beam - Right       O EACH $1,059.00


9438Transition  Thrie & W Beam - Left       O EACH $1,059.00


9459Transition Assembly 30" Concrete Straight Connection O EACH $2,412.00


9460Transition Assembly 36" Concrete Straight Connection O EACH $4,053.00


9461Transition Assembly 30" Concrete Outside Connection O EACH $3,987.00


9462Transition Assembly 36" Concrete Outside Connection O EACH $4,860.00


9463Transition 30" Concrete Straight Connection O EACH $792.00


9464Transition36" Concrete Straight Connection O EACH $1,200.00


9465Transition 30" Concrete Outside Connection O EACH $1,191.00


9466Transition 36" Concrete Outside Connection O EACH $1,215.00


9467Transition  Thrie & W Beam 10 Degree Flare - Right       O EACH $1,110.00


9468Transition  Thrie & W Beam 10 Degree Flare - Left       O EACH $1,110.00


9469Transition Concrete Spanner Brace O EACH $675.00


9470Transition Concrete #1 Tapered Spanner Brace O EACH $771.00


9471Transition Concrete #2 Tapered Spanner Brace O EACH $801.00


9472Transition Gore Tapered #1 Spanner Brace O EACH $504.00


9473Transition Gore Tapered #2 Spanner Brace O EACH $528.00


9474Thrie Beam Concrete Leg Brace O EACH $366.00


O = Optional        Revised 1-20-05




National Baricade

Category "V":  Sorpion TMA

		Category "V":  Scorpion TMA  (See Section 3.3.4 Specifications)





BIDDING CATEGORY "Q” __(__ Yes   _____ No

Annual Estimated Usage:
5 Systems









Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Traffic Systems


$_14,892.50_/Per System 

BRAND/MODEL: Scorpian







Discount from Manufacturer's Suggested








Parts Price List __0__%



Recyclable Content: ___ ___ %

Freight Represents __3__% of this Category


 (Per Section III, paragraph 11)



ZUMAR INDUSTRIES

		Category "W":   Universal TAU II (See Section 3.3.4 Specifications) 50 KPH





BIDDING CATEGORY "W” __X___ Yes   _____ No
Annual Estimated Usage:
2 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Barrier Systems Inc.

                    BRAND/MODEL: Universal TAU II


Discount from Manufacturer's Suggested


Parts Price List ___0___%



Recyclable Content: ___0______ %

Freight Represents ___6___% of this Category


 (Per Section III, paragraph 11)



List Cost for Speed and backstop Range: (add additional lines for additional speed and backstops ranges) 

 


Posted Speed: 50 kph
Backstop Width: PCB*

Part Number: 30T050PBC  $ Per System: $5,031.00


Posted Speed: 50 kph   
Backstop Width:  PCB CB**
Part Number: 30T050CBC  $ Per System: $6,724.00


Posted Speed: 50 kph       
Backstop Width: PCB* 36”
Part Number: 36T050PBC  $ Per System: $5,454.00


Posted Speed: 50 kph     
  Backstop Width: CB** 36”
Part Number: 36T050CBC  $ Per System: $7,146.00


Posted Speed: 50 kph   
 Backstop Width: 42”

Part Number: 42T050WBC  $ Per System: $7,569.00


Posted Speed: 50 kph       
Backstop Width: 48”

Part Number: 48T050WBC  $ Per System: $7,569.00


Posted Speed: 50 kph   
Backstop Width: 54”

Part Number: 54T050WBC $ Per System: $8,923.00


Posted Speed: 50 kph
Backstop Width: 60”

 Part Number: 60T050WBC $ Per System: $8,923.00


* PORTABLE CONCRETE BARRIER


** COMPACT BACKSTOP


TRANSITIONS NOT INCLUDED


ZUMAR INDUSTRIES

		Category "W1":   Universal TAU II (See Section 3.3.4 Specifications) 60 KPH





BIDDING CATEGORY "W1” __X___ Yes   _____ No
Annual Estimated Usage:
2 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Barrier Systems Inc.

                    BRAND/MODEL: Universal TAU II


Discount from Manufacturer's Suggested


Parts Price List ___0___%



Recyclable Content: ___0______ %

Freight Represents ___6___% of this Category


 (Per Section III, paragraph 11)



List Cost for Speed and backstop Range: (add additional lines for additional speed and backstops ranges) 

 


Posted Speed: 60 kph
Backstop Width: PCB*

Part Number: 30T060PBC  $ Per System: $6,554.00


Posted Speed: 60 kph   
Backstop Width:  PCB CB**
Part Number: 30T060CBC  $ Per System: $8,246.00


Posted Speed: 60 kph       
Backstop Width: PCB* 36”
Part Number: 36T060PBC  $ Per System: $6,977.00


Posted Speed: 60 kph     
  Backstop Width: CB** 36”
Part Number: 36T060CBC  $ Per System: $8,670.00


Posted Speed: 60 kph   
 Backstop Width: 42”

Part Number: 42T060WBC  $ Per System: $9,262.00


Posted Speed: 60 kph       
Backstop Width: 48”

Part Number: 48T060WBC  $ Per System: $9,262.00


Posted Speed: 60 kph   
Backstop Width: 54”

Part Number: 54T060WBC $ Per System: $10,615.00


Posted Speed: 60 kph
Backstop Width: 60”

 Part Number: 60T060WBC $ Per System: $10,615.00


Posted Speed: 60 kph       
Backstop Width: 66”

Part Number:  66T060WBC  $ Per System: $10,615.00


Posted Speed: 60 kph   
Backstop Width: 72”

Part Number: 72T060WBC $ Per System: $10,615.00


Posted Speed: 60 kph
Backstop Width: 78”

 Part Number: 78T060WBC $ Per System: $10,615.00


* PORTABLE CONCRETE BARRIER


** COMPACT BACKSTOP


TRANSITIONS NOT INCLUDED


ZUMAR INDUSTRIES

		Category "W2":   Universal TAU II (See Section 3.3.4 Specifications) 70 KPH





BIDDING CATEGORY "W2” __X___ Yes   _____ No
Annual Estimated Usage:
3 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Barrier Systems Inc.

                    BRAND/MODEL: Universal TAU II


Discount from Manufacturer's Suggested


Parts Price List ___0___%



Recyclable Content: ___0______ %

Freight Represents ___6___% of this Category


 (Per Section III, paragraph 11)



List Cost for Speed and backstop Range: (add additional lines for additional speed and backstops ranges) 

 


Posted Speed: 70 kph
Backstop Width: PCB*

Part Number: 30T070PBC  $ Per System: $8,077.00


Posted Speed: 70 kph   
Backstop Width:  PCB CB**
Part Number: 30T070CBC  $ Per System: $9,770.00


Posted Speed: 70 kph       
Backstop Width: PCB* 36”
Part Number: 36T070PBC  $ Per System: $8,500.00


Posted Speed: 70 kph     
  Backstop Width: CB** 36”
Part Number: 36T070CBC  $ Per System: $10,193.00


Posted Speed: 70 kph   
 Backstop Width: 42”

Part Number: 42T070WBC  $ Per System: $10,954.00


Posted Speed: 70 kph       
Backstop Width: 48”

Part Number: 48T070WBC  $ Per System: $10,954.00


Posted Speed: 70 kph   
Backstop Width: 54”

Part Number: 54T070WBC $ Per System: $12,308.00


Posted Speed: 70 kph
Backstop Width: 60”

 Part Number: 60T070WBC $ Per System: $12,308.00


Posted Speed: 70 kph       
Backstop Width: 66”

Part Number:  66T070WBC  $ Per System: $12,308.00


Posted Speed: 70 kph   
Backstop Width: 72”

Part Number: 72T070WBC $ Per System: $12,308.00


Posted Speed: 70 kph
Backstop Width: 78”

 Part Number: 78T070WBC $ Per System: $13,323.00


Posted Speed: 70 kph       
Backstop Width: 84”

Part Number:  84T070WBC  $ Per System: $13,323.00


Posted Speed: 70 kph   
Backstop Width: 90”

Part Number: 90T070WBC $ Per System: $13,323.00


Posted Speed: 70 kph
Backstop Width: 96”

 Part Number: 96T070WBC $ Per System: $13,323.00


* PORTABLE CONCRETE BARRIER


** COMPACT BACKSTOP


TRANSITIONS NOT INCLUDED


ZUMAR INDUSTRIES

		Category "W3":   Universal TAU II (See Section 3.3.4 Specifications) 80 KPH





BIDDING CATEGORY "W3” __X___ Yes   _____ No
Annual Estimated Usage:
4 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Barrier Systems Inc.

                    BRAND/MODEL: Universal TAU II


Discount from Manufacturer's Suggested


Parts Price List ___0___%



Recyclable Content: ___0______ %

Freight Represents ___6___% of this Category


 (Per Section III, paragraph 11)



List Cost for Speed and backstop Range: (add additional lines for additional speed and backstops ranges) 

 


Posted Speed: 80 kph
Backstop Width: PCB*

Part Number: 30T080PBC  $ Per System: $9,600.00


Posted Speed: 80 kph   
Backstop Width:  PCB CB**
Part Number: 30T080CBC  $ Per System: $11,292.00


Posted Speed: 80 kph       
Backstop Width: PCB* 36”
Part Number: 36T080PBC  $ Per System: $10,023.00


Posted Speed: 80 kph     
  Backstop Width: CB** 36”
Part Number: 36T080CBC  $ Per System: $11,716.00


Posted Speed: 80 kph   
 Backstop Width: 42”

Part Number: 42T080WBC  $ Per System: $12,138.00


Posted Speed: 80 kph       
Backstop Width: 48”

Part Number: 48T080WBC  $ Per System: $12,138.00


Posted Speed: 80 kph   
Backstop Width: 54”

Part Number: 54T080WBC $ Per System: $13,831.00


Posted Speed: 80 kph
Backstop Width: 60”

 Part Number: 60T080WBC $ Per System: $13,831.00


Posted Speed: 80 kph       
Backstop Width: 66”

Part Number:  66T080WBC  $ Per System: $13,831.00


Posted Speed: 80 kph   
Backstop Width: 72”

Part Number: 72T080WBC $ Per System: $14,846.00


Posted Speed: 80 kph
Backstop Width: 78”

 Part Number: 78T080WBC $ Per System: $14,846.00


Posted Speed: 80 kph       
Backstop Width: 84”

Part Number:  84T080WBC  $ Per System: $14,846.00


Posted Speed: 80 kph   
Backstop Width: 90”

Part Number: 90T080WBC $ Per System: $15,692.00


Posted Speed: 80 kph
Backstop Width: 96”

 Part Number: 96T080WBC $ Per System: $15,692.00


* PORTABLE CONCRETE BARRIER


** COMPACT BACKSTOP


TRANSITIONS NOT INCLUDED


ZUMAR INDUSTRIES

		Category "W4":   Universal TAU II (See Section 3.3.4 Specifications) 90 KPH





BIDDING CATEGORY "W4” __X___ Yes   _____ No
Annual Estimated Usage:
3 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Barrier Systems Inc.

                    BRAND/MODEL: Universal TAU II


Discount from Manufacturer's Suggested


Parts Price List ___0___%



Recyclable Content: ___0______ %

Freight Represents ___5___% of this Category


 (Per Section III, paragraph 11)



List Cost for Speed and backstop Range: (add additional lines for additional speed and backstops ranges) 

 


Posted Speed: 90 kph
Backstop Width: PCB*

Part Number: 30T090PBC  $ Per System: $13,154.00


Posted Speed: 90 kph   
Backstop Width:  PCB CB**
Part Number: 30T090CBC  $ Per System: $14,846.00


Posted Speed: 90 kph       
Backstop Width: PCB* 36”
Part Number: 36T090PBC  $ Per System: $13,577.00


Posted Speed: 90 kph     
  Backstop Width: CB** 36”
Part Number: 36T090CBC  $ Per System: $15,269.00


Posted Speed: 90 kph   
 Backstop Width: 42”

Part Number: 42T090WBC  $ Per System: $15,523.00


Posted Speed: 90 kph       
Backstop Width: 48”

Part Number: 48T090WBC  $ Per System: $15,523.00


Posted Speed: 90 kph   
Backstop Width: 54”

Part Number: 54T090WBC $ Per System: $17,215.00


Posted Speed: 90 kph
Backstop Width: 60”

 Part Number: 60T090WBC $ Per System: $17,215.00


Posted Speed: 90 kph       
Backstop Width: 66”

Part Number:  66T090WBC  $ Per System: $17,215.00


Posted Speed: 90 kph   
Backstop Width: 72”

Part Number: 72T090WBC $ Per System: $17,215.00


Posted Speed: 90 kph
Backstop Width: 78”

 Part Number: 78T090WBC $ Per System: $17,215.00


Posted Speed: 90 kph       
Backstop Width: 84”

Part Number:  84T090WBC  $ Per System: $17,215.00


Posted Speed: 90 kph   
Backstop Width: 90”

Part Number: 90T090WBC $ Per System: $18,569.00


Posted Speed: 90 kph
Backstop Width: 96”

 Part Number: 96T090WBC $ Per System: $18,569.00


* PORTABLE CONCRETE BARRIER


** COMPACT BACKSTOP


TRANSITIONS NOT INCLUDED


ZUMAR INDUSTRIES

		Category "W5":   Universal TAU II (See Section 3.3.4 Specifications) 100 KPH





BIDDING CATEGORY "W5” __X___ Yes   _____ No
Annual Estimated Usage:
2 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Barrier Systems Inc.

                    BRAND/MODEL: Universal TAU II


Discount from Manufacturer's Suggested


Parts Price List ___0___%



Recyclable Content: ___0______ %

Freight Represents ___5___% of this Category


 (Per Section III, paragraph 11)



List Cost for Speed and backstop Range: (add additional lines for additional speed and backstops ranges) 

 


Posted Speed: 100 kph
Backstop Width: PCB*

Part Number: 30T100PBC  $ Per System: $14,930.00


Posted Speed: 100 kph   
Backstop Width:  PCB CB**
Part Number: 30T100CBC  $ Per System: $16,623.00


Posted Speed: 100 kph     
Backstop Width: PCB* 36”
Part Number: 36T100PBC  $ Per System: $15,354.00


Posted Speed: 100 kph     
  Backstop Width: CB** 36”
Part Number: 36T100CBC  $ Per System: $16,877.00


Posted Speed: 100 kph   
 Backstop Width: 42”

Part Number: 42T100WBC  $ Per System: $16,877.00


Posted Speed: 100 kph     
Backstop Width: 48”

Part Number: 48T100WBC  $ Per System: $16,877.00


Posted Speed: 100 kph   
Backstop Width: 54”

Part Number: 54T100WBC $ Per System: $18,569.00


Posted Speed: 100 kph
Backstop Width: 60”

 Part Number: 60T100WBC $ Per System: $18,569.00


Posted Speed: 100 kph     
Backstop Width: 66”

Part Number:  66T100WBC  $ Per System: $18,569.00


Posted Speed: 100 kph   
Backstop Width: 72”

Part Number: 72T100WBC $ Per System: $19,415.00


Posted Speed: 100 kph
Backstop Width: 78”

 Part Number: 78T100WBC $ Per System: $19,415.00


Posted Speed: 100 kph     
Backstop Width: 84”

Part Number:  84T100WBC  $ Per System: $19,415.00


Posted Speed: 100 kph   
Backstop Width: 90”

Part Number: 90T100WBC $ Per System: $21,107.00


Posted Speed: 100 kph
Backstop Width: 96”

 Part Number: 96T100WBC $ Per System: $21,107.00


* PORTABLE CONCRETE BARRIER


** COMPACT BACKSTOP


TRANSITIONS NOT INCLUDED


ZUMAR INDUSTRIES

		Category "W6":   Universal TAU II (See Section 3.3.4 Specifications) 110 KPH





BIDDING CATEGORY "W6” __X___ Yes   _____ No
Annual Estimated Usage:
2 Systems








Annual Estimated Usage:
$2,000.00 Parts


FOR PRODUCT BID STATE:




MFG: Barrier Systems Inc.

                    BRAND/MODEL: Universal TAU II


Discount from Manufacturer's Suggested


Parts Price List ___0___%



Recyclable Content: ___0______ %

Freight Represents ___5___% of this Category


 (Per Section III, paragraph 11)



List Cost for Speed and backstop Range: (add additional lines for additional speed and backstops ranges) 

 


Posted Speed: 110 kph
Backstop Width: PCB*

Part Number: 30T110PBC  $ Per System: $18,485.00


Posted Speed: 110 kph   
Backstop Width:  PCB CB**
Part Number: 30T110CBC  $ Per System: $20,642.00


Posted Speed: 110 kph     
Backstop Width: PCB* 36”
Part Number: 36T110PBC  $ Per System: $18,808.00


Posted Speed: 110 kph     
  Backstop Width: CB** 36”
Part Number: 36T110CBC  $ Per System: $21,066.00


Posted Speed: 110 kph   
 Backstop Width: 42”

Part Number: 42T110WBC  $ Per System: $21,107.00


Posted Speed: 110 kph     
Backstop Width: 48”

Part Number: 48T110WBC  $ Per System: $21,107.00


Posted Speed: 110 kph   
Backstop Width: 54”

Part Number: 54T110WBC $ Per System: $21,615.00


Posted Speed: 110 kph
Backstop Width: 60”

 Part Number: 60T110WBC $ Per System: $21,615.00


Posted Speed: 110 kph     
Backstop Width: 66”

Part Number:  66T110WBC  $ Per System: $21,615.00


Posted Speed: 110 kph   
Backstop Width: 72”

Part Number: 72T110WBC $ Per System: $21,615.00


Posted Speed: 110 kph
Backstop Width: 78”

 Part Number: 78T110WBC $ Per System: $21,615.00


Posted Speed: 110 kph     
Backstop Width: 84”

Part Number:  84T110WBC  $ Per System: $21,615.00


Posted Speed: 110 kph   
Backstop Width: 90”

Part Number: 90T110WBC $ Per System: $22,800.00


Posted Speed: 110 kph
Backstop Width: 96”

 Part Number: 96T110WBC $ Per System: $22,800.00


Posted Speed: 110 kph
Backstop Width: 102”

 Part Number: 102T110WBC $ Per System: $25,338.00


* PORTABLE CONCRETE BARRIER


** COMPACT BACKSTOP


TRANSITIONS NOT INCLUDED


ZUMAR INDUSTRIES

UNIVERSAL TAU-II CRASH CUSHION    Parts Price List

		1

		Adapter Assy. 36" Backstop

		B031201

		$207.00



		2

		Anchoring Package - Large Universal

		K001022

		$472.00



		3

		Anchoring Package - Small Universal

		K001023

		$310.00



		4

		Anchoring Package - PCB Backstop

		K001006

		$196.00



		5

		Anchoring Package - Compact Backstop

		K001006

		$196.00



		6

		Anchoring Package - PCB Asphalt 

		B020415

		$1,496.00



		7

		Anchoring Replacement Nuts & Bolts For B020415

		K001009

		$400.00



		8

		Anchoring Package - Compact Asphalt

		B020414

		$1,956.00



		9

		Anchoring Replacement Nuts & Bolts For B020414

		K001007

		$676.00



		10

		Backing Plate Assembly

		B031035

		$10.00



		11

		Backstop, Wide Flange  

		B030668

		$1,036.00



		12

		Bckstop Blockout

		B030713

		$354.00



		13

		Backstop, PCB

		B040425

		$574.00



		14

		Backstop, Compact

		B010537

		$2,700.00



		15

		Bulkhead Mount Bracket

		B031010

		$28.00



		16

		Bumper Plate Assy..

		B031035

		$40.00



		17

		Cable 2 Bay Compact

		B011024

		$714.00



		18

		Cable 3 Bay Compact

		B011023

		$756.00



		19

		Cable 4 Bay Compact

		B010917

		$804.00



		20

		Cable 5 Bay Compact

		B011022

		$832.00



		21

		Cable 6 Bay Compact

		B011021

		$860.00



		22

		Cable 7 Bay Compact

		B011020

		$900.00



		23

		Cable 8 Bay Compact

		B010916

		$940.00



		24

		Cable 9 Bay Compact

		B011019

		$990.00





ZUMAR INDUSTRIES

UNIVERSAL TAU-II CRASH CUSHION    Parts Price List

		25

		Cable 10 Bay Compact

		B011018

		$1,050.00



		26

		Cable 11 Bay Compact

		B020765

		$1,100.00



		27

		Cable 12 Bay Compact

		B020766

		$1,160.00



		28

		Cable 2 Bay Universal / Wide

		B034100

		$886.00



		29

		Cable 3 Bay Universal / Wide

		B034101

		$918.00



		30

		Cable 4 Bay Universal / Wide

		B034102

		$952.00



		31

		Cable 5 Bay Universal / Wide

		B034103

		$988.00



		32

		Cable 6 Bay Universal / Wide

		B034104

		$1,028.00



		33

		Cable 7 Bay Universal / Wide

		B034105

		$1,054.00



		34

		Cable 8 Bay Universal / Wide

		B034106

		$1,086.00



		35

		Cable 9 Bay Universal / Wide

		B034107

		$1,120.00



		36

		Cable 10 Bay Universal / Wide

		B034108

		$1,146.00



		37

		Cable 11 Bay Universal / Wide

		B034109

		$1,190.00



		38

		Cable 12 Bay Universal / Wide

		B034110

		$1,226.00



		39

		Cable Guide Assembly Kit  (2 ea.)

		K001004

		$276.00



		40

		Cable Guide Mount

		B030411

		$34.00



		41

		Energy Absorbing Cartridge, Type A

		B010802

		$412.00



		42

		Energy Absorbing Cartridge, Type B

		B010722

		$412.00



		43

		EAC Locator Tab

		B031112

		$11.00



		44

		End Panel

		B010659

		$100.00



		45

		Front Cable Anchor Compact

		B010248

		$392.00



		46

		Front Cable Anchor Univerasal Wide

		B030935

		$352.00



		47

		Front Collision Plate

		B030801

		$62.00



		48

		Front Support Assembly

		B010530

		$806.00





ZUMAR INDUSTRIES

UNIVERSAL TAU-II CRASH CUSHION    Parts Price List

		49

		Front Support Leg Kit  (2 ea.)

		K001005

		$126.00



		50

		Lateral Cable Assembly

		B031034

		$50.00



		51

		Lateral Support Mount

		B031011

		$82.00



		52

		Level Spacer

		B030551

		$5.00



		53

		Mid Support Assembly

		B030703

		$1,036.00



		54

		Mid Support Lower Leg Weldment

		B030425

		$130.00



		55

		Nose Piece    (Parallel)   W / Mt. Hdwr.

		K001020

		$504.00



		56

		Nose Piece    (Parallel)

		B010711

		$425.00



		57

		Nose Piece,   (Parallel)   Mounting Hardware

		K001013

		$80.00



		58

		Nose Piece    (Wide )   W / Mt. Hdwr.

		K001029

		$710.00



		59

		Nose Piece    (Wide)

		B030902

		$604.00



		60

		Nose Piece,   (Wide)    Mounting Hardware

		K001033

		$106.00



		61

		Pipe Panel Mount

		B010651

		$140.00



		62

		Pipe Panel Mounting Hardware

		K001017

		$42.00



		63

		Rear Cable Anchor ( Backstop ) Universal

		B031020

		$518.00



		64

		Rear Cable Anchor ( Ind ) Universal

		B030938

		$596.00



		65

		Rear Cable Anchor - Compact "R"

		B010929

		$402.00



		66

		Rear Cable Anchor - Compact "L"

		B011041

		$402.00



		67

		Sliding Bolt Assembly Kit  (4 ea.)

		K001003

		$160.00



		68

		Sliding Panel

		B010202

		196



		69

		Spacer ( Wing Brace )

		B030823

		$22.00



		70

		Transition Wing Weldment

		B030911

		$162.00



		71

		Wing Assembly

		B030509

		$406.00



		72

		Wing Brace

		B030821

		$34.00





ZUMAR INDUSTRIES

UNIVERSAL TAU-II CRASH CUSHION    Parts Price List

		73

		XL Bulkhead

		B030521

		$514.00



		74

		XXL Bulkhead

		B030528

		$840.00



		75

		XXXL Bulkhead

		B030529

		$1,136.00



		76

		XXXXL Bulkhead

		B030532

		$1,552.00



		

		

		

		



		1

		JJ Hook Adapter

		B040221

		$598.00



		2

		End Panel, Angled 

		B040203

		$198.00



		3

		Flush Mount Backstop

		B040219

		$1,480.00



		4

		Flush Mount Front Anchor

		B040412

		$344.00



		5

		Flush Mount 30"- 36" Adapter

		B031201

		$216.00



		6

		Compact Backstop Brace to PCB on Asphalt

		B040319

		$198.00



		7

		2 1/8" Cable Socket

		B040233

		$120.00



		8

		3 1/8" Cable Socket

		B040234

		$130.00





PRODUCT/SERVICE PERFORMANCE REPORT


Complete this form to report problems with suppliers or to report unsatisfactory product or services.  You are also encouraged to report superior performance.  Suppliers should be contacted by agency personnel in an effort to resolve problems themselves prior to completion and submission of this report.


Contract or Purchase Order & Requisition number:  
00805 – Impact Attenuators






Supplier’s name:  




 Supplier’s representative:  





PRODUCT/SERVICE:


(  Contract item quality higher than required.



(  Damaged goods delivered.


(  Contract item quality lower than required.



(  Item delivered does not meet 


(  Other:  







      P.O./contract specifications.


SUPPLIER/CONTRACTOR PERFORMANCE:


(  Late delivery.







(  Incorrect invoice pricing.


(  Slow response to problems and problem resolution.


(  Superior performance.


(  Other:  








CONTRACT PROVISIONS:


(  Terms and conditions inadequate.




(  Additional items or services are 


(  Specifications need to be revised.




      required.


(  Minimum order too high.


(  Other:  







Briefly describe situation:  


























		Agency Name:

		Delivery Location:



		Prepared By:

		Phone Number:

		Date:

		Supervisor:



		

		

		

		





Send To:


OSPfl608.doc 3/96


KENNETH A. WOODFORK, CPPB





CONTRACT SPECIALIST 





OFFICE OF STATE PROCUREMENT






PO BOX 41017






OLYMPIA WA  98504-1017


OFFICE OF STATE PROCUREMENT


PERFORMANCE REPORT


To OSP Customers:


Please take a moment to let us know how our services have measured up to your expectations on this contract.  Please copy this form locally as needed and forward to the Office of State Procurement Purchasing Manager.  For any comments marked unacceptable, please explain in remarks block.


Procurement services provided:
Excellent
Good 
Acceptable 
Unacceptable


· Timeliness of contract actions
     (
  (
     (
       (



· Professionalism and courtesy of staff
     (
  (
     (
       (

· Services provided met customer needs
     (
  (
     (
       (

· Knowledge of procurement rules and regulations
     (
  (
     (
       (

· Responsiveness/problem resolution
     (
  (
     (
       (

· Timely and effective communications
     (
  (
     (
       (

Comments: 















Agency: 





  
Prepared by: 














Title: 







Contract No.: 

00805




Date: 







Contract Title: 
Impact Attenuators


Phone: 












Send to:








Purchasing Manager








Office of State Procurement








PO Box 41017








Olympia, Washington  98504-1017

60



_1172841234.xls

Sheet1


			Part No.			Description			Qty Per Unit TL2/TL3			Unit of Measure			Price


			9431			Transition  Jersey Barrier - Right			O			EACH			$1,315.95


			9432			Transition  Jersey Barrier - Left			O			EACH			$1,315.95


			9433			Transition  24" Concrete - Left & Right			O			EACH			$751.95


			9437			Transition  Thrie & W Beam - Right			O			EACH			$1,059.00


			9438			Transition  Thrie & W Beam - Left			O			EACH			$1,059.00


			9459			Transition Assembly 30" Concrete Straight Connection			O			EACH			$2,412.00


			9460			Transition Assembly 36" Concrete Straight Connection			O			EACH			$4,053.00


			9461			Transition Assembly 30" Concrete Outside Connection			O			EACH			$3,987.00


			9462			Transition Assembly 36" Concrete Outside Connection			O			EACH			$4,860.00


			9463			Transition 30" Concrete Straight Connection			O			EACH			$792.00


			9464			Transition36" Concrete Straight Connection			O			EACH			$1,200.00


			9465			Transition 30" Concrete Outside Connection			O			EACH			$1,191.00


			9466			Transition 36" Concrete Outside Connection			O			EACH			$1,215.00


			9467			Transition  Thrie & W Beam 10 Degree Flare - Right			O			EACH			$1,110.00


			9468			Transition  Thrie & W Beam 10 Degree Flare - Left			O			EACH			$1,110.00


			9469			Transition Concrete Spanner Brace			O			EACH			$675.00


			9470			Transition Concrete #1 Tapered Spanner Brace			O			EACH			$771.00


			9471			Transition Concrete #2 Tapered Spanner Brace			O			EACH			$801.00


			9472			Transition Gore Tapered #1 Spanner Brace			O			EACH			$504.00


			9473			Transition Gore Tapered #2 Spanner Brace			O			EACH			$528.00


			9474			Thrie Beam Concrete Leg Brace			O			EACH			$366.00


						O = Optional        Revised 1-20-05










_1172926092.xls

Sheet1


			Part No.			Description			Unit of Measure			Price


			48247-S			Barrel Only, 200# / 400# / 700# Roto Molded Half Barrel			ea			$107.00


			48247-P			Pedestal Only, Roto Molded Half Barrel			ea			$107.00


			48140			Barrel Only, 1400#			ea			$176.55


			48210			Barrel Only, 2100#			ea			$179.25


			48000			Lid Only			ea			$44.15


			48001-LR			Aluminum Lifting Ring			ea			$963.00










_1172840748.xls

Sheet1


			Part No.			Description			Qty Per Unit TL2/TL3			Unit of Measure			Price


			9401			Bolt Concrete Anchor 3/4" X 7"  TL3     *( Included in P/N 9400 )			*			KIT/48 pcs.			$288.00


			9402			Bolt Asphalt Anchor 3/4" x 18"  TL3     *( Included in P/N 9450 )			*			KIT/48 pcs.			$888.00


			9453			Bolt Concrete Anchor 3/4" X 7"  TL2    **( Included in P/N 9451 )			**			KIT/34 pcs.			$204.00


			9454			Bolt Asphalt Anchor 3/4" x 18"  TL2     **( Included in P/N 9452 )			**			KIT/34 pcs.			$627.00


			9403			Bolt Cable Adjuster			1			EACH			$126.00


			9404			Bolt Sled Side Panel			8			EACH			$6.00


			9405			Bolt Front Stop			2			EACH			$3.00


			9406			Bolt Shear			2			EACH			$0.75


			9407			Bolt Side Guide			12			EACH			$21.00


			9408			Bolt Terminal Brace			4			EACH			$9.00


			9409			Brace Terminal			1			EACH			$417.00


			9410			Cable - 1-1/8" with Spelter Socket  TL3			1			EACH			$1,002.00


			9455			Cable - 1-1/8" with Spelter Socket  TL2			1			EACH			$885.00


			9411			Clip Wire Rope   TL2 & TL3			4			EACH			$36.00


			9412			Cylinder Shock Arresting   TL3			1			EACH			$3,120.00


			9445			Cylinder Shock Arresting   TL2			1			EACH			$3,105.00


			9413			Strap Cylinder    TL2 & TL3			1			EACH			$87.00


			9414			Frame Mobile #1   TL3			0/1			EACH			$417.00


			9415			Frame Mobile #2   TL3			0/1			EACH			$417.00


			9416			Frame Mobile #3   TL3			0/1			EACH			$417.00


			9417			Frame Mobile #4   TL2 & TL3			1			EACH			$417.00


			9418			Frame Mobile #5   TL2 & TL3			1			EACH			$417.00


			9419			Frame Mobile #6   TL2 & TL3			1			EACH			$417.00


			9420			Guide Side  TL2 & TL3			6/12			EACH			$78.00


			9421			Keeper Side #1  (Sled Panels)  TL2 & TL3			4			EACH			$24.00


			9422			Keeper Side #2  (Side Panels)  TL2 & TL3			8/20			EACH			$24.00


			9423			Keeper Side #3  (Rear Panels)   TL2 & TL3			4			EACH			$24.00


			9424			Panel Delineator (Painted Yellow)  TL3			0/1			EACH			$75.00


			9456			Panel Delineator (Painted Yellow)  TL2			1/0			EACH			$69.00


			9425			Panel Side  TL2 & TL3			4/10			EACH			$195.00


			9426			Panel Sled			2			EACH			$375.00


			9427			Panel Rear			2			EACH			$180.00


			9428			Sheave (Pulley)			6			EACH			$81.00


			9429			Sled (with guide rollers)  24"  TL3			0/1			EACH			$1,917.00


			9457			Sled (with guide rollers)  24"  TL2			1/0			EACH			$1,917.00


			9430			Tape Delineator    (Optional)			O			EACH			0


			9439			Epoxy 22 oz. Cartridge     ***			***			EACH			$28.95


			9440			Nozzle Epoxy Mixing        ***			***			EACH			$3.00


			9441			Dispenser Epoxy			O			EACH			$179.85


			9443			Boot Cylinder			1			EACH			$60.00


			9444			Spare Parts Kit  TL3			O			EACH			$4,348.50


			9458			Spare Parts Kit  TL2			O			EACH			$3,091.50











